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Dr. B. Pratap Reddy
Director

SCERT – Andhra Pradesh

Foreword

The Government of Andhra Pradesh has unleashed a new era in school education by introducing
extensive curricular reforms from the academic year 2020-21. The Government has taken up curricular
reforms intending to enhance the learning outcomes of the children with focus on building solid foundational
learning and to build up an environment conducive for an effective teaching-learning process. To achieve
this objective, special care has been taken in designing the textbooks to achieve global standards.

As a part of the curricular reform, in order to support the designing of textbooks, with better
pedagogical strategies, handbooks are given to teachers with elaborate lesson plans. For the practice
of the students, workbooks are given which will reinforce the learning in the classroom. Parental
handbooks are prepared to impart awareness regarding the teaching-learning process to the parent
community. The textbooks are also designed in such a way that the initial two months will focus on the
school readiness of the children in order to create a learning environment in the school at the start of the
academic year.

Semester system is going to be implemented from this academic year for classes 1 to 5.
Mathematics textbooks have been developed in bilingual approach. In this textbook, concepts are
introduced through activities related to daily life incidents, situations, contexts and conversations. To
strengthen these concepts, whole class activity, group activity and individual activities are designed. The
lessons incorporated are also suitable for multigrade teaching. For additional information on the concepts,
QR codes are incorporated in each chapter to enable learning outside the classroom. Care has been
taken to ensure that the new textbook is calibrated with the learning requirements of the 21st century.

We are grateful to Honourable Chief Minister Sri.Y.S. Jagan Mohan Reddy for being our
source of inspiration to carry out this extensive reform in the education department. We extend our
gratitude to Sri Botcha Satyanarayana, Honourable Minister of Education , Govt. of Andhra Pradesh
for striving towards qualitative education. Our special thanks to Sri. Budithi Rajsekhar, IAS, Special
Chief Secretary, School Education, Sri. S. Suresh Kumar, IAS, Commissioner of School Education &
State Project Director, SS, Smt. Vetriselvi.K, IAS, Special Officer, English Medium Project for their
constant motivation and guidance.

We convey our thanks to the expert team who studied curriculum from Chicago to Singapore
and recommended best practices across the globe to reach global standards. Our sincere thanks to
SCERT of Kerala, Tamilnadu, Karnataka and Haryana in designing the textbooks. We also thank our
textbook writers, editors, artists, DTP and layout designers for their contribution in the development of
this textbook. We invite constructive feedback from the teachers and parents in the further refinement
of the textbook.
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Instructions to Teachers

F The new text books designed for class 1 to 5 are in accordance with the recommendations
of NCF – 2005, RTE – 2009.

F Use the face sheet placed at the beginning of every lesson as the basis for interaction
and motivation encourage childrens to listen and to speak about feelings. Prepare and
organize some more activities similar to the activities given in the textbook for every
concept.

F The lessons are designed based on the classwise expected learning outcomes and the
concepts like number system, measurement, geometry, data handling etc are arranged in
a spiral approach.

F The textbook contains three important components under headings like ‘Do these, Try
these  and Exercise’. The questions under the component ‘Do these’, will be direct and
simple and ‘Try these’ are difficult. Similarly the ‘Exercise’ component contains mixed
questionaire of 2 or 3 concepts.

F The teacher should read and understand every concept in the textbook before going for
teaching. Also they should conduct the  individual,  group and  whole class  activities in
the class room. Teacher should use the handbook designed for this purpose.

F Teacher should prepare and use teaching learning material related to the activities  of the
textbook by using available resources, to make the children understand the concepts.

F Teacher should provide required practice activities to teach children different concepts
keeping in mind the academic standards of the subject.

F Workbook is also provided along with the textbook. The 90 minutes duration of a period
should be divided for the practice of the children as follows.

¨ 45 minutes for practising the concepts of textbook.

¨ 45 minutes for practising the sums of workbook.

F New textbook is designed with exercises and activities. The pupil will be able to understand
the concept of  Number system, Fractions, Geometry, Multiples & Factors, Measurements
and Time. The first chapter, ‘Let’s Recall’ aims at the previous concepts. Hence special
care should be taken while teaching this chapter. In this process locally available objects
like pebbles, seeds, sticks, beads etc., may be used.
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- Rabindranath Tagore

Our National Anthem  |  C²rjáT ^Ôá+

India is my country. All Indians are my brothers and sisters.
I love my country and I am proud of its rich and varied heritage.

I shall always strive to be worthy of it.
I shall give my parents, teachers and all elders respect,

and treat everyone with courtesy. I shall be kind to animals.
To my country and my people, I pledge my devotion.

In their well-being and prosperity alone lies my happiness.

uó²sÁÔá<ûXø+ H� eÖÔá�uó�Ö$T. uó²sÁrjáTT\+<�sÁÖ H� d�¬<�sÁT\T.

HûqT H� <ûXæ�� ç�|$Td�TïH��qT. d�Td�+|�q�yîT®q, �V�Q$<ó�yîT®q H� <ûXø y�sÁd�ÔáÇ d�+|�<� H�Å£� >·sÁÇ¿±sÁD+.

B�¿ì nsÁ½Ôá bõ+<�&��Â¿Õ d�sÁÇ<� HûqT ¿£�w¾ #ûkÍïqT.

H� Ôá*¢<�+ç&�T*�, �bÍ<ó�«jáTT*�, �|<�Ý\+<�]� >�sÁ$kÍïqT. ç|�Üy�]ÔÃqT eTs�«<�>± q&�T#áT¿=+{²qT.

È+ÔáTeÚ\|�³¢ <�jáTÔÃ �+{²qT.

H� <ûXø+|�³¢, H� ç|�È\|�³¢ �dy��sÁÜÔÃ �+{²q� ç|�ÜÈã #ûd�TïH��qT.

y�] çXâjîÖ_óe�<�TÆýñ H� �q+<��¿ì eTÖý+.

Pledge  |  ç|�ÜÈã

Jana-gana-mana-adhinayaka jaya he

Bharata-bhagya-vidhata

Panjaba-Sindhu-Gujarata-Maratha

Dravida-Utkala-Banga

Vindhya-Himachala-Yamuna-Ganga

uchchala-jaladhi-taranga

Tava Subha name jage,

tave subha asisa mage,

gahe tava jaya-gatha.

Jana-gana-mangala-dayaka jaya he

Bharata-bhagya-vidhata.

Jaya he, Jaya he, Jaya he,

jaya jaya jaya jaya he.

Èq>·DeTq n~óH�jáT¿£ ÈjáT�V²!

uó²sÁÔá uó²>·«$<ó�Ô�!

|�+C²�, d¾+<ó�T, >·TÈs�Ôá, eTs�sÄ�,

ç<�$&�, �ÔáØÞø, e+>±!

$+<ó�«, V¾²eÖ#á\, jáTeTTH�, >·+>±!

�#áÌ\ È\~ó ÔásÁ+>±!

Ôáe Xø�uó�H�yûT C²¹>!

Ôáe Xø�uó� �¥w� eÖ"¹>

>±�V² Ôáe ÈjáT>±<̧�!

Èq>·D eT+>·Þø<�jáT¿£ ÈjáT�V²!

uó²sÁÔá uó²>·« $<ó�Ô�!

ÈjáT�V²! ÈjáT�V²! ÈjáT�V²!

ÈjáT ÈjáT ÈjáT ÈjáT�V²!!

- sÁM+ç<�H�<�̧ sÄ�>·ÖsY

- Pydimarri Venkata Subba Rao

- �|Õ&�eTç] yî+¿£³ d�Tu²Òs�eÚ
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Academic Standards-Learning Outcomes
Academic standards are clear statements about what students must know and be able to do.
The following are the specifications on the basis of which we lay down Academic Standards

Problem Solving
• Using concepts and procedures to solve mathematical problems.

Stages of problem solving
• Reads problems.
• Identifies all pieces of information.
• Separates relevant pieces of information.
• Understanding what concept is involved.
• Selection of procedure.
• Solving the problem.

Reasoning and Proof
• Reasoning between various steps.
• Understanding and making mathematical generalizations and conjectures.
• Understanding and justifying procedures.
• Examining logical arguments.
• Understanding the notion of proof.
• Using inductive and deductive logic.
• Testing mathematical conjectures.

Communication
• Writing and reading mathematical expressions.
• Creating mathematical expressions.
• Explaining mathematical ideas in his/her own words.
• Explaining mathematical procedure.
• Explaining mathematical logic.

Connections
• Connecting concepts within a mathematical domain.
• Making connections with daily life.
• Connecting mathematics to different subjects.
• Connecting concepts of different mathematical domains.
• Connecting concepts to multiple procedures.

Visualization and representation
• Interprets and reads data in tables, number line, pictograph, bar graph, 2D figures, 3D figures,

pictures.
• Making tables, number line, pictograph, bar graph, pictures.
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$<�«ç|�eÖD²\T

1. d�eTkÍ« kÍ<ó�q :

>·DìÔá uó²eq\T, |�<�ÆÔáT\qT �|�jîÖÐ+#á&�+ <�Çs� >·DìÔá d�eTd�«\qT kÍ~ó+#á&�+.

d�eTd�« kÍ<ó�q ̀  kþbÍH�\T

• d�eTd�«\qT #á<�e&�+.

• <�Ô�ï+Xø+ýË� d�eÖ#�sÁ+ yîTTÔ�ï�� $&�uó²>±\T>± >·T]ï+#á&�+.

• nqT�+<ó� $&�uó²>±\qT yûsÁT#ûjáT&�+.

• d�eTd�«ýË �$T&�jáTTq� >·DìÔá uó²eq\qT ne>±V�²q #ûd�T¿Ãe&�+.

• ýÉ¿£Ø#ûjáTT |�<�ÆÜ� m+|¾¿£ #ûjáT&�+.

• m+|¾¿£ #ûd¾q |�<�ÆÜ ç|�¿±sÁ+ d�eTd�«qT kÍ~ó+#á&�+.

2. ¿±sÁD²\T #î|�Î&�+`�sÁÖ|�D #ûjáT&�+ :

• <�Xø\ y�¯>± �q� kþbÍH�\Å£� ¿±sÁD²\T $e]+#á&�+.

• >·DìÔá kÍ<ó�sÁD¡¿£sÁD\qT eT]jáTT ç|�¿£\Îq\qT nsÁ�+ #ûd�T¿Ãe&�+ eT]jáTT #ûjáT>·\>·&�+.

• |�<�ÆÜ� nsÁ�+ #ûd�T¿Ãe&�+ eT]jáTT d�]#áÖ&�&�+.

• Ô�]Ø¿£ #ásÁÌ\qT |�̄ ¿ì�+#á&�+.

• d�eTkÍ« �sÁÖ|�DýË� ç¿£eÖ�� nsÁ�+ #ûd�T¿Ãe&�+.

• �>·eTq, �>·eTq |�<�ÆÔáT\ýË Ô�]Ø¿£ÔáqT $�jîÖÐ+#á&�+.

• >·DìÔá ç|�¿£\Îq\qT |�̄ ¿ì�+#á&�+.

3. e«¿£ï|�sÁ#á&�+ :

• >·DìÔá uó²eq\qT, y�¿±«\qT #á<�e>·\>·&�+`s�jáT>·\>·&�+.

• >·DìÔá e«¿¡ï¿£sÁD\qT sÁÖbõ+~+#á&�+.

• >·DìÔá|�sÁyîT®q �ýË#áq\qT Ôáq kõ+ÔáeÖ³\ýË $e]+#á&�+.

• |�<�ÆÜ� $e]+#á&�+.

• >·DìÔá Ô�]Ø¿£ÔáqT $e]+#á&�+.

4. nqTd�+<ó�q+ :

• nqT�+<ó� >·DìÔá bÍsÄÁ«$uó²>±\qT ̀  uó²eq\qT nqTd�+<ó�q+ #ûjáT&�+.

• <îÕq+~q J$Ô��� >·DìÔ��¿ì nqTd�+<ó�q+ #ûjáT&�+.

• yû¹sÇsÁT d�uÉÅ̈£�¼\ÔÃ >·DìÔ��� nqTd�+<ó�q+ #ûjáT&�+.

• >·DìÔá+ýËHû yû¹sÇsÁT bÍsÄ�«+Xæ\Å£� d�+�+~ó+ºq uó²eq\qT nqTd�+<ó�q+ #ûjáT&�+.

• uó²eq\qT, �V�QÞø|�<�ÆÔáT\Å£� nqTd�+<ó�q+ #ûjáT&�+.

5. <��o«¿£sÁD eT]jáTT çbÍÜ�<ó�« |�sÁ#á&�+ :

• |�{ì¼¿£ýË� d�eÖ#�sÁ+, d�+U²«¹sK, |�³ºçÔá+, ¿£MT�¹sU² ºçÔá+, 2`D |�{²\T, 3`D |�{²\T, |�{²\qT #á<�e&�+.

• |�{ì¼¿£\qT sÁÖbõ+~+#á&�+, d�+U²«¹sK�|Õ #áÖ|�&�+, |�³ºçÔ�\T, ¿£MT�¹sU² ºçÔ�\T, |�{²\qT ̂ jáT&�+.

$<�«sÁT�\T ÿ¿£ ÔásÁ>·ÜýË @$T #ûjáT>·\>±*, @+ Ôî*d¾ �+&�ýË d�Îw�÷+>± $e]+#û ç|�e#áH�\qT � ÔásÁ>·Ü jîTT¿£Ø

»$<�«ç|�eÖD²\Tµ n+{²eTT. � $<�«ç|�eÖD²\qT ¿ì+~ $uó²>±\T>± e Z̄¿£]+#á&�yîT®q~. >·DìÔá+ýË� $$<ó� bÍsÄÁ«+Xæ\

<�Çs� ç¿ì+~ d�Öº+ºq $<�«ç|�eÖD²\T kÍ~ó+#�*.
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Maths Magic
>·DìÔá+ÔÃ  >·eT�ÔáTï

Class (ÔásÁ>·Ü)  - 3

Semester (�d$Td�¼sY) - 1

1. Let’s Recall June 2-23

>·TsÁTïÅ£� Ôî#áTÌÅ£�+<�+ pH�

2. Numbers July 24-59

d�+K«\T EýÉÕ

3. Additions August 60-81

d�+¿£\q+ �>·w�§¼

4. Subtraction September 81-111

rd¾yûÔá �d�|¼+�sÁT

5. Multiplication October 112-147

>·TD¿±sÁ+ n¿Ã¼�sÁT

Lesson No.

bÍsÄÁ+ d�+K«

Name of the Unit

n<ó�«jáT+

Month

Hî\

Pages

�|J\T

Teacher corner Student corner
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2 Class - 3  Maths Magic

1

Chapter

Let’s Recall

Suma and her daughter Manu went for shopping on a Sunday to buy some dresses and
vegetables.  At first they entered  a garment shop and looked at the prices of various dresses.
1. How many frocks are there ?
2. How many pants are there?
3. What other items can you see in the shop ?
4. What is the price of the frock ?
5. Have you ever gone to market ? What did you buy there ?

` 950/-

`245/-

`510/-

`230/-

`450/-

Manu! How is
this frock?

Mom! This
frock is so

nice. I want it.

 `230/-

How many notes
mother is giving?

`  250/-

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



ÔásÁ>·Ü ` 3  >·DìÔá+ÔÃ >·eT�ÔáTï 3

1

n<ó�«jáT+

>·TsÁTïÅ£� Ôî#áTÌÅ£�+<�+

ÿ¿£ �~y�sÁ+ sÃE d�TeT, �yîT Å£LÔáTsÁT eTqT <�Td�Tï\T, Å£LsÁ>±jáT\T ¿=Hû+<�TÅ£� �C²sÁTÅ£� yîÞ²ßsÁT.

yîTT<�³ ÿ¿£ �³¼\ <�T¿±D+ýË¿ì yî[ß, $$<ó� <�Td�Tï\ <ó�sÁ\qT >·eT�+#�sÁT.

1. n¿£Ø&� m�� >�qT\T �H��sTT?

2. n¿£Ø&� m�� bÍ«+³T\T �H��sTT?

3. <�T¿±D+ýË �+¿±, yû¹s @ <�Td�Tï\T MTsÁT >·eT�+#�sÁT?

4. >�qT <ó�sÁ m+Ôá?

5. MTsÁT m|�ð&îÕH� �C²sÁTÅ£� yîÞ²ßs�? n¿£Ø&� MTsÁT @$T ¿=H��sÁT?

` 950/-

`245/-

`510/-

`230/-

`450/-

eTqT � >�qT bý²

�+~?

neÖ�! � >�qT

#�ý² u²>·T+~. �~

H�Å£� ¿±y�*.

` 230/

-

neT� m�� HÃ³T¢

�d�Tï+~?

`  250/-
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4 Class - 3  Maths Magic

Suma paid the amount for frock as shown below.

She has `100, `10 notes only available in her purse. What notes should be given to purchase
the following items?

`230

`510 `450

Do these

Trousers Shirt

1) Write the following numbers in words.

a)  4 b)  9 c)  14 d)  19 e)  28 f) 46        g) 76

h)  147 I)  263 j)  471 k)  683 l) 750 m) 806      n) 975

2) Write the number of the following.

a) Eight   = _______ b)  Fifteen  = _______ c)  Nineteen =  _______

d) Seventy = _______ e)  Eighty six = _______

f) Three hundred and sixty five = _______ g) Five hundred and seventy nine=  ______

3) Complete the following table.

Number

`100 + `100 +`10 + `10 + `10 = `230

Expanded Form

34

67
453

516
530

947

 4 hundreds + 5 tens + 3 ones = 400 + 50 + 3
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ÔásÁ>·Ü ` 3  >·DìÔá+ÔÃ >·eT�ÔáTï 5

d�TeT, ¿ì+~ #áÖ|¾q $<ó�+>± >�qT <ó�sÁqT #î*¢+º+~.

d�TeT |�sÁTàýË ¹¿e\+ ` 100, ` 10 HÃ³T¢ eÖçÔáyûT �H��sTT. ¿ì+~ <�Td�Tï\T ¿=qT>Ã\T #ûjáT&��¿ì

@jûT HÃ³T¢ m�� �y�Ç*?

`230

`510 `450

�$ #ûjáT+&�

bÍ«+{Ù #=¿±Ø

1. ¿ì+~ d�+K«\qT n¿£�s�\ýË s�jáT+&�.

n)   4 �)  9 �)  14 �)  19 �)  28 })  46 �TT) 76

�TÖ) 147 m)  263 @)  471 ×)  683 ÿ)  750 z)  806 W)   975

2. ¿ì+~ y�{ì¿ì d�+K«\T s�jáT+&�.

n)  m�$T~  = �) |�~�V²qT  = �) |�+Ô=$T�~  =

�)  &îuóÉÕÒ  = �) mquóÉÕ �sÁT  =

}) eTÖ&�T e+<�\ nsÁyîÕ ×<�T  =      �TT) ×<�T e+<�\ &îuóÉÕÒ Ô=$T�~  =

3. ¿ì+~ |�{ì¼¿£qT |�P]+#á+&�.

d�+K« $d�ïsÁD sÁÖ|�+

34

67

453         4 e+<�\T G 5 |�<�T\T G 3 ÿ¿£³T¢ R 400 G 50 G 3

516

530

947

`100 + `100 +`10 + `10 + `10 = `230
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Observe the following base 10 blocks and write the numbers.
Example :

1.

2.

3.

200  +   30   +   6      =  236

Number

   G G   R 

  G G   R 

  G G   R 

Place and face value:
Every digit in a number has two values. One
is place value and the other  is face value.

Place value:
The value of a digit determined by its place is
called place value. Place value of a digit
changes according to the place of the digit in
a number.

Face value:
Face value of a digit is the digit itself.

2 3 8

2 3 8

Place value of
2 is 200 and

Face value of 2 is 2

Place value of
3 is 30 and

Face value of 3 is 3

Place value of
8 is 8 and

Face value of 8 is 8

Hundreds Tens Ones

Hundreds Tens Ones
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¿ì+~ #á<�s�\qT >·eT�+º, d�+K«\qT s�jáT+&�.

�<�V�²sÁD :

1.

2.

3.

200  +   30   +   6      =  236
d�+K«

    G G   R 

    G G   R 

    G G   R 

kÍ�q $\Te - d�V�²È $\Te:

ÿ¿£ d�+K«ýË >·\ ç|�Ü n+Â¿Å£� Âs+&�T sÁ¿±\ $\Te\T

�+{²sTT. n$ kÍ�q $\Te eT]jáTT d�V�²È $\Te.

kÍ�q $\Te:

ÿ¿£ n+Â¿ $\Te <�� kÍ�q+�|Õ �<ó�sÁ|�&� �+³T+~. B�Hû

kÍ�q $\Te n+{²sÁT. ÿ¿£ n+Â¿  kÍ�q $\Te, d�+K«ýË >·\

n+Â¿ kÍ�H��� �{ì¼ eÖsÁTÔáÖ �+³T+~.

d�V�²È $\Te:

ÿ¿£ n+Â¿ $\Tyû <�� d�V�²È $\Te neÚÔáT+~.

2 3 8

2 3 8

2 kÍ�q$\Te 200

eT]jáTT

2  d�V�²È$\Te 2

3 kÍ�q$\Te 30

eT]jáTT

3 d�V�²È$\Te 3

8 kÍ�q$\Te 8

eT]jáTT

8 d�V�²È $\Te 8

e+<�\T |�<�T\T ÿ¿£³T¢

e+<�\T |�<�T\T ÿ¿£³T¢
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Exercise - 1

1.  a) Identify and colour the boxes with
the number that have the same digit
in ones and tens place.

    b)  Identify and Colour the boxes with the
           number that have  ‘3’ in tens places.

2.   Write the face value and place values of underlined digits in the following numbers.

88      :     Face value _________     Place Value _________

61      :     Face value _________     Place Value _________

560    :     Face value _________     Place Value _________

725    :     Face value _________     Place Value _________

3.  O bserve the prices of objects show n below.

` 230 ` 670 ` 450 ` 510

a) What is the price of a long frock?

b) Which one has the lowest price?

c) Which one has the highest price?

d) Which  is cheaper shirt or trousers?

e) Arrange the above items from the lowest to the highest price. 

Frock Suit Long Frock Shirt

11 26 47 55
58 22 66 72
81 77 33 92
88 94 98 44

36 41 34 48
52 30 57 75
86 31 83 39
33 83 37 93

Trouser

` 950
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nuó²«d�+ ` 1

1. n)  ÿ¿£³T¢, |�<�T\ kÍ�H�\ýË ÿ¹¿ n+Â¿ >·\

d�+K«\qT >·T]ï+º, sÁ+>·TyûjáT+&�.

�)  |�<�T\ kÍ�q+ýË »3µ >·\ d�+K«\qT >·T]ï+º,

sÁ+>·TyûjáT+&�.

2. ¿ì+~ �eÇ�&�q d�+K«\ýË ¿ì+<� ^Ôá ^jáT�&�q n+Â¿ jîTT¿£Ø d�V�²È $\Te, kÍ�q $\Te\qT

s�jáT+&�.

88 : d�V�²È $\Te kÍ�q $\Te 

61 : d�V�²È $\Te kÍ�q $\Te 

560 : d�V�²È $\Te kÍ�q $\Te 

725 : d�V�²È $\Te kÍ�q $\Te 

3. <ó�sÁ\qT |�]o*+#á+&�.

` 230 ` 670 ` 450 ` 510

n) bõ&�eÚ >�qT <ó�sÁ m+Ôá?

�) M{ìýË ÔáÅ£�Øe <ó�sÁ >·\~ @~?

�) M{ìýË mÅ£�Øe <ó�sÁ >·\~ @~?

�) #=¿±Ø, bÍ«+³T\ýË @~ ÔáÅ£�Øe <ó�sÁ?

�) �|Õ <�Td�Tï\ <ó�sÁ\qT ÔáÅ£�Øe qT+&� mÅ£�ØeÅ£� neTsÁÌ+&�. 

>�qT d�Ö³T bõ&�eÚ >�qT #=¿±Ø

11 26 47 55

58 22 66 72

81 77 33 92

88 94 98 44

36 41 34 48

52 30 57 75

86 31 83 39

33 83 37 93

bÍ«+³T

` 950
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4. Compare the numbers with suitable symbols (<, >, =).
a) 8 10 d) 128 256

b) 10 12 e) 869 639

c) 78 67 f) 900 900

5. Write the numbers in the ascending order.

6. Write the numbers in the descending order.

7. Write the given numbers in ascending and descending order.
a) 384, 648, 438, 583,689

Ascending order : _________________________________
Descending order :  _________________________________

b) 684, 568, 796, 769,830
Ascending order : _________________________________
Descending order : _________________________________

5 3 2 7

62 34 67 42

5 6 1 3

82 23 76 92
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4. d�ÂsÕq >·TsÁTï\qT (<, >, =) �|�jîÖÐ+º ¿ì+~ d�+K«\qT bþ\Ì+&�.

n) 8 10 �)128 256

�) 10 12 �) 869 639

�) 78 67 })900 900

5. ¿ì+~ d�+K«\qT �sÃV�²D ç¿£eT+ýË s�jáT+&�.

6. ¿ì+~ d�+K«\qT nesÃV�²D ç¿£eT+ýË s�jáT+&�.

7. ¿ì+~ d�+K«\qT �sÃV�²D, nesÃV�²D ç¿£eT+ýË s�jáT+&�.

n) 384, 648, 438, 583, 689

�sÃV�²D ç¿£eT+ :

nesÃV�²D ç¿£eT+ :

�) 684, 568, 796, 769, 830

�sÃV�²D ç¿£eT+ :

nesÃV�²D ç¿£eT+ :

5 3 2 7

62 34 67 42

5 6 1 3

82 23 76 92
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8. Write the 3 digit number which has 7 in hundreds place, 5 in tens place and 6 in
ones place

Rythu bazaar:

Suma and her daughter went to Rythu bazaar. Suma observed the price list of vegitables.

Item   Quantity Price

Lemons 1 dozen `  26

Tomatoes 1 kg ` 18

Ridge gourd 1 kg `  54

Green chilly 1 kg `  20

Ladies finger 1 kg `  33

Snake gourd Each piece `  18

Bottle gourd Each piece `  33

Pumpkin Each piece `  65

Brinjal 1 kg `  30

Price List

They purchased ridge gourd and ladiesfinger each 1 Kg. How much money do they have to
pay to the shop keeper?

Price of one kg. Ridge gourd =  54

Price of one kg.  Ladiesfinger =  (+)  33

The total price of two vegetables =  87
Money to be paid =  ` 87
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8. 7 e+<�\ kÍ�q+ýË, 5 |�<�T\ kÍ�q+ýË, 6 ÿ¿£³¢ kÍ�q+ýË >·\ 3 ̀  n+Â¿\ d�+K«qT s�jáT+&�.

ÂsÕÔáT�C²sÁT:

d�TeT, �yîT Å£�eÖÂsï Å£LsÁ>±jáT\T ¿=qT³Å£� ÂsÕÔáT �C²sÁTÅ£� yîÞ²ßsÁT. d�TeT n¿£Ø&� Å£LsÁ>±jáT\ <ó�sÁ\

|�{¡¼� |�]o*+º+~.

ed�TïeÚ |�]eÖD+ <ó�sÁ

�eT�¿±jáT\T 1 &�ÈqT ` 24

³yîÖ{²\T 1 ¿ì.ç>±. ` 18

;sÁ¿±jáT\T 1 ¿ì.ç>±. ` 54

|�ºÌ$TsÁ|� 1 ¿ì.ç>±. ` 20

uÉ+&�¿±jáT\T 1 ¿ì.ç>±. ` 33

bõ³¢¿±jáT ÿ¿ìØ+{ì¿ì ` 18

kõsÁ¿±jáT ÿ¿ìØ+{ì¿ì ` 33

>·TeT�&�¿±jáT ÿ¿ìØ+{ì¿ì ` 65

e+¿±jáT\T 1 ¿ì.ç>±. ` 30

<ó�sÁ\ |�{ì¼¿£

y�sÁT ;sÁ¿±jáT\T, uÉ+&�¿±jáT\T ÿ¿=Ø¿£Ø ¹¿� #=|�ðq ¿=H��sÁT. y�sÁT m+Ôá &��TÒ <�T¿±D<�sÁT�¿ì #î*¢+#�*?

ÿ¿£ ¹¿� ;sÁ¿±jáT\ <ó�sÁ R 54

ÿ¿£ ¹¿� uÉ+&�¿±jáT\ <ó�sÁ R (G) 33

Âs+&�T Å£LsÁ>±jáT\ yîTTÔáï+ <ó�sÁ R 87

#î*¢+#�*àq &��TÒ R ` 87
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Do these

a) b) c) d) e) f)

g) h) i) j) k) l)

1)       Do the following.

2)       If they buy the vegetables in the following ways, how much money do they have
to pay ? Solve the following questions.
a) Find the total price of 1kg. chillies and 1kg ridge gourds.
b) Find the total price of one piece of pumpkin and a dozen lemons.

c) Find the total price of 1 kg. of tomatoes and a snake gourd.

3)     Fill in the boxes with numbers to make the sum equal to 100.

How much get back?

Suma purchased 1 kg. of green chillies and gave `100 note

to the shop keeper. How much amount does she get back ?

Amount paid by them = 100

Price of 1kg. of green chillies = (-) 20

Money to be returned by the shop keeper = ` 80

4
+ 5

7
+ 6

9
+ 5

25
+ 52

63
+ 75

65
+ 48

46
+ 59

63
+ 76

72
+ 48

85
+ 47

92
+ 56

98
+ 64

60 +  = 100 10 +  = 100 70 +  = 100

40 +  = 100 50 +  = 100 80 +  = 100

30 +  = 100 90 +  = 100 20 +  = 100
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�$ #ûjáT+&�

n) �) �) �) �) })

�TT) m) @) ×) ÿ) z)

1. ¿ì+~ y�{ì� #ûjáT+&�.

2. ¿ì+<� #áÖ|¾q $<ó�+>± y�sÁT Å£LsÁ>±jáT\T ¿=qT>Ã\T #û�dï, m+Ôá &��TÒ #î*¢+#�*? ¿ì+~

ç|�Xø�\Å£� Èy��T\T �eÇ+&�.

n)  1 ¹¿� $TsÁ|�, 1 ¹¿� ;sÁ¿±jáT\ yîTTÔáï+ <ó�sÁ m+Ôá?

�)  ÿ¿£ >·TeT�&�¿±jáT, ÿ¿£ &�ÈqT �eT�¿±jáT\ yîTTÔáï+ <ó�sÁ m+Ôá?

�)  1 ¹¿� ³yîÖ{²\T, ÿ¿£ bõ³¢¿±jáT\ yîTTÔáï+ <ó�sÁ m+Ôá?

3. yîTTÔáï+ 100 njûT« $<ó�+>± U²° >·ÞøßýË d�+K«\qT �+|�+&�.

Ü]Ð m+Ô=d�Tï+~?

d�TeT 1 ¿ì.ç>±. $TsÁ|�¿±jáT\T ¿=� ` 100 HÃ³T <�T¿±D<�sÁT�¿ì

�ºÌ+~. �yîTÅ£� Ü]Ð m+Ôá &��TÒ ed�Tï+~?

�yîT #î*¢+ºq &��TÒ R 100

1 ¿ì. ç>±. <ó�sÁ R   (`)  20

<�T¿±D²<�sÁT&�T Ü]Ð �eÇe\d¾q &��TÒ R ` 80

60 +  = 100 10 +  = 100 70 +  = 100

40 +  = 100 50 +  = 100 80 +  = 100

30 +  = 100 90 +  = 100 20 +  = 100

4
+ 5

7
+ 6

9
+ 5

25
+ 52

63
+ 75

65
+ 48

46
+ 59

63
+ 76

72
+ 48

85
+ 47

92
+ 56

98
+ 64
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Do these

1) Subtract the following.

If, Suma buy a snake gourd and gives `50
note. How much money will she get back?

Do these
` 7 9 6 8

58 51

62

71

84 76

1) Suma took 1 kg brinjal and gave ` 40, how much money will she get back ?
2) What is the difference between the cost of 1kg ladiesfingers and 1 kg of brinjal ?

Later, they went to a grocery shop to buy eggs. They bought a tray of eggs.
Each tray has 6 rows and 5 eggs in each row. Find the total number of eggs in
the tray.

Number of rows in the tray    =  6
Number of eggs in each row =  5
Total number of eggs in the tray  =  Number of rows I Number of eggs in each row

=  6 x 5 = 30 eggs.

T O

The amount  she gave =        5 0

Price of snake gourd =  (-) 1 8

The amount she gets back = 3 2

She gets back  ` 32

2) Can Suma buy a pumpkin with ` 50, or not? If not, how much money she needs in
addition?

3) If Suma, wants to buy a dozen lemons for ` 30 with ` 100 note, how much money
will she get back ?

4) What is the difference between the price of 1 kg of brinjal and one snake gourd ?

4 10
5 0

-1 8
3 2
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�$ #ûjáT+&�

n) rd¾yûjáT+&�.

�) d�TeT ` 50 ÔÃ >·TeT�&�¿±jáTqT ¿=q>·\<�? ýñ<�? ¿=qýñ¿£bþÔû �+¿± m+Ôá &��TÒ ¿±y�*?

�) d�TeT ` 30 \¿£� ÿ¿£ &�ÈqT �eT�¿±jáT\T ¿=�, ` 100 ��dï �yîTÅ£� Ü]Ð e#ûÌ &��TÒ m+Ôá?

�) 1 ¿ì.ç>±. e+¿±jáT\ <ó�sÁÅ£�, ÿ¿£ bõ³¢¿±jáT <ó�sÁÅ£� >·\ e«Ô�«d�+ m+Ôá?

ÿ¿£yûÞø d�TeT ÿ¿£ bõ³¢¿±jáT ¿=� ` 50 ��dï,

�yîTÅ£� Ü]Ð m+Ôá &��TÒ ed�Tï+~?

�yîT #î*¢+ºq &��TÒ R 50

bõ³¢¿±jáT K¯<�T R (`) 18

�yîTÅ£� Ü]Ð e#ûÌ &��TÒ R 32

�yîT bõ+<û &��TÒ R `32

�$ #ûjáT+&�
` 7 9 6 8

58 51

62

71

84 76

n) d�TeT 1 ¿ì.ç>±. e+¿±jáT\T ¿=�, ` 40 ��dï, �yîTÅ£� Ü]Ð m+Ôá &��TÒ ed�Tï+~?

�) 1 ¿ì.ç>±. uÉ+&�¿±jáT\T eT]jáTT 1 ¿ì.ç>±. e+¿±jáT\ <ó�sÁ\ e«Ô�«d�+ m+Ôá?

ÔásÁTy�Ôá, y�sÁT ÿ¿£ ¿ìs�D² <�T¿±D²�¿ì >·T&�T¢ ¿=q&��¿ì yîÞ²ßsÁT. n¿£Ø&� y�sÁT ÿ¿£ çfñ >·T&�T¢

¿=H��sÁT. ÿ¿£ çfñýË 6 esÁTd�\T, ÿ¿=Ø¿£Ø esÁTd�ýË 5 >·T&�T¢ �H��sTT. yîTTÔáï+ � çfñýË >·\ >·T&�T¢

m��?

|� ÿ

çfñýË >·\ esÁTd�\ d�+K« R 6

ÿ¿=Ø¿£Ø esÁTd�ýË >·\ >·T&�¢ d�+K« R 5

çfñýË >·\ yîTTÔáï+ >·T&�¢ d�+K« R esÁTd�\ d�+K« I ÿ¿=Ø¿£Ø esÁTd�ýË >·\ >·T&�¢d�+K«

R 6 I 5 R 30 >·T&�T¢

4 10
5 0

-1 8
3 2
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Example:  In the shop, there is a cupboard of 4 rows and 5 columns of shelves. How many
shelves are there ?

Number of shelves  =  4 x  5  = ____________

There are 4 rows in the cupboard. In each row there are

5 shelves. In each shelf  of  last row is having 10 salt
packets. How many salt packets are there in total ?

Number of salt packets =  5  x 10  = ____________

Do these:

Do the following.

a)   2 x1   =  ;  3 x 4 = ;       5 x 3 =  ;   4 x 6   = 

      4 x 8  = ;   4 x 0 = ;     10 x 3 =  ;   10 x 5 = 

     10 x 9 = ;  5 x 9  = ;      5 x 5  =   ;   2  x 8 = 

b)  Manu gave 5 biscuits to each of her 4 friends.  How many
     biscuits does she have?

c)  In a game, Avinash won 5 marbles from each of his
     6 friends. How many marbles did Avinash won ?

d)   Manu’s age is 8 years. If we multiply Manu’s age with 5,
      we get her mother’s  age. What is the age of her mother ?

Manu ‘s Birthday :
On the occation of Munu's birthday, she distributed  9
chocolates to her 3 friends equally. Can you say, how
many chocolates did each one get?

Total number of chocolates =   9
Number of friends =   3
Number of chocolates each friend gets  =    9  ÷  3

                 =    3

3)  9  (3

 `9

0
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�<�V�²sÁD: <�T¿±D+ýË>·\ ný²�s�ýË 4 n&�T¦esÁTd�\T, 5 �\TeÚ esÁTd�\ýË nsÁ\T �H��sTT. n¿£Ø&� >·\

yîTTÔáï+ nsÁ\T m��?

nsÁ\ d�+K« R 4 I 5 R

ÿ¿£ ¿£|tuËsÁT¦ q+<�T 4 n&�T¦ esÁTd�\T ¿£\eÚ.

ÿ¿=Ø¿£Ø n&�T¦ esÁTd�ýË 5 nsÁ\T �H��sTT. ºe] n&�T¦ esÁTd�ýË� ç|�Ü

nsÁýË 10 �|�ð bÍ«Â¿³T¢ �H��sTT. yîTTÔáï+ �|�ð bÍ«Â¿{¢ d�+K« m+Ôá?

�|�ð bÍ«Â¿{¢ d�+K« R 5 I 10 R

�$ #ûjáT+&�.

¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

n) 2 x1   =  ;  3 x 4 = ;       5 x 3 =  ;   4 x 6   = 

4 x 8  = ;   4 x 0 = ;     10 x 3 =  ;   10 x 5 = 

10 x 9 = ;  5 x 9  = ;      5 x 5  =   ;   2  x 8 = 

�) eTqT Ôáq 4 >·TsÁT �d�V¾²ÔáT\Å£� ÿ¿=Ø¿£Ø]¿ì 5 _�dØ³T¢ #=|�ðq �y�Ç\+fñ,

�yîT e<�Ý m�� _�dØ³T¢ �+&�*?

�) ÿ¿£ �³ýË, n$H�wt Ôáq 6 >·TsÁT �d�V¾²ÔáT\ÔÃ ÿ¿=Ø¿£Ø] e<�Ý qT+&� 5

>Ã°\T Â>*#�&�T. n$H�wt yîTTÔáï+ m�� >Ã°\T Â>*#�&�T.

�) eTqT ejáTd�Tà 8 d�+eÔáàs�\T. eTqT ejáTd�TàqT 5 ÔÃ >·TDì�dï �yîT

Ôá*¢ ejáTd�TàqT bõ+<�e#áTÌ. �yîT Ôá*¢ ejáTd�Tà m+Ôá?

eTqT |�Ú{ì¼qsÃE:

eTqT Ôáq |�Ú{ì¼q sÃE d�+<�sÁÒÛ+>±, 9 #�Â¿¢³¢qT Ôáq eTT>·TZsÁT

�d�V¾²ÔáT\Å£� d�eÖq+>± |�+º+~. ÿ¿=Ø¿£Ø]¿ì m�� #�Â¿¢³T¢ ekÍïjîÖ

#î|�Î>·\s�?

yîTTÔáï+ #�Â¿¢³¢ d�+K« R 9

�d�V¾²ÔáT\ d�+K« R 3

ÿ¿=Ø¿£Ø �d�V¾²ÔáT�¿ì e#ûÌ #�Â¿¢³¢ d�+K« R 9 ¸ 3

 R 3

3)  9  (3

 `9

0
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Do these

1. Do the following.
a) 4 ÷ 2 =  ______ e) 24 ÷ 4 =  ______

b) 6 ÷  3 =  ______ f) 35 ÷ 5 = ______

c) 15 ÷ 5 =  ______ g) 49 ÷ 7 = ______

d) 18  ÷  3 = ______ h) 72 ÷ 8 = ______

2. The cost of an eraser is  ` 4.  How many erasers can you get for  ` 20 ?

3. There are 16 students in a classroom. If 4 students sit on each bench, how many
benches are needed for the students ?

4. In a garden, Sunitha planted 20 plants. If she planted 5 plants in each row, how many
rows did she plant in?

5. If the cost of a hair band is  ` 5, how many hair bands can you get for  ` 15 ?

6. There are 3 chairs in each row.  If there are 18 chairs in total,  how many rows were they
arranged ?

Fun Activity Colour the following  numbers as per instructions given below.

Green

One hundred and forty

Two hundred and two

Two hundred and sixty one

Eight hundred

Six hundred and sixty

Red Blue

660 99 307

440 800 54

60 16 202
261 555 685

159 140 195

Fifty four

Sixty

One hundred and ninety five

Five hundred and fifty five

Ninety nine

Four hundred and forty

Sixteen

One hundred and fifty nine

Six hundred and eighty five

Three hundred and seven
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�$ #ûjáT+&�

1. ¿ì+~ y�{ì� #ûjáT+&�.

n)  4 ¸ 2 R  �)   24 ¸ 4 R  

�)  6 ¸ 3 R  })  35 ¸ 5 R  

�)  15 ¸ 5 R  �TT) 49 ¸ 7 R  

�) 18 ¸ 3R  �TÖ) 72 ¸ 8 R  

2. ÿ¿£ sÁ�ÒsÁT yî\ ` 4 nsTTÔû, ` 20 ¿ì m�� sÁ�ÒsÁT¢ ekÍïsTT?

3. ÿ¿£ ÔásÁ>·Ü >·~ýË 16 eT+~ $<�«sÁT�\T �H��sÁT. ÿ¿=Ø¿£Ø uÉ+NýË 4 >·TsÁT #=|�ðq Å£LsÁTÌ+fñ, m��

uÉ+N\T � $<�«sÁT�\Å£� ned�sÁ+ neÚÔ�sTT?

4. ÿ¿£ ÔÃ³ýË, d�TúÔá 20 yîTT¿£Ø\T H�{ì+~. ç|�Ü esÁTd�Å£� 5 yîTT¿£Ø\T H�{ìÔû, n�� yîTT¿£Ø\qT m��

esÁTd�\ýË H�³>·\<�T?

5. ÿ¿£ �V²sTTsY u²«+&� yî\ ` 5 nsTTÔû, ` 15 Å£� m�� �V²sTTsY u²«+&�\T ekÍïsTT?

6. ÿ¿=Ø¿£Ø esÁTd�ýË 3 Å£�¯Ì\T eÚ+fñ, 18 Å£�¯Ì\qT m�� esÁTd�ýË¢ neTsÁÌe#áTÌ?

ÔáeÖcÍ ¿£�Ôá«+ ¿ì+<� d�Öº+ºq $<ó�+>± d�+K«\Å£� sÁ+>·T\T yûjáT+&�.

�Å£�|�#áÌ

ÿ¿£ e+<� q\uóÉÕ jáÖuóÉÕ H�\T>·T H�\T>·T e+<�\ q\uóÉÕ

Âs+&�T e+<�\ Âs+&�T nsÁyîÕ |�<�V�äsÁT

Âs+&�T e+<�\ nsÁyîÕ ÿ¿£{ì ÿ¿£ e+<� Ô=+uóÉÕ ×<�T ÿ¿£ e+<� jáÖuóÉÕ Ô=$T�~

m�$T~ e+<�\T ×<�T e+<�\ jáÖuóÉÕ ×<�T �sÁT e+<�\ mquóÉÕ ×<�T

�sÁT e+<�\ nsÁyîÕ Ô=+uóÉÕ Ô=$T�~ eTÖ&�T e+<�\ @&�T

msÁT|�Ú ú\+

660 99 307

440 800 54

60 16 202

261 555 685

159 140 195
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1. Write the numbers of the following.

Exercise - 2

a)

c)

b)

d)

a) b) c) e)d)

a)

b) c) e)d)

b)

a)

c)

d)

e)

f)

a)

b)

c)

d)

e)

f)

2. Write the numbers in words.

3. Do the following Additions

4. Do the following subtractions.

5. Do the following multiplications.

6. Do the following.

a) Forty six      = b) Seventy four  =

c) Eight hundred and twenty nine = d) Seven hundred and six =

37 =

469 =

98 =

657 =

18

+21

35

+42

57

+28

45

+37

87

+56

78

- 24

35

- 42

92

- 48

85

- 27

   63

` 36

2 x 5 =

3 x 6 =

5 x 3 =

4 x 6 =

12 x 2 =

18 x 5 =

6 ÷ 3 =

9 ÷ 3 =

10 ÷ 2 =

12 ÷ 2 =

18 ÷ 3 =

15 ÷ 5 =
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1. ¿ì+~ y�{ì¿ì d�+K«\qT s�jáT+&�.

n)  q\uóÉÕ �sÁT R �) &îuóÉÕÒ H�\T>·T  R

�) m�$T~ e+<�\ �sÁyîÕ Ô=$T�~ R �) @&�T e+<�\ �sÁT R

nuó²«d�+ ` 2

n)

�)

�)

�)

n) �) �) �)�)

n)

�) �) �)�)

�)

n)

�)

�)

�)

})

n)

�)

�)

�)

�)

})

2. ¿ì+~ d�+K«\qT n¿£�s�\ýË s�jáT+&�.

3. ¿ì+~ Å£L&�¿£\T #ûjáT+&�.

4. ¿ì+~ rd¾yûÔá\T #ûjáT+&�.

5. ¿ì+~ >·TD¿±s�\T #ûjáT+&�.

6. ¿ì+~ y�{ì� #ûjáT+&�.

37 =

469 =

98 =

657 =

18

+21

35

+42

57

+28

45

+37

87

+56

78

- 24

35

- 42

92

- 48

85

- 27

   63

` 36

2 x 5 =

3 x 6 =

5 x 3 =

4 x 6 =

12 x 2 =

18 x 5 =

6 ¸  3 =

9 ¸  3 =

10 ¸  2 =

12 ¸  2 =

18 ¸  3 =

15 ¸  5 =
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2

Chapter

Numbers

`230/-

`450/-

Do these:

Observe the picture:

Bindu went to a house-
hold exhibition cum sales
center with her mother. They
wanted to buy some items.
Observe the items and their
price tags.

Bindu started to read
the cost of these items, please
help her.

1. What are the items do you observe in this sales center?
__________________________________________

2. What is the price of hot box ?
__________________________________________

3. What is the price of thermos flask?
__________________________________________

4. What is the price of vegetable basket?
__________________________________________

5. What is the price of gas stove ?
__________________________________________

    Write the numbers in words.

` 8925/

-

Û How is a 4 - digit num-
ber form?

Û By what name, do we
call the fourth place in
a 4 - digit number?

S.No. Item Price In Words
1. Hot Box
2. Vegetable Basket

3. Tiffin Box
4. Gas  Stove

    `  795
    `    42

    `  328
    ` 2350
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2

n<ó�«jáT+

d�+K«\T

`230/-

`450/-

�$ #ûjáT+&�.

ºçÔ��� |�]o*+#á+&�:

_+<�T, y�Þøß neT�ÔÃ ¿£\d¾

>·�V�²þ|�¿£s ÁD²\ ç|�<�sÁôq eT]jáTT

neT�¿£+ ¹¿+ç<��¿ì yî[ß+~. y�sÁT ¿=��

ed�TïeÚ\qT ¿=q<�*#�sÁT. ed�TïeÚ\T

eT]jáTT y�{ì <ó�sÁ\qT |�]o*+#á+&�.

_+<�T ¿=�� ed�TïeÚ\ <ó�sÁ\qT

#á<�e&�+ çbÍsÁ+_ó+º+~. �yîTÅ£�

d�V�äjáT+ #ûjáT+&�.

1. � <�T¿±D+ýË MTsÁT @jûT ed�TïeÚ\qT >·eT�+#�sÁT?

2. V�ä{Ù u²¿ùà <ó�sÁ m+Ôá?

3. <�̧sÃ�dt b�Í¢dtØ <ó�sÁ m+Ôá?

4. Å£LsÁ>±jáT\ �|fÉ¼ <ó�sÁ m+Ôá?

5. >±«dtd�¼y� <ó�sÁ m+Ôá?

Û 4 n+Â¿\ d�+K« @$<ó�+>±

@sÁÎ&�TÔáT+~?

Û 4 n+Â¿\ d�+K«ýË H�\Ze

kÍ�q+ �|¹s$T{ì?

�eÇ�&�q d�+K«\qT n¿£�s�\ýË s�jáT+&�:

 e.d�+. ed�TïeÚ <ó�sÁ n¿£�s�\ýË

1 V�ä{Ùu²¿ùà `   795

2 Å£LsÁ>±jáT\ �|fÉ¼ `    42

3 {ì|�¾H� u²¿ùà `   328

4 >±«dt d�¼y� ` 2350

` 8925/

-
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Let us know about 4 - digit numbers:
Let us recall how we got 10 from 9 and 100 from 99.
We got 10 by adding 1 to 9 and 100 by adding 1 to 99.
What shall we get by adding 1 to 999?

How many hundreds are there?

9 + 1    = 10 :  two digit number
99 + 1    = 100 : three digit number
999 + 1  = 1000 : four digit number

This can be shown as

9 hundreds + 1 hundred = ten hundreds = one thousand
10 hundreds make 1 thousand.
We write one thousand as 1000.
Thus, we get 1000 adding 1 to 999.

Oh! Now I have
known how to form

1000

1
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4 n+Â¿\ d�+K«\ >·T]+º Ôî\Td�TÅ£�+<�+:

9 qT+&� 10 eT]jáTT 99 qT+&� 100 mý² bõ+<�TÔ�yîÖ

>·TsÁTï Ôî#áTÌ¿=+<�+. 9 ¿ì 1 ¿£\|�³+ <�Çs� 10 eT]jáTT 99 ¿ì

1 ¿£\|�³+ <�Çs� 100 bõ+<�TÔ�+. eT], 999 ¿ì 1 ¿£\|�³+

<�Çs� @$T bõ+<�TÔ�+?

�¿£Ø&� m�� e+<�\T �H��sTT?

9 G 1 R 10 : Âs+&�+Â¿\ d�+K«

99 G 1 R 100 : eTÖ&�+Â¿\ d�+K«

999 G 1 R 1000: H�\T>·+Â¿\ d�+K«

B�� �ý² #áÖ|�e#áTÌ.

9 e+<�\T G 1 e+<� R |�~ e+<�\T R ÿ¿£ yûsTT

10 e+<�\T 1 yûsTT� @sÁÎsÁTkÍïsTT.

ÿ¿£ yûsTT�, 1000 >± s�kÍï+.

� $<ó�+>±, 999 ¿ì 1 ¿£\|�³+ <�Çs� 1000 bõ+<�TÔ�+.

z! 1000 @$<ó�+>±

@sÁÎ&�TÔáT+<Ã �|�Î&�T

H�Å£� Ôî*d¾+~.

1
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Observe the following:

Number represented
in blocks

1,000

One Thousand Th

Number and
number name

Number represented
on spike abacus

2,000

Two Thousand

3,000

Three Thousand

4,000

Four Thousand

5,000

Five Thousand

6,000

Six Thousand

7,000

Seven Thousand

8,000

Eight Thousand

9,000

Nine Thousand

H T O

Th H T O

Th H T O

Th H T O

Th H T O

Th H T O

Th H T O

Th H T O

Th H T O
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¿ì+~ y�{ì� |�]o*+#á+&�:

u²¢Å£�\ÔÃ #áÖ|��&�q d�+K« d�+K« eT]jáTT �dÕÎ¿ù nu²¿£dt �|Õ #áÖ|��&�q

d�+K« �|sÁT d�+K«

1,000

ÿ¿£ yûsTT

2,000

Âs+&�T yû\T

3,000

eTÖ&�T yû\T

4,000

H�\T>·T yû\T

5,000

×<�T yû\T

6,000

�sÁT yû\T

7,000

@&�T yû\T

8,000

m�$T~ yû\T

9,000

Ô=$T�~ yû\T

yû e+ |� ÿ

yû e+ |� ÿ

yû e+ |� ÿ

yû e+ |� ÿ

yû e+ |� ÿ

yû e+ |� ÿ

yû e+ |� ÿ

yû e+ |� ÿ

yû e+ |� ÿ
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The numbers after 1000:
Which is the next number to 1000?
              1000 + 1 = 1001

Which is the next number to 1001?
              1001 + 1 = 1002
Fill the table with more than 1000 numbers and read.

1001 1002 1003 1010
1013
1023

1031 1038
1047

1055
1061 1066 1070

1074 1079
1082 1090

1091 1100

We read and write numbers beyond 999 as follows.
How we write? How we read?
1000 - One thousand
1001 - One thousand and one
1004 - One thousand and four
1009 -
1010 -
1100 -
1199 - One thousand one hundred and ninety nine
1500 - One thousand and five hundred

- Two thousand nine hundred and ninety nine

- Four thousand and five hundred
7740 - Seven thousand seven hundred and forty
9009 - Nine thousand and nine
9999 -
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1000 Ôás�ÇÔá e#áTÌ d�+K«\T:

1000 Ôás�ÇÔá e#áTÌ d�+K« @~?

1000 G 1 R 1001

1001 Ôás�ÇÔá e#áTÌ d�+K« @~?

1001 G 2 R 1002

 1000 Ôás�ÇÔá e#áTÌ d�+K«\qT |�{ì¼¿£ýË s�jáT+&�. #á<�e+&�.

1001 1002 1003 1010

1013

1023

1031 1038

1047

1055

1061 1066 1070

1074 1079

1082 1090

1091 1100

999 Ôás�ÇÔá e#áTÌ d�+K«\qT ` #á<�e+&�, s�jáT+&�.

s�jáT&�+ mý²? #á<�e&�+ mý²?

1000 ` ÿ¿£ yûsTT

1001 ` ÿ¿£ yûsTT ÿ¿£{ì

1004 ` ÿ¿£ yûsTT H�\T>·T

1009 `

1010 `

1100 `

1199 ` ÿ¿£ yûsTT qÖ³ Ô=+uóÉÕ Ô=$T�~

1500 ` ÿ¿£ yûsTT ×<�T e+<�\T

` Âs+&�T yû\ Ô=$T�~ e+<�\ Ô=+uóÉÕ Ô=$T�~

` H�\T>·T yû\ ×<�T e+<�\T

7740 ` @&�T yû\ @&�T e+<�\ q\uóÉÕ

9009 ` Ô=$T�~ yû\ Ô=$T�~

9999 `
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2 thousands 4 hundreds 5 tens 3 ones 2453

2453

4364

3406

4 thousands 3 hundreds 6 tens 4 ones 4364

3 thousands 4 hundreds 0 tens 6 ones 3406

3406, we read it as three thousand four hundred and six.

Oh! I think in this...
One red bead = 1000
One green bead =   100
One blue bead =    10
One yellow bead =      1

Do these:

thousands hundreds tens ones

2453, we read it as two thousand four hundred and fifty three.

4364, we read it as four thousand three hundred and sixty four.

Representation of four digit numbers:

Th H T O

Th H T O

Th H T O

1.   Write the correct digit in           and write the number in
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   yû   e+  |�  ÿ

2 yû\T 4 e+<�\T 5 |�<�T\T 3 ÿ¿£³T¢ 2453

2453

4364

3406

4 yû\T 3 e+<�\T 6 |�<�T\T 4 ÿ¿£³T¢ 4364

3 yû\T 4 e+<�\T 0 |�<�T\T 6 ÿ¿£³T¢ 3406

3406 � eTÖ&�T yû\ H�\T>·T e+<�\ �sÁT n� #á<�TeÚÔ�+.

z! �+<�TýË �ý² �H��sTT.....

ÿ¿£ mçsÁ|�Pd� R 1000

ÿ¿£ �Å£�|�#áÌ |�Pd� R   100

ÿ¿£ ú\+ |�Pd� R    10

ÿ¿£ |�d�T|�Ú |�Pd� R     1

�$ #ûjáT+&�.

1. d�ÂsÕq n+Â¿qT       ýËqT, yîTTÔáï+ d�+K«qT             ýËqT s�jáT+&�.

yû\T e+<�\T |�<�T\T ÿ¿£³T¢

2453 � Âs+&�T yû\ H�\T>·T e+<�\ jáÖuóÉÕ eTÖ&�T n� #á<�TeÚÔ�+.

4364 � H�\T>·T yû\ eTÖ&�T e+<�\ nsÁyîÕ H�\T>·T n� #á<�TeÚÔ�+.

   yû   e+  |�  ÿ

   yû   e+  |�  ÿ

H�\T>·+Â¿\ d�+K«\qT çbÍÜ�<ó�«|�sÁT#áT³.
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2. Write the number and number name by observing beads on the abacus. One is done
for you.

4253

a) Four thousand two hundred and fifty three

b) _________________________________________

c) _________________________________________

3.   Mr. Pradeep has to write a cheque for ` 3,456. Help him to write the amount in words.

Self ` 3456/`

Rupees only

Place value and face value of 4 digit numbers:
Observe the following blocks

Thousands 6

Th

   2      3      2     6

Two thousand three hundred and twenty six

Hundreds Tens Ones232

T H O

Th T H O Th T H O Th T H O
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2. nu²¿£dt �|Õ �q� |�Pd�\qT |�]o*+º d�+K«qT, d�+K« �|sÁTqT s�jáT+&�. ÿ¿£{ì MT¿Ãd�+ kÍ~ó+#á�&�+~.

4253

yû e+ |� ÿ yû e+ |� ÿ yû e+ |� ÿ

n) H�\T>·T yû\ Âs+&�T e+<�\ jáÖuóÉÕ eTÖ&�T.

�)

�)

3. ç|�B|t ̀  3,456 Å£� #îÅ£�Ø s�jáÖ*. � yîTTÔ�ï�� n¿£�s�\ýË s�jáT&��¿ì nÔá�¿ì MTsÁT d�V�äjáT+ #ûjáT+&�.

d�Ç+Ôá+ ` 3456/`

sÁÖbÍjáT\T eÖçÔáyûT

4 n+Â¿\ d�+K«\ kÍÆq$\Te - d�V�²È$\Te:

¿ì+<� �eÇ�&�q u²¢Å£�\T >·eT�+#á+&�

 2    yû\T  3    e+<�\T  2    |�<�T\T  6    ÿ¿£³T¢

   yû     e+     |�     ÿ

   2      3      2     6

Âs+&�T yû\ eTÖ&�T e+<�\ �sÁyîÕ �sÁT.
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What did you notice in the picture above?
Which digit is in the ones place?   6 , it’s place value is   6 .
Which digit is in the tens place? ________ , it’s place value is ________.
Which digit  is in the hundreds place? ________ , it’s place value is ________.
Which digit is in the thousands place? ________ , it’s place value is ________.

Oh! Now
I can say the place
and face values of

digits in 2326.

2 thousands   = 2000 2
3 hundreds    =   300 3
2 tens  =     20 2
6 ones            =       6        6

Place value                Face value

Place value                Face value

 2 3 2 6

 8 0 2 5

Example :  Find the place value of each of the digits in the number 8025.

Note:   The place value of ‘0’ is always 0 , wherever it is placed in a number.

1. Find the place value and face value of each of the digits in the following numbers.

a)         6742 b)      5309

Do these:

Digit Place value Face value

Th H T O

8 thousands = 8000 8
0 hundreds =     0 0
2 tens =   20 2
5 ones =     5 5

Th H T O

Digit Place value Face value

Th T H O

6

7

4

2

5

3

0

9
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�¿£Ø&� �eÇ�&�q ºçÔá+ýË qTeÚÇ @$T >·eT�+#�eÚ?

ÿ¿£³¢ kÍ�q+ýË @ n+Â¿ �+~?   6   , <�� kÍ�q $\Te   6  .

|�<�T\ kÍ�q+ýË @ n+Â¿ �+~? , <�� kÍ�q $\Te .

e+<�\ kÍ�q+ýË @ n+Â¿ �+~? , <�� kÍ�q $\Te .

yû\ kÍ�q+ýË @ n+Â¿ �+~? , <�� kÍ�q $\Te .

z! �|�ð&�T HûqT 2326

ýË� n+Â¿\ kÍ�q $\Te\T,

d�V�²È $\Te\T #î|�Î>·\qT.
2 yû\T R 2000 2

3 e+<�\T R   300 3

2 |�<�T\T R    20 2

6 ÿ¿£³T¢ R      6 6

kÍ�q$\Te d�V�²È$\Te

 yû e+ |� ÿ

 yû e+ |� ÿ

       kÍ�q$\Te       d�V�²È$\Te

 2 3 2 6

 8 0 2 5

�<�V�²sÁD: 8025 ýË� ç|�Ü n+Â¿ jîTT¿£Ø kÍ�q$\Te ¿£qT¿ÃØ+&�.

>·eT�¿£:  ÿ¿£ d�+K«ýË »0µ nHû~ @ kÍ�q+ýË �q�|�Î{ì¿¡, <�� kÍ�q $\Te m\¢|�ð&�Ö »0µ.

1. ¿ì+<� �eÇ�&�q n+Â¿\ kÍ�q$\Te\T, d�V�²È$\Te\T ¿£qT¿ÃØ+&�.

n)         6742 �)      5309

�$ #ûjáT+&�.

n+Â¿ kÍ�q$\Te d�V�²È$\Te n+Â¿ kÍ�q$\Te d�V�²È$\Te

   yû   e+  |�  ÿ

6

7

4

2

5

3

0

9

8 yû\T = 8000 8
0 e+<�\T =     0 0
2 |�<�T\T =   20 2
5 ÿ¿£³T¢ =     5 5
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3. For each of the number given below, match the place value and face value of the
circled digits by drawing line as shown below.

  Number Face Value   Place Value

thousands hundreds tens ones

9 4 3 2
9432

9432 = 9 Thousands + 4 Hundreds + 3 Tens + 2 Ones
= 9000 + 400 + 30 + 2

Do these

1.Write the expanded form of the following numbers.

a) 4354 R

b) 4199 R

c) 7575 R

d) 6402 R

Expanded and shortened form of 4 digit number:

2.   Encircle the place value of the digits underlined in the given numbers?  One is done for you.
a) 4543 50 5 500 5000

b) 3356 3000 300 30 3

c) 7943 4000 40 400 4

d) 5025 0 20 500 800

e) 9532 20 200 2000 2

thousands hundreds tens ones

5 4 0 7
5407

5407 = 5 Thousands + 4 Hundreds + 0 Tens + 7 Ones
= 5000 + 400 + 0 + 7

8  5  3  6
3  2  6  7
2  6  7  3
6  9  7  8

8
3
2
2

2000
8
30
200
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3. ¿ì+~ d�+K«\ýË d�Tq� #áT³¼�&�q n+Â¿ jîTT¿£Ø d�ÂsÕq d�V�²È$\Te, kÍ�q$\TeÅ£� ¿ì+<�#áÖ|��&�q

$<ó�+>± ^Ôá ^jáT+&�.

  d�+K« d�V�²È $\Te   kÍ�q $\Te

 yû\T e+<�\T |�<�T\T ÿ¿£³T¢

9 4 3 2

 yû\T e+<�\T |�<�T\T ÿ¿£³T¢

5 4 0 7

9432

9432 R 9 yû\T G 4 e+<�\T G 3 |�<�T\T G 2 ÿ¿£³T¢

9000 G 400 G 30 G 2

5407

5407 R 5 yû\T G 4 e+<�\T G 0 |�<�T\T G 7 ÿ¿£³T¢

R 5000 G 400 G 0 G 7

�$ #ûjáT+&�

1. ¿ì+<� �eÇ�&�q d�+K«\ jîTT¿£Ø $d�ïsÁD sÁÖ|�+ s�jáT+&�.

n) 4354 R

�) 4199 R

�) 7575 R

�) 6402 R

  4 n+Â¿\ d�+K«\ $d�ïsÁD - d�+¿ì�|�ï sÁÖ|�+.

2. ¿ì+~ d�+K«\ýË ̂ Ôá ̂ jáT�&�q n+Â¿\ kÍ�q$\TeqT >·T]ï+º d�Tq� #áT³¼+&�. ÿ¿£{ì MT ¿Ãd�+ #ûjáT�&�+~.

n) 4543 50 5 500 5000

�) 3356 3000 300 30 3

�) 7943 4000 40 400 4

�) 5025 0 20 500 800

�) 9532 20 200 2000 2

8  5  3  6
3  2  6  7
2  6  7  3
6  9  7  8

8
3
2
2

2000
8
30
200
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40 Class - 3  Maths Magic

2. Match the following expanded form with their short form.
a) 3000 G 400 G 60 G 5 4904

b) 5000 G   0  G 40 G 9 2547

c) 4000 G 900 G  0 G 4 3465

d) 2000 G 500 G 40 G 7 6660

e) 6000 G 600 G 60 G 0 5049

Think and discuss:-   How many four digit numbers are there in all?

Exercise - 1
1.  Observe the series and fill the boxes with correct numbers.

a)

b)

2. Read the numbers given in words below and write in numbers  (Numerals)  in the boxes.

     a) Three thousand five hundred and twenty five R

     b) Seven thousand seven hundred and eight R

     c) Eight thousand and five R

3.Write the place value of encircled digits.

a) 5 9 3 7  b)  3 8 1 1    

c) 7 5 5 6  d)  8 2 5 4   

4.Write the following numbers in words.

a) 5876 R  

b)  7305 R  

c) 4975 R  

d)  2089 R  

5.  Write each of the following in expanded form.

a) 3870 R   G  G  G 

b)  7077 R   G  G  G 

c) 9330 R   G  G  G 

2001 2002 2003 2006

4100 4200 4600
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2. ¿ì+<� �eÇ�&�q $d�ïsÁD sÁÖbÍ�¿ì d�ÂsÕq d�+¿ì�|�ï sÁÖbÍ�� ÈÔá|�sÁ#á+&�.

n) 3000 G 400 G 60 G 5 4904

�) 5000 G   0  G 40 G 9 2547

�) 4000 G 900 G  0 G 4 3465

�) 2000 G 500 G 40 G 7 6660

�) 6000 G 600 G 60 G 0 5049

�ýËº+#á+&� ` #á]Ì+#á+&�: H�\T>·T n+Â¿\ d�+K«\T yîTTÔáï+ m�� �+{²sTT?

nuó²«d�+ ` 1

1. ¿ì+<� �eÇ�&�q esÁTd�ç¿£eÖ�� |�]o*+º, d�ÂsÕq d�+K«\qT U²°\ýË |�P]+#á+&�.

2. n¿£�s�\ýË �eÇ�&�q d�+K«\qT #á~$, y�{ì¿ì d�]jáT>·T d�+K«\qT �|fÉ¼\ýË s�jáT+&�.

n) eTÖ&�T yû\ ×<�T e+<�\ �sÁyîÕ ×<�T R

�) @&�T yû\ @&�T e+<�\ m�$T~ R

�) m�$T~ yû\ ×<�T R

3.  #áT³¼�&�q n+Â¿\ kÍ�q $\Te s�jáT+&�.

n) 5 9 3 7  �)   3 8 1 1    

�) 7 5 5 6  �)  8 2 5 4   

4. ¿ì+<� �eÇ�&�q d�+K«\qT n¿£�s�\ýË s�jáT+&�.

n) 5876  R  

�) 7305  R  

�)  4975  R  

�) 2089  R  

5. ¿ì+~ y��� $d�ïsÁD sÁÖ|�+ýË s�jáT+&�.

n) 3870  R  G  G  G 

�) 7077  R   G  G  G 

�)  9330  R  G  G  G 

n)

�)

2001 2002 2003 2006

4100 4200 4600
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6.   Fill in the blanks with correct place value.

a) 5000 +   + 90 + 3 = 5693

b)   + 600 + 0 + 5 = 3605

c) 6000 +  + 70 + 7 = 6177

d) 9000 + 900 +  + 9 = 9999
7. Write the following in shortened form  in numerals?

a. Five thousands + Two Hundreds + Forty + Three  = __________
b. Seven thousands + One Hundred + Sixty + Eight  = __________
c. One thousand + One Hundred + One  =__________
d. Two Thousand + Thirty + Five =__________

8. Write the four digit number having 5 in thousands place, 8 in hundreds place,  3 in tens
place and 2 in ones place.

9. Write the 4 - digit number having 2 in ones place, 5 in tens place, 0 in hundreds place
and 6 in thousands place.

R 

Activity Making 4 digit numbers  (Using digit cards from 0  to  9)

I made 4592 from
these cards.

I also made 5942
from these cards.

T Take any 4 cards from 0 to 9.
T Make any 4 digit number with those cards.
T Read and write the number in words.
T Write as many as numbers, you can form with these digits in the following table.

Th H T O
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6. d�ÂsÕq kÍ�q$\Te\ÔÃ U²°\qT |�P]+#á+&�.

n) 5000 G  G 90 G 3 R 5693

�)   G 600 G 0 G 5 R 3605

�) 6000 G  G 70 G 7 R 6177

�) 9000 G 900 G  G 9 R 9999

7. ¿ì+~ y�{ì d�+¿ì�|�ï sÁÖ|�+ n+Â¿\ýË s�jáT+&�.

n) ×<�T yû\T G Âs+&�T e+<�\T G q\uóÉÕ G eTÖ&�T R 

�) @&�T yû\T G ÿ¿£ e+<� G nsÁyîÕ G m�$T~ R 

�) ÿ¿£ yûsTT G ÿ¿£ e+<� G ÿ¿£{ì R 

�) Âs+&�T yû\T G eTT�|ÕÎÛ G ×<�T R 

8. yû\ kÍ�q+ýË 5, e+<�\ kÍ�q+ýË 8, |�<�T\ kÍ�q+ýË 3 eT]jáTT ÿ¿£³¢ kÍ�q+ýË 2 �+&û³T¢ H�\T>·T

n+Â¿\ d�+K«qT s�jáT+&�.

9. ÿ¿£³¢ kÍ�q+ýË 2, |�<�T\ kÍ�q+ýË 5, e+<�\ kÍ�q+ýË 0 eT]jáTT yû\ kÍ�q+ýË 6 �+&�Tq³T¢ H�\T>·T

n+Â¿\ d�+K«qT s�jáT+&�.

 yû     e+      |�     ÿ

R 

¿£�Ôá«+

� ¿±sÁT¦\qT

�|�jîÖÐ+º 4592�

ÔájáÖsÁT#ûXæqT.

HûqT Å£L&�, �

¿±sÁT¦\qT �|�jîÖÐ+º

5942� ÔájáÖsÁT#ûXæqT.

T 0 qT+&� 9 ¿±sÁT¦\ýË @yîÕH� 4 ¿±sÁT¦\T rd�T¿Ã+&�.

T 4 ¿±sÁT¦\qT �|�jîÖÐ+º @<îÕH� ÿ¿£ 4 n+Â¿\ d�+K«qT ÔájáÖsÁT#ûjáT+&�.

T n d�+K«qT #á<�e+&� eT]jáTT n¿£�s�\ýË s�jáT+&�.

T � n+Â¿\qT �|�jîÖÐ+º ÔájáÖsÁT #ûd¾q d�+K«\qT ¿ì+~ |�{ì¼¿£ýË s�jáT+&�.

4 n+Â¿\ d�+K«\qT ÔájáÖsÁT#ûjáTT³. (0 qT+&� 9 n+Â¿\ ¿±sÁT¦\qT �|�jîÖÐ+º)
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S. No  Number Number in Words
1 4592 Four thousand five hundred and ninety two
2
3
4
5
6

Try these

1. Write all possible 3 digit numbers using the digits 3, 5 and 1.
2. Write any five 4 digit numbers using the digits 2, 6, 8 and 4.
3. If A = 0, B = 1, C = 2, D = 3, E = 4, then find out the price of objects given below using

secret code. One is done for you.

` 340 ` ................... ` ................... ` ...................

Comparison of the numbers

To compare numbers we follow the rules mentioned here under.
Rule -1: The numeral containing more digits is the larger number.
Example: In 124 and 46, 124 contains three digits whereas 46 contains 2 digits. Hence 124 is

greater than 46.

124  > 46
124 is greater than 46.

Do you remember?
‘ >’ Greater Than
‘ < ’ Less than
‘ = ’ Is equal to

D E A C D A B C A E C D A
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e. d�+ d�+K« n¿£�s�\ýË

1 4592 H�\T>·T yû\ ×<�T e+<�\ Ô=+uóÉÕ Âs+&�T

2

3

4

5

6

ç|�jáTÜ�+#á+&�

1. 3, 5 eT]jáTT 1 n+Â¿\qT �|�jîÖÐ+º MýÉÕq�� 3 n+Â¿\ d�+K«\T s�jáT+&�.

2. 2, 6, 8 eT]jáTT 4 n+Â¿\qT �|�jîÖÐ+º 4 n+Â¿\ d�+K«\T @yîÕH� ×<�T s�jáT+&�.

3. A = 0, B = 1, C = 2, D = 3, E = 4, n� sÁV�²d�« uó²w�ýË �eÇ�&�+~. B�� �|�jîÖÐ+º ¿ì+<� �eÇ�&�q

ed�TïeÚ\ jîTT¿£Ø <ó�sÁ\T s�jáT+&�.  ÿ¿£{ì MT ¿=sÁÅ£� #ûjáT�&�+~.

` 340 ` ................... ` ................... ` ...................

d�+K«\qT bþ\Ì&�+

d�+K«\qT bþ\Ì&��¿ì � ¿ì+<� �eÇ�&�q �jáTeÖ\T bÍ{ìkÍï+.

�jáTeT+ 1: mÅ£�Øe n+Â¿\qT ¿£*Ð�q� d�+K« n��{ì¿£H�� �|<�Ý d�+K«.

�<�V�²sÁD: 124 eT]jáTT 46 \ýË, 124 nHû d�+K« eTÖ&�T n+Â¿\qT, n<û $<ó�+>± 46 nHû d�+K«

Âs+&�T n+Â¿\qT ¿£*Ð �q�$. ¿£qT¿£ 124 nHû d�+K« 46 ¿£H�� �|<�Ý~.

124 > 46

124 nHû~ 46 ¿£H�� �|<�Ý~.

úÅ£� >·TsÁTï �+<�?

‘>’mÅ£�ØeqT d�Öº+#û >·TsÁTï.

‘<’ ÔáÅ£�ØeqT d�Öº+#û >·TsÁTï.

‘=’  d�eÖqÔáÇ|�Ú >·TsÁTï.

D E A C D A B C A E C D A
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Similarly, in 356 and 3247, 356 contains 3 digits whereas 3247 contains 4 digits. Hence

356 is less than 3247. 356 < 3247

Rule -2: While comparing 4 digit numbers, we always compare starting from left most

   digit.

Example:

a)  Comparison of two numerals having same number of digits.

Compare 5476 and 6123
5476          6123

(<)
as 5 < 6

 5476 < 6123
5476 is less than 6123

Compare 3541 and 2689
     3541          2689

(>)
as 3 > 2

So 3541 > 2689
3541 is greater than 2689

  b)  Comparison of two numerals having same digits in thousands place.

Compare 7435 and 7621
7435          7621

(=)
(<)

as 4 < 6
So 7435 < 7621

7435 is less than 7621

Compare 6810 and 6542
6810          6542

(=)
(>)

as 8 > 5
So 6810 > 6542

6810 is greater than 6542

  c)    Comparison of two numerals having same digits in thousands and hundreds place.

Compare 5215 and 5236
5215          5236

(=)
(=)
(<)

as 1 < 3
So 5215 < 5236

5215 is less than 5236

Compare 4358 and 4342
4358          4342

(=)
(=)
(>)

as 5 > 4
So 4358 > 4342

4358 is greater than 4342
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n<û $<ó�+>± 356 eT]jáTT 3247 \ýË, 356 q+<�T 3 n+Â¿\T, 3247ýË 4 n+Â¿\T �H��sTT. ¿£qT¿£

356 nHû~ 3247 ¿£H�� ÔáÅ£�Øe.  356 < 3247

�jáTeT+ 2 : 4 n+Â¿\ d�+K«\qT bþýñÌ³|�Ú&�T, m\¢|�ð&�Ö m&�eTyîÕ|�Ú ºesÁ n+Â¿qT bþ\TkÍï+.

�<�V�²sÁD:

n) d�eÖq d�+K«ýË n+Â¿\T ¿£*Ðq d�+K«\qT bþ\TÌ³

5476 eT]jáTT 6123 \qT bþ\TÌ³. 3541 eT]jáTT 2689 \qT bþ\TÌ³.

   5476 6123       3541     2689

( < )    ( > )
    �¿£Ø&� 5 < 6     �¿£Ø&� 3 > 2

¿£qT¿£, 5476 < 6123 ¿£qT¿£, 3541 > 2689

 nq>± 5476 nHû~ 6123 ¿£H�� ºq�~.  nq>± 3541 nHû~ 2689 ¿£H�� �|<�Ý~.

�) yû\ kÍÆq+ýË d�eÖq n+Â¿ >·\ Âs+&�T d�+K«\qT bþ\TÌ³

7435 eT]jáTT 7261 \qT bþ\TÌ³. 6810 eT]jáTT 6542 \qT bþ\TÌ³.

     �¿£Ø&� 4 < 6 �¿£Ø&� 8  > 5

¿£qT¿£, 7435 < 7621   ¿£qT¿£, 6810  > 6542

nq>± 7435 nHû~ 7621 ¿£H�� ºq�~.      nq>± 6810 nHû~ 6542 ¿£H�� �|<�Ý~.

(R)

7435 7621

(<)

(R)

6810 6542

(>)

�) yû\kÍ�q+ýË eT]jáTT e+<�\ kÍ�H�\ýË ÿ¹¿ n+Â¿\T ¿£*Ðq d�+K«\qT bþ\TÌ³

5215 eT]jáTT 5236 \qT bþ\TÌ³. 4358 eT]jáTT 4342 \qT bþ\TÌ³.

     �¿£Ø&� 1 < 3 �¿£Ø&� 5 > 4

¿£qT¿£, 5215 < 5236  ¿£qT¿£, 4358  > 4342

5215 nHû~ 5236 ¿£H�� ºq�~. 4358 nHû~ 4342 ¿£H�� �|<�Ý~.

(R)

5215  5236

(<)

(R)

4358 4342

(>)

(R) (R)
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Do these

a) ` 250 ` 350

b) ` 2675 ` 1675

Price of the
toy Car.

Price of the
toy JCB.

Price of
the Rice
cooker.

Price of
the Pressure

cooker.

1.   Fill in the boxes with < , =, > symbols.

  2.  Write the correct symbol (<, =, > ) in the boxes given below.

a)  6472  5306 b) 465   3079

c)  5780  5967 d) 6504   6079

e)  3281  3896 f) 4650   4698

g) 7856  7854 h) 6702   6923

i)  5063  5063 j) 5716   5186

    d)     Comparison of two numerals having same digits in thousands, hundreds and tens place.

Compare 3425 and 3421
3425          3421

(=)
(=)
(=)
(>)

So 3425 > 3421
3425 is greater than 3421

As 5 > 1

Compare 4358 and 4359
4358          4359

(=)
(=)
(=)
(<)

So 4358 < 4359
4358 is less than 4359

As 8 < 9
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�) yû\T, e+<�\T, eT]jáTT |�<�T\ kÍÆH�\ýË ÿ¹¿ n+Â¿\T >·\ Âs+&�T d�+K«\qT bþ\TÌ³.

4358 eT]jáTT 4359\qT bþ\TÌ³. 3425 eT]jáTT 3421\qT bþ\TÌ³.

�¿£Ø&� 8 < 9 �¿£Ø&� 5 > 1

¿£qT¿£, 4358 < 4359 ¿£qT¿£, 3425  > 3421

4358 nHû~ 4359 ¿£H�� ºq�~. 3425 nHû~ 3421 ¿£H�� �|<�Ý~.

(R)

4358 4359

(<)

(R)

3425 3421

(>)

(R) (R)

(R) (R)

�$ #ûjáT+&�

n) ` 250 ` 350

�) ` 2675 ` 1675

u¤eT� ¿±sÁT

K¯<�T

u¤eT� CÉd¾_

K¯<�T

ÂsÕdt Å£�¿ £ØsY

K¯<�T

ç�|ÈsY Å£�¿£ØsY

K¯<�T

1. ¿ì+~ �eÇ�&�q U²° u²Å£�à\qT <, =, > >·TsÁTï\ÔÃ �+|�+&�.

2. ¿ì+~ �eÇ�&�q U²° �|fÉ¼\ýË (<, =, > ) >·TsÁTï\qT �+#áTeTT.

n)  6472  5306 �) 465   3079

�)  5780  5967 �) 6504   6079

�)  3281  3896 }) 4650   4698

�TT) 7856  7854 �TÖ) 6702   6923

m)  5063  5063 @) 5716   5186
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3.  Encircle the smallest number in the following . One is done for you.
a) 4356   567 9075 3207

b) 2354 2435 2345 2543

c) 6079 8254 975 4280

d) 5204 5402 4502 2504

4.  Put a ( 3 ) mark to the largest number in the following.

a) 5648 3772 6660 5555

b) 2074 2879 2978 2542

c) 3945 3495 4530 2471

Ordering of numbers: Observe these pictures of investment details of four merchants and
answer the following questions.

Anwar
 invested
` 5526

a) Who invested more money ? ________________ How much ? ___________
b) Who invested less money ? ________________ How much ? ___________
c) Write the names of the merchants according to their investments from less to more.

, , , 

d) Write the investments of the merchant from less to more.
, , , 

Observe above numbers, these are from lowest to highest. This order is called
ascending order. The order from highest to lowest is called descending order.

Somu
invested
` 4690

Madanna
invested
` 3480

Gourayya
invested
` 6370
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3.  ¿ì+<� �eÇ�&�q ç|�Ü d�+U²« d�eTÖV�²+ýË� ºq� d�+K«Å£� d�TH�� #áT³¼+&�. ÿ¿£{ì MT¿Ãd�+ #ûjáT�&�+~.

n)  4356   567 9075 3207

�) 2354 2435 2345 2543

�) 6079 8254 975 4280

�) 5204 5402 4502 2504

4.  ¿ì+<� �eÇ�&�q ç|�Ü d�+U²« d�eTÖV�²+ýË� �|<�Ý d�+K«qT (P) >·TsÁTïÔÃ d�Öº+#á+&�.

n)  5648 3772 6660 5555

�) 2074 2879 2978 2542

�) 3945 3495 4530 2471

d�+K«\ ç¿£eT+: ¿ì+~ ºçÔ�\ýË #áÖ|��&�q q\T>·TsÁT y�«bÍsÁT\ �|³T¼�&�T\T |�]o*+#á+&�, ¿ì+~

ç|�Xø�\Å£� Èy��T\T s�jáT+&�.

nqÇsY �|³T¼�&�

` 5526

kþeTT �|³T¼�&�

` 4690

eÖ<�q� �|³T¼�&�

` 3480

>�sÁjáT« �|³T¼�&�

` 6370

�|Õ d�+K«\T ºq� d�+K« qT+&� �|<�Ý d�+K« ç¿£eT+ýË �H��jáT� >·eT�+#á+&�. � ç¿£eÖ�� �sÃV�²D ç¿£eT+

n+{²sÁT. �|<�Ý d�+K« qT+&� ºq� d�+K« ç¿£eT+ýË �+fñ � ç¿£eÖ�� nesÃV�²D ç¿£eT+ n+{²sÁT.

n) mesÁT mÅ£�Øe �|³T¼�&� �|{²¼sÁT?  m+Ôá? 

�) mesÁT ÔáÅ£�Øe �|³T¼�&� �|{²¼sÁT?  m+Ôá? 

�) ÔáÅ£�Øe �|³T¼�&� �|{ì¼q y�] qT+&� mÅ£�Øe �|³T¼�&� �|{ì¼q y�] �|sÁ¢T esÁTd�ýË s�jáT+&�.

, , , 

�) �|{ì¼q �|³T¼�&�T\qT ÔáÅ£�Øe qT+&� mÅ£�ØeÅ£� esÁTd�ç¿£eT+ýË s�jáT+&�.

, , , 
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Do these

1. Arrange the following numbers in ascending order.

72, 27, 16, 108, 61

Ascending order , , , , .

2. Arrange the following numbers in descending order.

65, 506, 650, 560, 605

Descending order , , , , .

3. 1009, 4002, 6088, 3800

Write the numbers by observing the symbols.

a)  >  >  > 

b)  <   <  < 

4. Arrange the following numbers both in ascending and descending order.

2566, 2988,  2300, 2377

Ascending Order:   , , , 

Descending Orders: , , , 

Activity

Observe the ascending and descending order in the pictures given below. Observe and
discuss these type of orders in your surroundings.

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



ÔásÁ>·Ü ` 3  >·DìÔá+ÔÃ >·eT�ÔáTï 53

�$ #ûjáT+&�

1. � ¿ì+<� �eÇ�&�q d�+K«\qT �sÃV�²Dç¿£eT+ýË s�jáT+&�.

72, 27, 16, 108, 61

�sÃV�²D ç¿£eT+ , , , , .

2. � ¿ì+<� �eÇ�&�q d�+K«\qT nesÃV�²Dç¿£eT+ýË s�jáT+&�.

65, 506, 650, 560, 605

nesÃV�²D ç¿£eT+ , , , , .

3. 1009, 4002, 6088, 3800

¿ì+~ �eÇ�&�q >·TsÁTï\ �<ó�sÁ+>± d�+K«\qT s�jáT+&�.

n)  >  >  > 

�)  <   <  < 

4. ¿ì+<� �eÇ�&�q d�+K«\qT, �sÃV�²D, nesÃV�²Dç¿£eÖ\ýË s�jáT+&�.

2566, 2988, 2300, 2377

�sÃV�²D ç¿£eT+:   , , , 

nesÃV�²D ç¿£eT+: , , , 

¿£�Ôá«+

¿ì+<� �eÇ�&�q �sÃV�²D, nesÃV�²D ç¿£eÖ\ýË neT]Ìq ºçÔ�\T >·eT�+#á+&�. MT |�]d�s�\ýË� �ý²+{ì

ç¿£eÖ\qT >·eT�+#á+&�. #á]Ì+#á+&�.
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Exercise - 2

5001 5002 5003 5004 5005 5006 5007 5008 5009 5010

5011 5020
5021 5030

5031 5040

5041 5050

1. Observe and fill the number chart. Write all the numbers having ‘3’ in tens place in
the given blanks.

2. Sumathi has the following currency notes. How much money does she have?

3. Write the numerals for each of the following

a) Seven thousand and seventy seven ______________________.

b) Eight thousand nine hundred and sixty seven _____________.

4. Write the number names for each of the following.

a) 3003 = __________________________.

b) 6010 = __________________________.

c) 9909 = __________________________.

5. In  number 2768, 2 is in which place? [        ]

a) Ones b)  Tens          c) Hundreds d) Thousands

6. Write the expanded form of the following numbers.

a) 5004   =    ____________________________________________________

b) 2069   =    ____________________________________________________

c)  3678   =    ____________________________________________________

 ,      ,        ,  ,   

 ,      ,        ,  ,   
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nuó²«d�+ ` 2

5001 5002 5003 5004 5005 5006 5007 5008 5009 5010

5011 5020

5021 5030

5031 5040

5041 5050

1. ¿ì+~ �eÇ�&�q d�+K«\ #�sÁT¼qT >·eT�+º, |�P]+#á+&�. |�<�T\ kÍ�q+ýË 3 >·\ n�� d�+K«\qT ¿ì+<�

�eÇ�&�q U²°\ýË s�jáT+&�.

2. d�TeTÜ e<�Ý ¿ì+<� #áÖ|��&�q $<ó�+>± ¿£Âsúà HÃ³T¢ ¿£\eÚ. �yîT e<�ÝqTq� yîTTÔáï+ q>·<�T m+Ôá?

3. ¿ì+~ �eÇ�&�q y��� d�+K«\T>± s�jáT+&�.

n)  @&�T yû\ &îuÉÕÒÛ @&�T 

�)  m�$T~ yû\ Ô=$T�~ e+<�\ nsÁyîÕ @&�T 

4. ¿ì+~ �eÇ�&�q d�+K«\qT n¿£�s�\ýË s�jáT+&�.

n)  3003 = __________________________.

�)  6010 = __________________________.

�)  9909 = __________________________.

5. 2768 nHû d�+K«ýË, 2 @ kÍ�q+ýË �+~?

n)  ÿ¿£³T¢ �)  |�<�T\T          �) e+<�\T �) yû\T

6. ¿ì+~ �eÇ�&�q d�+K«\Å£� $d�ïsÁD sÁÖ|�+ s�jáT+&�.

n)  5004 R 

�)  2069 R 

�)  3678 R 

 ,      ,        ,  ,   

 ,      ,        ,  ,   
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7.   Observe the number chart and fill in the blanks. (Some may have multiple  answers)

8. Circle the largest number in each of the following,

a) 512 734 1092 6581 3985

b) 2963 3629 2396 2693 2369

c) 813 9031 3149 299 1001

9. Write any six 4 digit numbers using the digits 2, 5, 7 and 8. Then find out the
largest and smallest number from them.

a)  b)  

c)  d)  

10. Write different 4 digit number using the digits  1, 1, 9  and 9. Write them

11. Circle the range of a number that the number lies in given pair of number.

a) 250 300 - 400 200 - 300

b) 460 300 - 400 400 - 500

c) 884 700 - 800 800 - 900

12.  Observe the population of the villages and circle to the nearest thousands.

 Name of the Village               Population      Population of the Village nearest to thousands

       Kodumuru 2750 2000 3000 4000

Ramasagaram 1340 1000 2000 3000

Venkatapuram 3890 3000 4000 5000

8000 > 7000

< 2000

< 5000

3000 =

1000
2000

3000

6000
5000

4000

7000
8000

9000
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7. ¿ì+~ �eÇ�&�q d�+K«\ #ó�sÁT¼ �<ó�sÁ+>± U²°\qT |�P]+|�ÚeTT. (¿=��+{ì¿ì �V�QÞø Èy��T\T �+&�e#áTÌ)

8. ¿ì+~ �eÇ�&�q ç|�Ü esÁTd�ýË� �|<�Ý d�+K«Å£� »»d�TH��µµ #áT³¼+&�.

n) 512 734 1092 6581 3985

�) 2963 3629 2396 2693 2369

�) 813 9031 3149 299 1001

9. 2, 5, 7 eT]jáTT 8 nHû n+Â¿\qT �|�jîÖÐ+º @yîÕH� �sÁT, 4 n+Â¿\ d�+K«\qT s�jáT+&�.

y�{ìýË �|<�Ý d�+K«\qT eT]jáTT ºq� d�+K«\qT >·T]ï+#á+&�.

n)  �)  

�)  �)  

10. 1, 1, 9 eT]jáTT 9 nHû n+Â¿\qT �|�jîÖÐ+º, $$<ó� 4 n+Â¿\ d�+K«\T s�jáT+&�.

11. ¿ì+~ �ºÌq d�+K«\T @ e+<�\ ÈÔá eT<ó�«ýË �H��jîÖ, y��¿ì »»d�TH��µµ #áT³¼+&�.

n) 250 300 ` 400 200 ` 300

�) 460 300 ` 400 400 ` 500

�) 884 700 ` 800 800 ` 900

12. ¿=�� ç>±eÖ\ ÈH�uó² $es�\T ¿ì+~ �eÇ�&�¦sTT. y�{ì d�MT|� yû\Å£� »»d�TH��µµ #áT³¼+&�.

ç>±eT+ �|sÁT ÈH�uó² <�>·Z] yû\Å£� d�e]+ºq ç>±eT ÈH�uó²

¿Ã&�TeTÖsÁT 2750 2000 3000 4000

s�eTkÍ>·sÁ+ 1340 1000 2000 3000

yî+¿£{²|�ÚsÁ+ 3890 3000 4000 5000

8000 > 7000

< 2000

< 5000

3000 =

1000
2000

3000

6000
5000

4000

7000
8000

9000
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14. Write the largest and smallest numbers formed by the given digits.
Digits Largest number Smallest number

3, 7, 5, 9 9753 3579

6, 4, 9, 5

1, 7, 5, 2

2, 9, 4, 6

Project Work:   Collect the vehicle numbers and write it in the table.

S. No. Auto rickshaw Motor cycle Car Bus

a) Write the numbers of Autorickshaws in ascending order.
b) Write the numbers of motor cycles in descending order.

13. Circle the nearest number and write it in the given blank. One is done for you.

The number of pencils is nearer to 50

The number of dots is nearer to ................

 The number of blocks is nearer to .....……..

The total currency is nearer to ……………......

4 Tens 7 Ones

40 50 60

200 300 400

500 700 600

2000 3000 4000

a)

b)

c)

d)
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13. <�>·Z]¿ì d�e]+ºq d�+K«qT »»d�TH��µµÔÃ >·T]ï+#á+&�. �eÇ�&�q U²°ýË s�jáT+&�. ÿ¿£{ì MT¿Ãd�+ #ûjáT�&�+~.

n) 40       50      60

4 |�<�T\T       7 ÿ¿£³T¢

�|�àÞøß d�+K« 50 Å£� <�>·ZsÁ>± �+~.

�)

#áT¿£Ø\ d�+K« ..............Å£� <�>·ZsÁ>± �+~.

200 300 400

�)

u²¢Å£�\ d�+K« ............. Å£� <�>·ZsÁ>± �+~.

�)

yîTTÔáï+ HÃ³¢ $\Te ..............Å£� <�>·ZsÁ>± �+~.

500 700 600

2000 3000 4000

14. ¿ì+<� �eÇ�&�q n+Â¿\ÔÃ @sÁÎ&û �|<�Ý d�+K«qT eT]jáTT ºq� d�+K«qT s�jáT+&�.

n+Â¿\T �|<�Ý d�+K« ºq� d�+K«

3, 7, 5, 9 9753 3579

6, 4, 9, 5

1, 7, 5, 2

2, 9, 4, 6

çbÍCÉÅ£�¼ esÁTØ: ¿=�� y�V�²H�\ d�+K«\qT �d¿£]+º, ¿ì+~ fñ�TýÙýË s�jáT+&�

e. d�+. �{Ë]¿�± yîÖ{²sY�dÕ¿ìýÙ ¿±sÁT �d�Tà

n) �{Ë]¿�±\ d�+K«\qT �sÃV�²Dç¿£eT+ýË s�jáT+&�.

�) yîÖ{²sY �dÕ¿ìÞøß d�+K«\qT nesÃV�²Dç¿£eT+ýË s�jáT+&�.
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3

Chapter

Addition

Price  List
Mango - ` 22
Apple - ` 30

Banana - ` 5
Water melon - ̀  95

Harsha is studying 3rd class. His class teacher asked to collect the information
regarding costs of different fruits. So, he went to sankaraiah's fruits shop in the evening.
Now observe the costs of fruits and answer the following questions.

1.    What is the cost of a mango ?
2.    What is the cost of an apple ?
3.    What is the cost of banana ?
4.    What is the total cost of mango and banana ?
5.    What is the total cost of mango, apple and banana ?
At the end of the day, Sankaraiah found only 51 pomegranates, 6 mangoes and 22

guavas in his shop. He went to an orchard. There are 32 pomegranate trees, 25 mango trees
and 38 guava trees. How many trees are there in all in the orchard?

Number of  pomegranate trees = 3 2
Number of mango trees = 2 5
Number of guava trees =  + 3 8
Total number of trees =
Can you do the above sum?
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3

n<ó�«jáT+

d�+¿£\q+

 V�²sÁü 3e ÔásÁ>·Ü #á<�TeÚÔáTH��&�T. nÔá�¿ì, y�] ÔásÁ>·Ü �bÍ<ó�«jáTT&�T $$<ó� sÁ¿±\ |�+&�¢ <ó�sÁ\qT

�d¿£]+#áeT� #îbÍÎ&�T. V�²sÁü � sÃE kÍjáT+çÔá+ Xø+¿£sÁjáT« |�+&�¢ <�T¿±D²�¿ì yî[¢ |�+&�¢ <ó�sÁ\qT �d¿£]+#�&�T.

�|Õ u¤eT�ýË <ó�sÁ\ |�{ì¼¿£qT |�]o*+º, ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T #î|�Î+&�.

1. ÿ¿£ eÖ$T&� |�+&�T <ó�sÁ m+Ôá?

2. ÿ¿£ �|¾ýÙ <ó�sÁ m+Ôá?

3. ÿ¿£ nsÁ{ì|�+&�T <ó�sÁ m+Ôá?

4. ÿ¿£ eÖ$T&� |�+&�T eT]jáTT ÿ¿£ nsÁ{ì|�+&�¢ yîTTÔáï+ <ó�sÁ m+Ôá?

5. ÿ¿£ eÖ$T&�|�+&�T, ÿ¿£ �|¾ýÙ eT]jáTT ÿ¿£ nsÁ{ì|�+&�¢ yîTTÔáï+ <ó�sÁ m+Ôá?

 �sÃE kÍjáT+çÔ��¿ì Xø+¿£sÁjáT« <�T¿±D+ýË 51 <��eT�¿±jáT\T, 6 eÖ$T&� ¿±jáT\T, 22 C²eT¿±jáT\T

eÖçÔáyûT $TÐý²sTT. |�+&�¢ ¿Ãd�+ Xø+¿£sÁjáT« ÿ¿£ ÔÃ³Å£� yîÞ²ß&�T. � ÔÃ³ýË 32 <��eT� #î³T¢, 25 eÖ$T&�

#î³T¢, 38 C²eT#î³T¢ �H��sTT. � ÔÃ³ýË yîTTÔáï+ m�� #î³T¢ �H��sTT?

<��eT� #î³¢ d�+K« R 3  2

eÖ$T&� #î³¢ d�+K« R 2  5

C²eT#î³¢ d�+K« R G 3  8

yîTTÔáï+ #î³¢ d�+K« R

�|Õ Å£L&�¿£qT MTsÁT #ûjáT>·\s�?

 <ó�sÁ\ |�{ì¼¿£

eÖ$T&�̀ `22

�|¾ýÙ ̀ `30

nsÁ{ì̀ `5

|�Ú#áÌ¿±jáT``95
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Addition of 2 - digit number with 2 - digit number
Now Sankaraiah wants to purchase fruits in wholesale. He purchased 60 pomegranates,
120 mangoes and 110 guavas.

Number of pomegranates purchased  =   60
Number of pomegranates remained in the shop  =   51
Now how many pomegranates does he had in total  =  60 + 51

Step 1:   We add digits in ones place first.
     0 + 1 = 1. Write ‘1’ in ones place.

Step 2:   We add digits in tens place.
     6 tens + 5 tens = 11 tens  = 10 tens + 1 ten

       = 1 hundred + 1 ten
     10 tens = 1 hundred

    Write ‘1’ in tens place and carry forward ‘1’ to hundreds place.
Step 3:   Write ‘1’ in hundreds place as there is no number in the

      hundred place.
      Total ‘111’ pomegranates are there.

Do these

Do the following.

a) b) c)

d)  35 G 78 R...................... e)   66 G 44 R ..........................

H

4 8

6 6

6 8

7 5

9 9

4 9

H

6 0

5 1

1

1 1 1

6 0

5 1

1

T O

H T O

T O H T O H T O

G

G

G G G
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2 n+Â¿\ d�+K«Å£�, 2 n+Â¿\ d�+K« Å£L&�T³
Xø+¿£sÁjáT« {ËÅ£�>± |�+&�¢qT ¿=H�\qTÅ£�H��&�T. nÔá&�T 60 <��eT� ¿±jáT\T, 120 eÖ$T&�¿±jáT\T,

110 C²eT¿±jáT\T ¿=H��&�T.

¿=q� <��eT�¿±jáT\ d�+K« R 60

<�T¿±D+ýË $TÐ* �q� <��eT�¿±jáT\ d�+K« R 51

Xø+¿£sÁjáT« e<�Ý �q� yîTTÔáï+ <��eT�¿±jáT\T R 60 G 51

kþbÍq+ ` 1: eTT+<�T »ÿ¿£³T¢µ kÍ�q+ýË �q� n+Â¿\qT Å£L&�+&�.

0 G 1 R 1 ÿ¿£³¢ kÍ�q+ýË »»1µµ s�jáT+&�.

kþbÍq+ ` 2: Ôás�ÇÔá »|�<�T\µ kÍ�q+ýË �q� n+Â¿\qT Å£L&�+&�.

6 |�<�T\T G 5 |�<�T\T R 11 |�<�T\T R 10 |�<�T\T G 1 |�~

       R 1 e+<� G 1 |�~

     10 |�<�T\T R 1 e+<�

|�<�T\ kÍ�q+ýË »1µ s�d¾ eT]jîTT¿£ »1µ� e+<�\kÍ�q+ e<�Ý s�jáT+&�.

kþbÍq+ ` 3: »»e+<�µµ\ kÍ�q+ýË eT]jîTT¿£ n+Â¿ ýñ<�T ¿£qT¿£ »»e+<�µµ\ kÍ�q+ýË

»1µ s�jáT+&�.

yîTTÔáï+ »»111µµ <��eT�¿±jáT\T

�H��sTT.

�$ #ûjáT+&�

¿ì+~ y�{ì� #ûjáT+&�.

n) �) �)

�)  35 G 78 R...................... �)   66 G 44 R ..........................

e+ |� ÿ

4 8

6 6

e+ |� ÿ

6 8

7 5

e+ |� ÿ

9 9

4 9

e+ |� ÿ

6 0

5 1

1

1 1 1

e+ |� ÿ

6 0

5 1

1

G

G

G G G
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f)  Rani bought 87 beads and Farhana bought 75 beads to make a necklace.
   How many beads they bought altogether?

Number of beads bought by Rani = 87
Number of beads bought by Farhana = 75
Total number of beads =

Let’s find the total mangoes with Shankaraiah.
Number of mangoes purchased = 120
Number of mangoes in stock =     6
Total number of mangoes = 126

Step 1:  We add ones, 0 + 6 = 6. Write ‘6’ in ones place.
Step 2:  We write ‘2’ in tens place as there is no other number to add.
Step 3:  We write ‘1’ in hundreds place as there is no other number to add.

Total “126” mangoes

Do these

Do the following.

 a) b) c)

d)  195 G 4 R...................... e)  300 G 2 R ..........................

f) A Television shop owner Ramesh had 123 TVs in his shop. Dealer supplied

6  more TVs to him. Total how many TVs does Ramesh have now?

Number of  TVs in the shop R

Number of  TVs supplied by the  dealer R

Total number of TVs Ramesh has in the shop R

8

5 0 1

GG G3

7 1 3

5

8 9 1

6

1 2 6

1 2 0
G

H T O

H T O

H T OH T OH T O

Addition of 3 digit number with 1 digit number:
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}) ÿ¿£ HîÂ¿¢dt ÔájáÖsÁT#ûjáTT³Å£� s�Dì 87 |�Pd�\q�, |��s�½H� 75 |�Pd�\qT

¿=H��sÁT. MsÁT �<�ÝsÁT ¿£*d¾ yîTTÔáï+ m�� |�Pd�\T ¿=H��sÁT?

s�Dì ¿=q� |�Pd�\ d�+K« R 87

|��s�½q ¿=q� |�Pd�\ d�+K« R 75

yîTTÔáï+ |�Pd�\ d�+K« R

Xø+¿£sÁjáT« e<�Ý �q� yîTTÔáï+ eÖ$T&� |�+&�¢qT ýÉ¿ìØ<�Ý+.

¿=q� eÖ$T&�|�+&�¢ d�+K« R 120

<�T¿±D+ýË $TÐ*�q� eÖ$T&�|�+&�¢ d�+K« R    6

yîTTÔáï+ eÖ$T&� |�+&�¢ d�+K« R 126

kþbÍq+ ` 1: yîTT<�³ »ÿ¿£³T¢µ Å£L&�eýÉqT, 0G6 R 6; »ÿ¿£³¢µ kÍ�q+ýË »6µ s�jáT+&�.

kþbÍq+ ` 2: »|�<�T\µ kÍ�q+ýË eT]jîTT¿£ d�+K« ýñ<�T ¿£qT¿£ |�<�T\ kÍ�q+ýË »2µ s�jáT+&�.

kþbÍq+ ` 3: »e+<�\µ kÍ�q+ýË eT]jîTT¿£ d�+K« ýñ<�T ¿£qT¿£ e+<�\ kÍ�q+ýË »1µ s�jáT+&�.

yîTTÔáï+ »126µ eÖ$T&�¿±jáT\T.

�$ #ûjáT+&�

e+ |� ÿ

 ¿ì+~ y�{ì� #ûjáT+&�.

 n) �) �)

�)  195 G 4 R...................... �)  300 G 2 R ..........................

}) sÁyûTwt jîTT¿£Ø fÉ*$ÈH� <�T¿±D+ýË 123 {¡M\T �H��sTT. &�\sY eTsÃ »6µ {¡M\T d�sÁ|��s�

     #ûXæ&�T. nÔá� e<�Ý yîTTÔáï+ m�� {¡M\T �H��sTT?

<�T¿±D+ýË �q� {¡M\ d�+K« R

&�\sY d�sÁ|��s�#ûd¾q {¡M\ d�+K« R

yîTTÔáï+ sÁyûTwt e<�Ý �q� {¡M\ d�+K« R

e+ |� ÿ

8

5 0 1

GG G

e+ |� ÿ

3

7 1 3

e+ |� ÿ

5

8 9 1

e+ |� ÿ

6

1 2 6

1 2 0
G

3 n+Â¿\ d�+K«Å£�, 1 n+Â¿\ d�+K« Å£L&�T³:
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2 2

1 3 2

1 1 0

Addition of  3 digit number with 2 digit number:

Now, we find out the total number of guavas in Shankaraiah’s shop.

Number of guavas purchased = 110
Number of guavas in stock =   22

Total number of guavas =  110 + 22 = 132

Step 1:  We add ones, 0 + 2 = 2. Write ‘2’ in ones place.
Step 2:  We add tens, 1 + 2 = 3. Write ‘3’ in tens place.

Step 3:  We write ‘1’ in hundreds place as there is no digit in the hundreds place.

Totally, “132” guavas are there.

G

GGG

4 0 5

7 0

G

1 1 1

3 6

Do the following.

 a) b) c)

d) 555 G 44 R...................... e)  936 G 52 R ..........................

f) In a zoo, mother elephant ate 111 bananas and little elephant ate 36
bananas. Totally, how many bananas were eaten?

    Number of bananas ate by mother elephant   R

    Number of bananas ate by little elephant   R

          Total number of bananas ate by both   R

Do these

Try these:

1. Find the number which is 50 more than 45.
2. Find the number which is 120 more than 60.

H T O

H T OH T OH T O

H T O
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e+ |� ÿ

2 2

1 3 2

1 1 0

3 n+Â¿\ d�+K«Å£�, 2 n+Â¿\ d�+K«qT Å£L&�T³:

�|�ð&�T Xø+¿£sÁjáT« <�T¿±D+ýË �q� yîTTÔáï+ C²eT¿±jáT\qT ýÉ¿ìØ<�Ý+.

¿=q� C²eT¿±jáT\ d�+K« R  110

<�T¿±D+ýË �q� C²eT¿±jáT\ d�+K« R    22

yîTTÔáï+ C²eT¿±jáT\ d�+K« R 110 G 22 R 132

kþbÍq+ ` 1: yîTT<�³ »ÿ¿£³T¢µ Å£L&�eýÉqT, 0G2 R 2; »ÿ¿£³¢µ kÍ�q+ýË »2µ s�jáT+&�.

kþbÍq+ ` 2: »|�<�T\µ kÍ�q+ýË �q� n+Â¿\qT Å£L&�+&�, 1G2R3. »|�<�T\µ kÍ�q+ýË »3µ s�jáT+&�.

kþbÍq+ ` 3: »e+<�\µ kÍ�q+ýË eT]jîTT¿£ d�+K« ýñ<�T ¿£qT¿£ e+<�\ kÍ�q+ýË »1µ s�jáT+&�.

yîTTÔáï+ »132µ C²eT¿±jáT\T �H��sTT.

G

GGG

e+ |� ÿ e+ |� ÿ e+ |� ÿ

4 0 5

7 0

G

e+ |� ÿ

1 1 1

3 6

 ¿ì+~ Å£L&�¿£\T #ûjáT+&�.

 n) �) �)

�)  555 G 44 R......................�)  936 G 52 R ..........................

})  ÿ¿£ È+ÔáT ç|�<�sÁôqXæ\ýË �q� Ôá*¢ @qT>·T 111 nsÁ{ì|�+&�¢qT, |¾\¢ @qT>·T 36 nsÁ{ì|�+&�¢qT

     ÜH��sTT. n$ Âs+&�Ö ¿£*d¾ m�� nsÁ{ì|�+&�T¢ ÜH��sTT?

Ôá*¢ @qT>·T Üq� nsÁ{ì|�+&�¢ d�+K« R

|¾\¢ @qT>·T Üq� nsÁ{ì|�+&�¢ d�+K« R

Âs+&�Ö ¿£*d¾ Üq� nsÁ{ì|�+&�¢ d�+K«         R

�$ #ûjáT+&�

ç|�jáTÜ�+#á+&�

1. 45 ¿£H�� 50 �|<�Ý<îÕq d�+K« @~ ?

2. 60 ¿£H�� 120 �|<�Ý<îÕq d�+K« @~ ?
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1 2 6
1 3 2

2 5 8G

G

7 6 3

1 2 3G

6 0 7

3 1 2G

4 3 2

5 6 1G

Do these

Addition of  3 digit number with 3 digit number:
Now Shankaraiah had 111 pomegranates, 126 mangoes and 132 guavas in his shop.
How many mangoes and guavas are there in total.

Do the following sums.

   a) b) c)

   d)  555 G 144 R...................... e)  836 G 152 R ..........................

Addition by using blocks

The number of eggs supplied in the first week of a month

to Koduru Primary school is 345.  As there were some

holidays, in the second week only 234 eggs were
supplied. How many eggs were supplied in two weeks?

(Use base 10 blocks)

H T O

H T O

H T OH T OH T O

Number of mangoes   =  126
Number of guavas   =  132
Total number of mangoes and guavas = 126 + 132

Step 1:  We add ones, 6 + 2 = 8. Write ‘8’ in ones place.
Step 2:  We add tens, 2 + 3 = 5. Write ‘5’ in tens place.
Step 3:  We add hundreds place, 1 + 1 = 2. Write ‘2’ in hundreds place.

Example:   Help Shankaraiah to find total number of fruits in his shop.
Number of pomegranates = 111
Number of mangoes = 126
Number of guavas = 132
Total number of fruits = 111 + 126 + 132

=
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e+ |� ÿ

1 2 6
1 3 2

2 5 8G

e+ |� ÿ

G

e+ |� ÿ

7 6 3

1 2 3G

e+ |� ÿ

6 0 7

3 1 2G

e+ |� ÿ

4 3 2

5 6 1G

�$ #ûjáT+&�

3 n+Â¿\ d�+K«Å£�, 3 n+Â¿\ d�+K«qT Å£L&�T³:

�|�ð&�T Xø+¿£sÁjáT« e<�Ý 111 <��eT�¿±jáT\T, 126 eÖ$T&� ¿±jáT\T, 132 C²eT¿±jáT\T

�H��sTT. eÖ$T&� ¿±jáT\T, C²eT¿±jáT\T ¿£*|¾ yîTTÔáï+ m��?

eÖ$T&�¿±jáT\ d�+K« R 126

C²eT¿±jáT\ d�+K« R 132

eÖ$T&�¿±jáT\T eT]jáTT C²eT¿±jáT\ yîTTÔáï+ R 126 G 132

kþbÍq+ ` 1: yîTT<�³ »»ÿ¿£³T¢µµ kÍ�q+\ýË �q� n+Â¿\qT Å£L&�+&� R 6G2R8 »»ÿ¿£³¢µµ

kÍ�q+ýË »»8µµ s�jáT+&�.

kþbÍq+ ` 2: »»|�<�T\µµ kÍ�q+ýË �q� n+Â¿\qT Å£L&�+&�, 2G3R5. »»|�<�T\µµ kÍ�q+ýË

»»5µµ s�jáT+&�.

kþbÍq+ ` 3: »»e+<�\µµ kÍ�q+ýË n+Â¿\qT Å£L&�+&� 1G1R2 e+<�\ kÍ�q+ýË »»2µµ

� s�jáT+&�.

�<�V�²sÁD: <�T¿±D+ýË �q� yîTTÔáï+ |�+&�¢qT ýÉ¿ìØ+#á&�+ýË »»Xø+¿£sÁjáT«µµÅ£�

d�V�äjáT+ #ûjáT+&�.

<��eT� ¿±jáT\ d�+K« R 111

eÖ$T&� ¿±jáT\ d�+K« R 126

C²eT¿±jáT\ d�+K« R 132

yîTTÔáï+ |�+&�¢ d�+K« R 111 G 126 G 132 R

       ¿ì+~ Å£L&�¿£\T #ûjáT+&�.

   n) �) �)

   �)  555 G 144 R...................... �)  836 G 152 R ..........................

u²¢¿ù\ �<ó�sÁ+>± Å£L&�³+

¿Ã&�ÖsÁT çbÍ<�̧$T¿£ bÍsÄÁXæ\Å£� yîTT<�{ì y�sÁ+ýË 345 >·T&�T¢ d�sÁ|��s�

#ûXæsÁT. Âs+&�e y�sÁ+ýË ¿=�� �d\eÚ\T �q�+<�Tq 234 >·T&�T¢ eÖçÔáyûT

d�sÁ|��s� #ûjáT&�yîT®q~. yîTTÔáï+ 2 y�s�\ýË � bÍsÄÁXæ\Å£� yîTTÔáï+ m��

>·T&�T¢ d�sÁ|��s� #ûXæsÁT? (10 u²¢¿ù\qT �|�jîÖÐ+#á+&�.)
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Hundreds Tens Ones 100 10 1

3 4 5

2 3 4

5 7 9 5 7 9

8 6

1 3

7 8 6

3

5 4 7

3 2

1 5 6

8 4 3

 We can write the same, as follows.
345 G 234 R 300 G 40 G 5 G 200 G 30 G 4

R 300 G 200 G 40 G 30 G 5 G 4

R 500 G 70 G 9

R 579

Eggs supplied in the first week =    _______
Eggs supplied in the second week =    _______
Total number of eggs supplied =    _______

Exercise - 1

1)  Add the following.
a) b) c) d)

2)   Match the following
85 G 90 318

262 G 4 300

303 G 15 175

444 G 222 266

100 G 200 666

H T OH T OH T OH T O

+
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e+<�\T |�<�T\T ÿ¿£³T¢ 100 10 1

3 4 5

2 3 4

5 7 9 5 7 9

8 6

1 3

e+ |� ÿ

7 8 6

3

e+ |� ÿ

5 4 7

3 2

e+ |� ÿ

1 5 6

8 4 3

e+ |� ÿ

�|Õ |�{ì¼¿£qT |�]o*+º, ¿ì+~ $<ó�+>± s�jáT+&�.

345 G 234 R 300 G 40 G 5 G 200 G 30 G 4

R 300 G 200 G 40 G 30 G 5 G 4

R 500 G 70 G 9

R 579

yîTT<�{ì y�sÁ+ýË d�sÁ|��s� #ûjáT�&�q >·T&�T¢ R 

Âs+&�e y�sÁ+ýË d�sÁ|��s� #ûjáT�&�q >·T&�T¢ R 

yîTTÔáï+ d�sÁ|��s� #ûd¾q >·T&�T¢ R 

nuó²«d�+ ` 1

1. ¿ì+~ Å£L&�¿£\T #ûjáT+&�.

n) �) �) �)

2. ¿ì+~ y�{ì� ÈÔá|�sÁ#á+&�.

85 G 90 318

262 G 4 300

303 G 15 175

444 G 222 266

100 G 200 666

+
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3. Find the missing number.
a) 3 2 6

G 3

b) 3

G 1 2 5

7 5 8 4 6 8

c)

G 7 3 5

9 9 9

1 3

1 0 6

Answer the following.

a) How many runs did India score on the first day?

b) How many more runs did India score than the first day?

c) What you have to find in the problem ?

d) Which operation you follow to solve the problem?

5. In Ramapuram primary school 106 students were present and 13 students were

    absent on a day. Find the total number of students studying in the school.

Number of students present    =  106

Number of students absent    =    13

Total Number of students studying in the school   =  106 + 13

6.  In a train there are 145 people in one compartment and 130 people in another

     compartment. How many people are there in two compartments?

Number of  people in the first compartment =

Number of people in the second compartment     =

Total number of people in both compartments     =

4. In a test cricket match team India scored 216 runs on the first day. Second day it
     scored 172 runs more than the first day. How many runs were scored on the second day?

H T O
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3. U²°\T |�P]+#á+&�

n) 3 2 6

G 3

�) 3

G 1 2 5

7 5 8 4 6 8

�)

G 7 3 5

9 9 9

e+ |� ÿ

1 3

1 0 6

¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T #î|�Î+&�.

n) uó²sÁÔáÈ³T¼ yîTT<�{ì sÃE #ûd¾q |�sÁT>·T\T m��?

�) yîTT<�{ì sÃE ¿£H��, Âs+&�e sÃE m�� mÅ£�Øe |�sÁT>·T\T #ûd¾+~?

�) � ýÉ¿£ØýË MTsÁT @$T ¿£qT>=H�*?

�)� d�eTd�« kÍ<ó�qÅ£� úeÚ @ >·DìÔá ç|�¿ìjáT bÍ{ìkÍïeÚ?

5. s�eÖ|�ÚsÁ+ bÍsÄÁXæ\ýË ÿ¿£sÃE 106 eT+~ $<�«sÁT�\T V�äÈsÁT nsTTH�sÁT. 13 eT+~ $<�«sÁT�\T

bÍsÄÁXæ\Å£� s�ýñ<�T. nsTTq � bÍsÄÁXæ\ýË� yîTTÔáï+ $<�«sÁT�\ d�+K« m+Ôá?

V�äÈsÁT nsTTq $<�«sÁT�\ d�+K« R 106

bÍsÄÁXæ\Å£� s�� $<�«sÁT�\ d�+K« R   13

yîTTÔáï+ bÍsÄÁXæ\ýË� $<�«sÁT�\ d�+K« R 106 G 13

6. ÿ¿£ ÂsÕ\T�+&� ýË� ÿ¿£ uËÐýË 145 eT+~ ç|�jáÖDìÅ£�\T, eTs=¿£ uËÐýË 130 eT+~ ç|�jáÖDìÅ£�\T �

H��sÁT. � Âs+&�T uËÐ\ýË ¿£*d¾ yîTTÔáï+ m+Ôá eT+~ �H��sÁT?

yîTT<�{ì uËÐýË� ç|�jáÖDìÅ£�\ d�+K«         R

Âs+&�e uËÐýË� ç|�jáÖDìÅ£�\ d�+K«         R

Âs+&�T uËÐ\ýË ¿£*d¾ yîTTÔáï+ ç|�jáÖDìÅ£�\ d�+K« R

4. ÿ¿£ fÉdt¼ eÖ«#YýË uó²sÁÔáÈ³T¼ yîTT<�{ìsÃE 216 |�sÁT>·T\T #ûd¾+~. Âs+&�e sÃE yîTT<�{ì sÃE ¿£H��

172 |�sÁT>·T\T mÅ£�Øe #ûd¾+~. nsTTq Âs+&�e sÃE #ûd¾q |�sÁT>·T\T m��?
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Addition of  3 digit number with 1 digit number
(Carry forward)
Kiddy Bank:
Venu and Ramya are twins and studying 3rd class. They
wanted to donate money on the occasion of their birthday.
They opened their kiddy banks and counted their savings.
Venu had  ` 639, his mother gave him  ` 9.
Then he added ` 9 to his saved amount  ` 639 = 639 + 9
Step 1: We add ones,

9 ones + 9 ones = 18 ones

10 ones = 1 ten

So, we write ‘8’ in ones place and carry forward ‘1’ to tens place.

Step 2: We add tens, 3 tens + 1ten (carry forward) = 4 tens.
   We write ‘4’ in tens place.

Step 3:  We write ‘6’ in hundreds place as there is no other number

    in hundreds place.

   Venu had a total of  ` 648 with him.

Do these

           Do the following.

 a) b) c)

d)  678 G 7 R e)  836 G 6 R 

f)     ‘5’ more than 205  =

g)     ‘9’ more than 369  = 

8

6 3 9

9

1

6 4 8

6 3 9

9

1

7 9 5

8

4 0 3

9

5 6 8

7

G

G

GGG

      = 10 ones + 8 one
      = 1 ten + 8 ones

H T O

H T O

H T OH T OH T O
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3 n+Â¿\ d�+K«Å£�, 1 n+Â¿ d�+K«qT Å£L&�T³ (kÍ�q eÖ]Î&�)

¿ì&�¦u²«+¿ù:

yûDT eT]jáTT sÁeT« ¿£e\\T. MsÁT 3e ÔásÁ>·Ü #á<�TeÚÔáTH��sÁT. MsÁT

ÔáeT |�Ú{ì¼qsÃEq ¿=+Ôá kõeTT�qT nH�<�̧ XøsÁD²\jáÖ�¿ì $s�Þø+

�eÇ<�\T#áTÅ£�H��sÁT. B�Â¿Õ MsÁT ÔáeT ¿ì&�¦u²«+¿ùqT Ôî]º y�sÁT

<�#áTÅ£�q� &��TÒqT ýÉ¿ìØ+#ákÍ>±sÁT.

yûDT ¿ì&�¦u²«+¿ùýË ̀ 639 �H��sTT. y�Þøß neT� ̀ 9 �ºÌ+~.

�|�ð&�T yûDT e<�Ý �q� `639 Å£�, `9 \qT Å£L&�sÁT R 639 G 9

kþbÍq+ ` 1: »»ÿ¿£³¢µµ kÍ�q+ýË� n+Â¿\T Å£L&�>±,

9 ÿ¿£³T¢ G 9 ÿ¿£³T¢ R 18 ÿ¿£³T¢

R 10 ÿ¿£³T¢ G 8ÿ¿£³T¢

R 1 |�~ G 8 ÿ¿£³T¢

10 ÿ¿£³T¢ R 1 |�~

¿±eÚq 8� ÿ¿£³¢ kÍ�q+ýË s�d¾, 1� kÍ�q eÖ]Î&� ¿Ãd�+ |�<�T\ kÍ�q+ýË s�jáÖ*.

kþbÍq+ ` 2: »»|�<�T\µµ kÍ�q+ýË �q� n+Â¿\qT Å£L&�>±,

3|�<�T\T G 1|�~  R  4|�<�T\T ¿£qT¿£ »»|�<�T\µµ kÍ�q+ýË »»4µµ

s�kÍï+.

kþbÍq+ ` 3: »»e+<�\µµ kÍ�q+ýË eTs=¿£ d�+K« ýñ<�T ¿£qT¿£ »»6µµ s�kÍï+.

�|�ð&�T yûDT e<�Ý `648 �H��sTT.

�$ #ûjáT+&�
¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

 n) �) �)

�)  678 G 7 R �)  836 G 6 R 

})  205 ¿£H�� 5 mÅ£�ØyîÕq d�+K« R 

�TT) 369 ¿£H�� 9 mÅ£�ØyîÕq d�+K« R 

8

e+ |� ÿ

6 3 9

9

1

6 4 8

e+ |� ÿ

6 3 9

9

1

e+ |� ÿ

7 9 5

8

e+ |� ÿ

4 0 3

9

e+ |� ÿ

5 6 8

7

G

G

GGG
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Do these

7

4 6 8

1 9

1

G

4 8 7

4 6 8

1 9

1

G

6 1 6

8 5G
5 8 7

3 4G

3 4 5

2 7G

       Do the following.

a) b) c)

d)  709 G 83 R e)  216 G 96 R 

Addition of  3 digit number with 2 digit number (Carry forward)

Ramya saved  ` 468 and her mother gave ` 19.  Then she added ̀  19 to her savings.
Total amount with Ramya  = 468 + 19

Step 1:  We add ones, 8 ones + 9 ones = 17 ones = 10 ones + 7 ones

= 1 ten + 7 ones

Addition of  3 digit number with
3 digit number (Carry forward)

Venu and Ramya went to Jyothi Orphan-
age home to donate money. Venu donated
`648 and Ramya donated  ` 487.
Now let’s find total amount they donated
to orphenage home.

H T O

H T O

H T OH T OH T O

10 ones = 1 ten

 So, we write ‘7’ in ones place and carry forward ‘1’ to tens place.

Step 2:  We add tens, 6 tens + 1ten + 1 ten (carry forward) = 8 tens.
   We write ‘8’ in tens place

Step 3:  We write ‘4’ in hundreds place as  there is no other number to add

   Ramya  had a total of  `  487 with her.
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10 ˇø£≥T¢ R 1|ü~

Ç$ #˚j·T+&ç:

7

e+ |ü ˇ

4 6 8
1 9

1

G

4 8 7

e+ |ü ˇ

4 6 8
1 9

1

G

e+ |ü ˇ

6 1 6
8 5G

e+ |ü ˇ

5 8 7
3 4G

e+ |ü ˇ

3 4 5
2 7G

øÏ+~ …̋ø£ÿ\T #̊j·T+&ç.

n) Ä) Ç)

á)  709 G 83 R ñ)  216 G 96 R 

3 n+¬ø\ dü+K´≈£î, 2 n+¬ø\ dü+K´qT ≈£L&ÉT≥ (kÕúqe÷]Œ&ç):
s¡eT´ e<ä› ` 468 ñHêïsTT. yêfīfl neTà ` 19 Ç∫Ã+~. s¡eT´ ‘·q e<ä› ñqï

kıeTTàøÏ ` 19 ø£*|æ+~ R 468 G 19
k˛bÕq+ ` 1: ªªˇø£≥¢µµ kÕúq+˝Àì n+¬ø\T ≈£L&É>±,

8 ˇø£≥T¢ G 9 ˇø£≥T¢ R 17 ˇø£≥T¢
R 10 ˇø£≥T¢ G 7ˇø£≥T¢  R 1|ü~ G 7ˇø£≥T¢.

ø£qTø£ 7qT ˇø£≥¢ kÕúq+˝À sêdæ, 1ì |ü<äT\ kÕúq+˝Àì n+¬ø≈£î ø£\T|ü⁄‘ê+.
k˛bÕq+ ` 2: ªª|ü<äT\µµ kÕúq+˝À ñqï n+¬ø\qT ø£\T|ü>±,

6 |ü<äT\T G 1 |ü~ G 1 |ü~ R 8 |ü<äT\T ø£qTø£ 8qT ªª|ü<äT\µµ kÕúq+ À̋ sêkÕÔ+.

k˛bÕq+ ` 3: ªªe+<ä\µµ kÕúq+˝À eTs=ø£ dü+K´ Ò̋q+<äTq ªª4µµ sêkÕÔ+.

Ç|ü&ÉT s¡eT´ e<ä› ` 487 ñHêïsTT.

3 n+¬ø\ dü+K´≈£î, 3 n+¬ø\ dü+K´qT ≈£L&ÉT≥ (kÕúq e÷]Œ&ç):
y˚DT eT]j·TT s¡eT´\ Ç<ä›] &ÉãT“\T

<ëq+ #̊j·TT≥≈£î CÀ´‹ nHê<∏äX̄s¡D≤\j·÷ìøÏ

#̊s¡T≈£îHêïs¡T. ẙDT ‘·q e<ä› ñqï ` 648, s¡eT´

‘·q e<ä› ñqï ` 487 s¡÷bÕj·T\T $sêfī+>±

Ç#êÃs¡T.

yês¡T Ç<ä›s¡T ø£*dæ yÓTT‘·Ô+ m+‘· kıeTTà

nHê<∏ä X¯s¡D≤\j·÷ìøÏ $sêfi¯+>± Ç#êÃs√

˝…øÏÿ<ë›+.
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1

6 4 8

G 4 8 7

5

1 1

6 4 8

G 4 8 7

3 5

1 1

6 4 8

G 4 8 7

1 1 3 5

Thousands

   9   7   8

8 4 5

3 6 5

5 6 7

3 1 6GG

a) b)

Exercise - 2

Step 1:   We add 8 ones  and 7 ones = 15 ones

                15 ones = 1 ten + 5 ones

     Write 5 in ones place and 1 is carried over to ten’s place

Step 2:  We add 4 tens and 8 tens and 1 ten (carry over) = 13 tens

     13 tens = 1 hundred + 3 tens

     Write 3 in tens place and 1 is carried over to hundred’s place
Step 3:  We  add 6 hundreds, 4 hundreds and 1 hundred (carry over)

    = 11 Hundreds = 10 hundreds + 1 hundred

    = 1 thousand + 1 hundred

         (10 Hundreds = 1 Thousand)

        Write ‘1’ in thousands place and ‘1’ in hundreds place
Total amount donated by Venu and Ramya = `648 + `487 =  `1135

   7   5   5

c) 869 G 371 R d) 704 G 379 R

H T OTh

H T OTh

H T OTh

H T OThH T OTh

Hundreds Tens Ones 1000 100 10 1

Example:
Father brought dresses for Venu and Ramya. Venu’s dress cost `755  and   Ramya’s   dress

cost  ` 978.  What is the total amount spent on the dresses?
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yû e+ |� ÿ

1

6 4 8

G 4 8 7

5

yû e+ |� ÿ

1 1

6 4 8

G 4 8 7

3 5

yû e+ |� ÿ

1 1

6 4 8

G 4 8 7

1 1 3 5

     yû\T  e+<�\T    |�<�T\T ÿ¿£³T¢ 1000       100     10      1

   9   7   8

yû e+ |� ÿ

8 4 5

3 6 5

yû e+ |� ÿ

5 6 7

3 1 6GG

n) �)

nuó²«d�+ ` 2

kþbÍq+ ` 1: 8 ÿ¿£³T¢ eT]jáTT 7 ÿ¿£³T¢ Å£L&�>± 15 ÿ¿£³T¢

15 ÿ¿£³T¢ R 1 |�~ G 5 ÿ¿£³T¢

5 qT »»ÿ¿£³¢µµ kÍ�q+ýË s�d¾, 1 � »»|�<�T\µµ kÍ�H��¿ì ¿£\T|�eýÉqT.

kþbÍq+ ` 2: 4 |�<�T\T, 8 |�<�T\T eT]jáTT 1 |�~ (kÍ�q eÖ]Î&�) R 13 |�<�T\T

13 |�<�T\T R 1 e+<� G 3 |�<�T\T

3 qT »»|�<�T\µµ kÍ�q+ýË s�d¾, 1 � »»e+<�\µµ kÍ�H��¿ì ¿£\T|�eýÉqT.

kþbÍq+ ` 3: 6 e+<�\T, 4 e+<�\T eT]jáTT 1 e+<� (kÍ�q eÖ]Î&�) ¿£\T|�>±,

11 e+<�\T R 10 e+<�\T G 1 e+<�

     R 1 yûsTT G 1 e+<� (10 e+<�\T R 1 yûsTT)

1 � yû\ kÍ�q+ýËqT eTs=¿£ 1 � e+<�\ kÍ�q+ýËqT s�jáTeýÉqT.

yûDT eT]jáTT sÁeT« �<�ÝsÁT ¿£*d¾

�ºÌq $s�Þø+ R ` 648 G ` 487 R ` 1135.

�<�V�²sÁD:

yûDT eT]jáTT sÁeT« ¿=sÁÅ£� y�Þøß H�q� ç&�d�Tà Ôî#�Ì&�T. yûDT ç&�d�Tà <ó�sÁ ` 755 eT]jáTT sÁeT« ç&�d�Tà <ó�sÁÁ

` 978. �<�Ý] ç&�d�Tà\ yîTTÔáï+ <ó�sÁ m+Ôá?

   7   5   5

�) 869 G 371 R �) 704 G 379 R
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2.   Ramya did the additions as shown below. Correct the errors if any.

a) 3    4    6 b) 5    6    7 c) 8    1    5
       + 1    7    2        + 3    1    6       + 3    2    3

     4 1    1    8      8 7    1    3      1 1    3    8

a) 2    4    3 b)             5 c)
       +     2        + 4    3    6       + 6    3    9

6    7    2 7    8    1 9    0    8

8

4 7 0

G G G

5.   Circle the correct answer.  One is done for you.

a) 48 + 96 134 144 154

b) 312 + 9 3111 311 321

c) 430 + 74 504 494 410

d) 4529 + 678 1107 4197 5207

e) 675 + 735 1410 1310 1400

6. A shopkeeper Rafi had 783 candle packets. He purchased 237 candle packets from Imthiaz.

How many candle packets does Rafi have now?

7. In a school library there are 468 books in Telugu and 655 books in English. How many

books are there in the library?
8. Find the sum of the biggest 3 digit number and the biggest 2 digit number.

9. Find the sum of the  biggest 3 digit number  and smallest 3 digit number.

3.   Write the missing number in the boxes.

4.   Write the numbers in the table and find the sum. One is done for you.
a) 462 G 8 R         b)  325 G 42 R             c) 33 G 333 R

4 6 2

H T OH T OH T O
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2. sÁeT« ýÉ¿£Ø\qT � ¿ì+~ $<ó�+>± #ûd¾+~. d�] #áÖ&�+&�?

n) 3    4    6 �) 5    6    7 �) 8    1    5
       + 1    7    2        + 3    1    6       + 3    2    3

     4 1    1    8      8 7    1    3      1 1    3    8

n) 2    4    3 �)             5 �)

       +     2        + 4    3    6       + 6    3    9

6    7    2 7    8    1 9    0    8

e+ |� ÿ

8

4 7 0

G

e+ |� ÿ

G

e+ |� ÿ

G

5. d�ÂsÕq d�eÖ<ó�H��¿ì »»d�Tq�µµ #áT³¼+&�. ÿ¿£{ì MT¿Ãd�+ #ûjáT�&�+~.

n) 48 G 96 134 144 154

�) 312 G 9 3111 311 321

�) 430 G 74 504 494 410

�) 4529 G 678 1107 4197 5207

�) 675 G 735 1410 1310 1400

6. sÁ|�Ó <�T¿±D+ýË 783 ¿=y=ÇÔáTï\ bÍÂ¿³T¢ �H��sTT. �+ÜjáÖCÙ e<�Ý qT+&� sÁ|�Ó 237 ¿=y=ÇÔáTï\ bÍÂ¿³T¢

¿=H��&�T. �|�ð&�T sÁ|�Ó e<�Ý yîTTÔáï+ m�� ¿=y=ÇÔáTï\ bÍÂ¿³T¢ �H��sTT?

7. ÿ¿£ bÍsÄÁXæ\ ç>·+<¸�\jáT+ýË 468 Ôî\T>·T |�Úd�ï¿±\T, 655 �+^¢wt |�Úd�ï¿±\T �H��sTT. nsTTq

� ç>·+<¸�\jáT+ýË yîTTÔáï+ m�� |�Úd�ï¿±\T �H��sTT?

8. eTÖ&�+Â¿\ nÜ�|<�Ý d�+K«, Âs+&�+Â¿\ nÜ �|<�Ý d�+K«\ yîTTÔáï+ m+Ôá?

9. eTÖ&�+Â¿\ nÜ �|<�Ý d�+K«, eTÖ&�+Â¿\ nÜ ºq� d�+K«\ yîTTÔáï+ m+Ôá?

3. U²°\ýË d�ÂsÕq d�+K«\T s�jáT+&�.

4. d�+K«\qT U²° �|fÉ¼\ýË s�jáT+&�. �ºÌq Å£L&�¿£\T #ûjáT+&�. ÿ¿£{ì MT ¿Ãd�+ #ûjáT�&�+~.

n) 462 G 8 R         �)  325 G 42 R             �) 33 G 333 R

4 6 2
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Mariyamma is a farmer. She
harvests different types of
vegetables everyday. One day,
Shameela and Jakeera visited
Mariyamma’s farm to collect
some details regarding their
project. Mariyamma gave the
details. Then they prepared a
table as per the information
given by Mariyamma.

Details

Now, answer the following questions from the above information.

1) What leafy vegetables Mariyamma collected more ? ________
2) Which leafy vegetable bunch costs more today ? ________
3) How many more bottle gourds are harvested than pumpkin today? ________
4) How many less green bananas are harvested than snake gourd? ________
5) If you want, one hundred bunches of Roselle, how many more bunches are

required?  _________________

4 Subtraction

1 Bottle gourd 68 15

2 Pumpkin 35 40

3 Green banana 54 6

4 Snake gourd 66 12

5 Bunche of Coriander 40 25

6 Bunche of  Celery (Thotakura) 97 4

7 Bunche of Roselle (Gongura) 70 5

CHAPTER

Sl. No. Name of the
vegetable

Number of
vegetables

Cost of each vegetable
in `

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



83ÔásÁ>·Ü ` 3  >·DìÔá+ÔÃ >·eT�ÔáTï

eT]jáTeT� ÿ¿£ Âs ÕÔ áT. �yîT sÁ¿ £sÁ¿±\

Å£LsÁ>±jáT\qT |�+&�d�Tï+~. ÿ¿£ sÃE w�MT\

eT]jáTT È¿¡sÁ Å£LsÁ>±jáT\ ÔÃ³Å£� çbÍCÉÅ£�¼

|�� |�P]ï#ûjáT&�+ ¿Ãd�+ yîÞ²ßsÁT. eT]jáTeT�

y�]¿ì ¿±e\d¾q d�eÖ#�s��� �ºÌ+~.

eT]jáTeT� �ºÌq d�eÖ#�s��� y�sÁT |�{ì¼¿£ýË

qyîÖ<�T #ûXæsÁT.

$esÁeTT\T

�|Õ d�eÖ#�sÁ+ �<ó�sÁ+>± ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�q+ s�jáT+&�.

n) eT]jáTeT� @ sÁ¿£+ �Å£�Å£LsÁ\T mÅ£�Øe>± �d¿£]+º+~? 

�) @ sÁ¿£+ �Å£� Å£LsÁ\ <ó�sÁ mÅ£�Øe>± �+~? 

�) >·TeT�&� ¿±jáT\¿£H�� �q|�¿±jáT\T m�� mÅ£�Øe �d¿£]+º+~? 

�) bõ³¢¿±jáT\ ¿£H�� nsÁ{ì ¿±jáT\T m�� ÔáÅ£�Øe �d¿£]+º+~? 

�) úÅ£� 100 >Ã+>·ÖsÁ ¿£³¼\T ¿±y�\+fñ �+¿± m�� ¿£³¼\T ned�sÁ+ neÚÔ�sTT? 

4 rd¾yûÔá

n<ó�«jáT+

1 �q|�¿±jáT (kõsÁ¿±jáT) 68 15

2 >·TeT�&�¿±jáT 35 40

3 nsÁ{ì¿±jáT 54 6

4 bõ³¢¿±jáT 66 12

5 ¿=ÜïMTsÁ ¿£³¼\T 40 25

6 ÔÃ³Å£LsÁ ¿£³¼\T 97 4

7 >Ã+>·ÖsÁ ¿£³¼\T 70 5

e.d�+K« Å£LsÁ>±jáT\ �|sÁT Å£LsÁ>±jáT\ d�+K« ç|�Ü Å£LsÁ>±jáT <ó�sÁ ` ýË¢
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 Subtraction of 1 digit number from 3 digit number
 Hand fan maker

Danayya is a Palm leaf hand fan maker. He made 128 fans, from those his grandson
 Muthaian took 3 fans for his friends. How many hand fans remain with Danayya?

 Total number of Palm leaf hand fans R   1   2   8

 Number of fans Muthaiah took R `         3

 Number of hand fans remaining R

 Step 1: Subtraction in Ones place

a) Subtract 3 from 8
b) 8 ones – 3 ones = 5 ones

c) Write the answer 5 in ones place.

 Step 2: Subtraction in Tens and
Hundreds place
Write answer 2 in Tens place
and 1 in Hundreds place as
there is no number to subtract.

  H      T    O

` 3

5

1 2 8

  H      T    O

` 3

1 2 5

1 2 8

            Now Danayya has 125 hand fans to sell.
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 3 n+Â¿\ d�+K« qT+º 1 n+Â¿ d�+K«qT rd¾yûjáT³+

 $d�q¿£çsÁ\T ÔájáÖsÁT#û�d e«¿ìï

<�qjáT« Ô�{ì �Å£�\ÔÃ $d�q¿£çsÁ\T ÔájáÖsÁT #ûkÍï&�T. 128 $d�q¿£çsÁ\T ÔájáÖsÁT#ûkÍ&�T. y�{ìýË qT+º nÔá� eTqe&�T

eTTÔáïjáT« 3 $d�q¿£çsÁ\qT Ôáq $TçÔáT\ ¿Ãd�+ rd�TÅ£�H��&�T. �|�Ú&�T <�qjáT« e<�Ý m��  $d�q¿£çsÁ\T $TÐ* �H��sTT?

yîTTÔáï+ Ô�{ì �Å£�\ $d�q¿£çsÁ\ d�+K«  R   1   2   8

eTTÔáïjáT« rd�TÅ£�q� $d�q¿£çsÁ\ d�+K«  R `    3

$TÐ*q $d�q¿£çsÁ\ d�+K«  R

kþbÍq+`1:  ÿ¿£³¢ kÍ�q+ýË rd¾yûÔá

n) 8 qT+º 3 qT rd¾yûjáT+&�

�) 8 ÿ¿£³T¢ ` 3 ÿ¿£³T¢ R 5 ÿ¿£³T¢

�) 5 qT ÿ¿£³¢ kÍ�q+ýË s�jáT+&�.

kþbÍq+` 2: |�<�T\T eT]jáTT e+<�\ kÍ�q+ýË

 rd¾yûÔá

  |�<�T\T eT]jáTT e+<�\ kÍ�H�ýË¢

  @MT ýñeÚ ¿±�{ì¼ |�<�T\ kÍ�q+ýË

  2, e+<�\ kÍ�q+ýË 1 s�jáT+&�.

  �|�ÚÎ&�T <�qjáT« e<�Ý 125 Ô�{ì�Å£�\ $d�q ¿£çsÁ\T neT�{²�¿ì d¾<�Æ+>± �H��sTT.

e+ |� ÿ

` 3

5

1 2 8

e+ |� ÿ

` 3

1 2 5

1 2 8
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a) H T O b) H T O c) H T O d) H T O

Subtraction of 2 digit number from
3 digit number

Danayya sells hand fans in the
villages by cycle. In a village,
Karimullah stopped Danayya to buy
a dozen fans to donate to an old age
home. After selling the dozen fans,
Danayya wants to count the number
of fans now with him.

Number of hand fans with Danayya =

Number of hand fans bought by Karimullah =

Number of hand fans remained =

H T O

 ` 1 2

1 2 5

Subtraction in Ones place
Step 1:

1)  Subtract 2 from 5 =
2)  5 Ones – 2 Ones = 3 Ones =

3)  Write answer 3 in Ones place =

H T O

` 1 2

1 2 5

3

2 3 6

` 5

3 2 7

` 4

4 7 8

` 7

5 6 9

` 6

Do these

Do you know:
(1 Dozen = 12 items)
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<�qjáT« �dÕ¿ìýÙ �|Õ d�MT|� ç>±eÖ\Å£� yî[ß #ûÜ

$d�q¿£sÁç\T neTT�ÔáT+{²&�T. ÿ¿£ ç>±eT+ýË ¿£¯eTTý²¢

<�qjáT«qT �|¾ e�<�ÆçXøeÖ�¿ì <�q+ #ûjáT&��¿ì ÿ¿£

&�ÈqT $d�q¿£çsÁ\T ¿=H��&�T. &�ÈqT $d�q¿£çsÁ\T n$T�q

Ôás�ÇÔá <�qjáT« Ôáq e<�Ý �q� $d�q¿£çsÁ\qT ýÉ¿£Ø�|³T¼

¿Ãy�\� nqTÅ£�H��&�T.

3 n+Â¿\ d�+K« qT+º 2 n+Â¿\ d�+K«qT rd¾yûjáT³+

<�qjáT« e<�Ý �q� $d�q¿£çsÁ\ d�+K« R

¿£̄ eTTý²¢ ¿=q� $d�q¿£çsÁ\ d�+K« R

$TÐ*q $d�q¿£çsÁ\ d�+K« R

e+ |� ÿ

` 1 2

1 2 5

ÿ¿£³¢ kÍ�q+ýË rd¾yûÔá

kþbÍq+ ` 1:

1)  5 qT+&� 2 qT rd¾yûjáT+&� R

2)  5 ÿ¿£³T¢ ` 2 ÿ¿£³T¢ R 3 ÿ¿£³T¢ R

3)  ÿ¿£³¢ kÍ�q+ýË 3 s�jáT+&�. R

e+ |� ÿ

` 1 2

1 2 5

3

�$ #ûjáT+&�

n) e+ |� ÿ �) e+ |� ÿ �) e+ |� ÿ �) e+ |� ÿ

2 3 6

` 5

3 2 7

` 4

4 7 8

` 7

5 6 9

` 6

úÅ£� Ôî\TkÍ:

   (1 &�ÈqT R 12 ed�TïeÚ\T)
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H T O

` 1 2

1 2 5

1 3

 Subtraction in Tens place
 Step 2:

a)   Subtract 1 from 2
b)   2 Tens – 1 Ten = 1 Ten
c)   Write 1 in Tens place

H T O

` 1 2

1 2 5

1 1 3

 Step 3:

Write ‘1’ in hundreds place as there  is no
number to subtract. The answer is 113

 Example: If Karimullah buys 14 fans, how many hand fans remain?

Number of hand fans Danayya had =

Number of hand fans Karimullah bought =

Number of hand fans remaining =

H T O

` 1 4

1 2 5

1. Do the following.

Do these

a) H T O b) H T O c) H T O d) H T O

2. There  are  247  birds  sitting  on  a  tree.  Out  of  them  42  flew  away.  How  many  birds
remained on the tree?

Number of birds sitting on the tree =

Number of birds flew away =

Number of birds remained on the tree =

H T O

` 4 2

2 4 7

1 3  7

` 1  4

3 5  6

` 2  4

7 4  5

` 3  0

8 4  9

` 4  2

 Subtraction in Hundreds place

After selling 1 dozen hand fans, the number of remaining fans is 113.
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e+ |� ÿ

` 1 2

1 2 5

1 3

 |�<�T\ kÍ�q+ýË rd¾yûÔá

 kþbÍq+ ` 2:

1)  2 qT+º 1 qT rd¾yûjáT+&�

2)  2 |�<�T\T ` 1 |�~ R 1 |�~

3)  |�<�T\ kÍ�q+ýË 1 s�jáT+&�

e+ |� ÿ

` 1 2

1 2 5

1 1 3

 kþbÍq+ ` 3:

e+<�\ kÍ�q+ýË rd¾yûjáTT³Å£� @ n+Â¿ ýñ<�T

¿±�{ì¼, e+<�\ kÍ�q+ýË 1 s�jáT+&�.

Èy��T  113

1 &�ÈqT #ûÜ $d�q¿£çsÁ\qT n$T�q Ôás�ÇÔá $TÐ*q$ 113.

�<�V�²sÁD: ÿ¿£ yûÞø ¿£̄ eTTý²¢ 14 $d�q¿£çsÁ\T ¿=+fñ m�� $T>·T\TÔ�sTT?

<�qjáT« e<�Ý �q� $d�q¿£çsÁ\ d�+K« R

¿£̄ eTTý²¢ ¿=q� $d�q¿£çsÁ\ d�+K« R

e+ |� ÿ

` 1 4

1 2 5

1. ÿ¿£ sÁ�ÒsÁT yî\ ` 4 nsTTq ̀  20 ¿ì m�� sÁ�ÒsÁT¢ ekÍïsTT?

2. ÿ¿£ #î³T¼ �|Õ 247 |�Å£ ��\T Å £LsÁTÌH��sTT. y�{ìýË 42 mÐ]bþjáÖsTT. �|�ÚÎ&�T #î³T¼�|Õ m�� |�Å£ � �\T

�H��sTT?

#î³T¼�|Õ Å£LsÁTÌq� |�Å£��\ d�+K« R

mÐ] bþsTTq |�Å£��\ d�+K« R

#î³T¼�|Õ $TÐ*q |�Å£��\ d�+K« R

 e+<�\ kÍ�q+ýË rd¾yûÔá

�$ #ûjáT+&�

n) e+ |� ÿ �) e+ |� ÿ �) e+ |� ÿ �) e+ |� ÿ

e+ |� ÿ

` 4 2

2 4 7

1 3  7

` 1  4

3 5  6

` 2  4

7 4  5

` 3  0

8 4  9

` 4  2
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Subtraction of 3 digit number from 3 digit
number

      Now Danayya has 113 Palm leaf fans.
On the way Sharma stopped Danayya to
buy 116 Palm leaf fans for distributing in a
puja ceremony. How many fans are still
required?

Number of Palm leaf fans required =

Number of Palm leaf fans available =

Number of fans required more =

    H T O
1 1 6

1 1 3

1 1 6

` 1 1 3

3

1 1 6

` 1 1 3

Step 1: Subtraction in Ones place

a) Subtract 3 from 6

b) 6 Ones – 3 Ones = 3 Ones

c) Write answer 3 in Ones place 3

Step 2: Subtraction in Tens place

a) Subtract 1 from 1

b) 1 Tens – 1 Tens = 0 Tens

c) Write answer 0 in Tens place 0 3

3. The cost of a shirt is ` 885. The price is reduced by ` 35 for a festive season. What is
the price of the shirt after reduction in price?

The cost of a shirt =

Price reduced =

Actual price of the shirt =

H   T     O

H T O

H T O
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 3 n+Â¿\ d�+K« qT+º 3 n+Â¿\ d�+K«qT rd¾yûjáT³+

�|�Ú&�T <�qjáT« e<�Ý 113 #ûÜ $d�q¿£çsÁ\T �H��sTT. <�]ýË

XøsÁ�, <�qjáT«qT �|¾ Ôáq |�PC² ¿±sÁ«ç¿£eT+ýË |�+#á{²�¿ì 116

$d�q ¿£çsÁ\T ¿=+{²qT nH��&�T. �|�Ú&�T XøsÁ�  ¿Ãd�+ �+¿± m��

$d�q¿£çsÁ\T ned�sÁ+?

ned�sÁyîT®q $d�q¿£çsÁ\ d�+K« R

d¾<�Æ+>± �q� $d�q¿£çsÁ\ d�+K« R

�+¿± ¿±e\d¾q $d�q¿£çsÁ\ d�+K« R

e+ |� ÿ

1 1 6

1 1 3

e+ |� ÿ

1 1 6

` 1 1 3

3

e+ |� ÿ

1 1 6

` 1 1 3

0 3

kþbÍq+ ` 1: ÿ¿£³¢ kÍ�q+ýË rd¾yûÔá

n) 6 ÿ¿£³¢ qT+º 3 ÿ¿£³T¢ rd¾yûjáT+&�.

�) 6 ÿ¿£³T¢ ` 3 ÿ¿£³T¢ R 3 ÿ¿£³T¢.

�) ÿ¿£³¢ kÍ�q+ýË 3 qT s�jáT+&�.

kþbÍq+ ` 2: |�<�T\ kÍ�q+ýË rd¾yûÔá

n) 1 qT+º 1 qT rd¾yûjáT+&�.

�) 1 |�~ ` 1 |�~ R 0 |�<�T\T.

�) |�<�T\ kÍ�q+ýË 0 qT s�jáT+&�.

3. ÿ¿£ w�sÁT¼ <ó�sÁÁ ̀  885. |�+&�>· dÓÈH�ýË <�� <ó�sÁ ` 35 ÔáÐZ+#�sÁT. ÔáÐZ+ºq Ôás�ÇÔá w�sÁT¼ <ó�sÁÁ m+Ôá?

w�sÁT¼ <ó�sÁ    R

ÔáÐZ+|�Ú <ó�sÁ    R

ç|�d�TïÔá+ w�sÁT¼ nd�\T <ó�sÁ    R
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 Step -3:

a) Subtract 1 from 1

b) 1 Hundred – 1 Hundred

c) Write answer 0 in Hundreds place
Number of fans required is = 3
If Danayya has 3 more Palm leaf fans, he can fulfil Sharma’s need.

 Example:
If Danayya has only 113 Palm leaf fans, and Sharma needs 226 Palm leaf fans, how
many more will be required?

Number of Palm leaf fans required =

Number of Palm leaf fans available =

Number of fans to be required =

a) 3  5  6 b) 4  7  8 c) 5  8  2 d) 8  7  6
(-)       4 (-)        2 (-)        3 (-) 4  2  3

e) 7  4  5 f) 2  6  7 g) 4  7  8 h) 6  7  9
(-) 1  3  2 (-) 1  3  2 (-) 1  1  4 (-) 4  3  1

1. Do the following.

2. Answer the following questions.

a) What is the difference between 300 and 200?
b) What will we get, if we subtract 125 from 175?

3. How many rupees are needed to make a sum of ` 425 to ` 679?

4. There are 385 students in a school. Mid Day Meal agency has 142 eggs with them.

How many more eggs are required to distribute each one an egg?

H T O
1 1 6

` 1 1 3

0 0 3

EXERCISE - 1

H T O
2 2 6

` 1 1 3

 Subtraction in Hundreds place
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 kþbÍq+ ` 3: e+<�\ kÍ�q+ýË rd¾yûÔá

n) 1 e+<� qT+º 1 e+<� qT rd¾yûjáT+&�.

�) 1 e+<� ` 1 e+<� R 0 e+<�\T.

�) e+<�\ kÍ�q+ýË 0 qT s�jáT³+.

<�qjáT« e<�Ý eTsÃ 3 $d�q¿£çsÁ\T �+fñ, XøsÁ�Å£� |�P]ï>± �eÇ>·\&�T.

 �<�V�²sÁD:

<�qjáT« e<�Ý 113 $d�q¿£çsÁ\T �+&�, XøsÁ�Å£� 226 $d�q¿£çsÁ\T ¿±y�*àe�dï, �+¿± m�� ned�sÁ+  neÚÔ�sTT?

ned�sÁyîT®q $d�q¿£çsÁ\ d�+K« R

d¾<�Æ+>± �q� $d�q¿£çsÁ\ d�+K« R

�+¿± ¿±y�*àq $d�q¿£çsÁ\ d�+K« R

n) 3  5  6 �) 4  7  8 �) 5  8  2 �) 8  7  6
(-)       4 (-)        2 (-)        3 (-) 4  2  3

�) 7  4  5 }) 2  6  7 �TT) 4  7  8 �TÖ) 6  7  9
(-) 1  3  2 (-) 1  3  2 (-) 1  1  4 (-) 4  3  1

1. �$ #ûjáT+&�

2. ¿ì+~ ýÉ¿£Ø\Å£� Èy��T\T #î|�Î+&�.

n) 300 eT]jáTT 200 eT<ó�« uóñ<�+ m+Ôá?

�) 175 qT+º 125 rd¾yû�dï eTqÅ£� m+Ôá ed�Tï+~?

3. yîTTÔáï+ ` 679 s�e{²�¿ì ̀  425 Å£� m+Ôá ¿£\bÍ*?

4. ÿ¿£ bÍsÄÁXæ\ýË 385 eT+~ $<�«sÁT�\T �H��sÁT. eT<ó�«V�²� uóËÈq �s�ÇV�²Å£�\ e<�Ý 142 >·T&�T¢  �H��sTT. ÿ¿ÃØ

$<�«]Æ¿ì ÿ¿ÃØ >·T&�T¦ �y�Ç\+fñ �+¿± m�� >·T&�T¢ ned�sÁ+ neÚÔ�sTT?

e+ |� ÿ

1 1 6

` 1 1 3

0 0 3

nuó²«d�+ ` 1

2 2 6

` 1 1 3

e+ |� ÿ
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Subtraction of 1 digit number from a 3 digit number with re-grouping
1) Bhimayya has ̀  350. He wants to visit a medical camp.

He travelled by bus and paid ̀  8 for ticket. How much
money is with him?

Total amount that Bhimayya has =

Fare paid for ticket =
Balance amount with Bhimayya =

H T O

` 8

3 5 0

H T O
4 10

3 5 0

` 8

2

H T O
4 10

3 5 0

` 8

4 2

 Step 1: Subtraction at Ones place

1) We have to subtract 8 from 0 which is not possible.

2) Carry 1 Ten from Tens place to ones place.

3) 1 Ten from Tens place becomes 10 Ones in Ones place.

4) Subtract 10 Ones from 8 Ones

5) 10 Ones – 8 Ones = 2 Ones.

6) Write 2 in Ones place.

 Step 2: Subtraction at Tens place

Now there remains 4 in Tens place.

1) There is no number in Tens place to subtract hence

write 4 in Tens place.

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



95ÔásÁ>·Ü ` 3  >·DìÔá+ÔÃ >·eT�ÔáTï

 3 n+Â¿\ d�+K« qT+º 1 n+Â¿ d�+K«qT rd¾yûjáTT³ (kÍ�q eÖ]Î&�ÔÃ)

1) ;óeTjáT« e<�Ý ̀  350 �H��sTT. nÔáqT yîT&�¿£ýÙ ¿±«+|t ¿ì yîÞ²ÝeTqTÅ£�H��&�T.

nÔáqT �d�TàýË ç|�jáÖDì+º ` 8 {ìÂ¿Ø{Ù ¿Ãd�+ #î*¢+#�&�T. �|�Ú&�T nÔá�

e<�Ý �q� kõeTT� m+Ôá?

;óeTjáT« e<�Ý �q� kõeTT� R

�d�Tà #ó� ¨̄ ¿=sÁÅ£� #î*¢+ºq~ R

;óeTjáT« e<�Ý $TÐ* �q� kõeTT� R

e+ |� ÿ

4 10

3 5 0

` 8

2

e+ |� ÿ

4 10

3 5 0

` 8

4 2

 kþbÍq+`1 : ÿ¿£³¢ kÍ�q+ýË rd¾yûÔá

n) 0 qT+º 8 rd¾yûjáÖ*. ¿±ú kÍ<ó�«|�&�<�T.

�) |�<�T\ kÍ�q+ qT+º 1 |�~� ÿ¿£³¢ kÍ�q+ýË�¿ì rd�TÅ£�sÁ+&�.

�) |�<�T\ kÍ�q+ýË� ÿ¿£ |�~ ÿ¿£³¢ kÍ�q+ýË¿ì s�>±Hû 10 ÿ¿£³T¢>±

eÖsÁTÔáT+~.

�) 10 ÿ¿£³T¢ qT+&� 8 ÿ¿£³T¢ rd¾yûjáÖ*.

�) 10 ÿ¿£³T¢ ̀  8 ÿ¿£³T¢ R 2 ÿ¿£³T¢

}) ÿ¿£³¢ kÍ�q+ýË 2 qT s�jáT+&�.

 kþbÍq+`2 :|�<�T\ kÍ�q+ýË rd¾yûÔá

 |�<�T\ kÍ�q+ýË 4 �q�~.

 rd¾yûjáT{²�¿ì |�<�T\ kÍ�q+ýË @MT ýñ<�T ¿±�{ì¼,

 |�<�T\ kÍ�q+ýË 4 s�jáT+&�.

e+ |� ÿ

` 8

3 5 0
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 Step 3: Subtraction at Hundreds place
There is no number in Hundreds place to subtract.
Hence write 3 in a hundred place.
So, the balance amount with Bhimaiah is ` 342.

.

2) Now, Bhimaiah has ` 342  with
him. Bhimaiah drank a soda and
paid ` 5 rupees. What is the
balance amount left with him?

The amount Bhimaiah has =

Amount paid for soda =

Balance amount with Bhimaiah =

H T O
3 4 2

` 5

Do these

Do the following.

a) b) c)H T O
2 4 8

` 9

H T O
3 9 4

` 7

H T O
6 8 7

` 8

H T O

3 5 0

` 8

3 4 2

4 10
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e+ |� ÿ

 kþbÍq+ ` 3: e+<�\ kÍ�q+ýË rd¾yûÔá

e+<�\ kÍ�q+ýË rd¾yûjáT{²�¿ì @MT ýñ<�T

    ¿±�{ì¼ e+<�\ kÍ�q+ýË 3 qT s�jáT+&�.

¿±eÚq, ;óeTjáT« e<�Ý ` 342 $TÐ*H�sTT.

2) �|�Ú&�T ;óeTjáT« e<�Ý ̀  342 �H��sTT. ;óeTjáT«

kþ&� Ô�Ð ` 5 #î*¢+#�&�T. �|�Ú&�T nÔá� e<�Ý

m+Ôá &��TÒ $TÐ* �+~?

;óeTjáT« e<�Ý �q� yîTTÔáï+ &��TÒ R

kþ&� ¿=sÁÅ£� #î*¢+ºq &��TÒ R

;óeTjáT« e<�Ý $TÐ*q &��TÒ R

e+ |� ÿ

3 4 2

` 5

¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

n) �) �)e+ |� ÿ

2 4 8

` 9

e+ |� ÿ

3 9 4

` 7

e+ |� ÿ

6 8 7

` 8

�$ #ûjáT+&�:�$ #ûjáT+&�

3 5 0

` 8

3 4 2

4 10
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Now, Bhimaiah has ` 337. He ate one masala dosa in a hotel and paid ` 48. How much
money does he has?

Total Amount Bhimaiah have =
Amount paid for Dosa =
Balance Amount =

` 3 3 7
` ` 4 8

 Step 1: Subtraction at Ones place
1) 8 is greater than 7, hence subtraction is not possible.
2) Carry 1 Ten from 3 Tens to ones place.
3) 1 Ten from Tens places becomes 10 Ones in Ones place.

Now 10 + 7 = 17 Ones in ones place.
4) Subtract 8 from 17

17 Ones – 8 Ones = 9 Ones
5) Write 9 in Ones place

 Step 2: Subtraction at Tens place
1) 4 is greater than 2, hence subtraction is not possible.
2) Carry 1 Hundred from 3 hundreds in Hundreds place to Tens place.
3) 1 Hundred from Hundred place becomes 10 Tens in Tens

place. Now 10  Tens + 2 Tens = 12 Tens.
4) Subtract 4 Tens from 12

12Tens – 4 Tens = 8 Tens.
5) Write 8 in Tens place.

`

Subtraction of 2 digit number from a 3 digit number with re-grouping

H T O

3 3 7

 ` 4 8

2 12 17

8 9

H T O

3 3 7

 ` 4 8

2 17

9
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�|�Ú&�T ;óeTjáT« e<�Ý ̀  337 �H��sTT. ÿ¿£ ¬³ýÙ Å£� yî[ß eTkÍ\ <ÃXø Ü�, ̀  48 #î*¢+#�&�T. �|�ð&�T nÔá� e<�Ý

$TÐ*q &��TÒ m+Ôá?

;óeTjáT« e<�Ý �q� &��TÒ R

<ÃXø ¿Ãd�+ #î*¢+ºq &��TÒ R

$TÐ*q &��TÒ R

kþbÍq+ ` 1: ÿ¿£³¢ kÍ�q+ýË rd¾yûÔá

n) 7 ¿£H�� 8 �|<�Ý~. ¿±eÚq 7 qT+&� 8 rd¾yûjáTýñ+.

�) |�<�T\ kÍ�q+ýË 3 |�<�T\ qT+&� 1 |�~� ÿ¿£³¢ kÍ�q+ýË¿ì

rd�TÅ£�sÁ+&�.

�) 1 |�~ ÿ¿£³¢ kÍ�q+ýË¿ì e�dï 10 ÿ¿£³T¢>± eÖsÁTÔáT+~.

17 ÿ¿£³T¢ qT+&� 8 ÿ¿£³T¢ rd¾yûjáT+&�.

�) 17 ÿ¿£³T¢ ̀  8 ÿ¿£³T¢ R 9 ÿ¿£³T¢

�) ÿ¿£³¢ kÍ�q+ýË 9 s�jáT+&�.

kþbÍq+ ` 2: |�<�T\ kÍ�q+ýË rd¾yûÔá

n) 2 ¿£H�� 4 �|<�Ý~. ¿±eÚq 2 qT+&� 4 rd¾yûjáTT³ nkÍ<ó�«+.

�) e+<�\ kÍ�q+ýË 3 e+<�\ qT+&� 1 e+<�qT |�<�T\ kÍ�q+ýË¿ì

rd�TÅ£�sÁ+&�.

�) 1 e+<� |�<�T\ kÍ�q+ýË¿ì e�dï 10 |�<�T\T>± eÖsÁTÔáT+~.

�|�Ú&�T 10 |�<�T\T G 2 |�<�T\T R 12 |�<�T\T

�) 12  |�<�T\ qT+&� 4 |�<�T\T rd¾yûjáT+&�.

12 |�<�T\T ̀  4 |�<�T\T R 8 |�<�T\T

�) |�<�T\ kÍ�q+ýË 8 s�jáT+&�.

e+ |� ÿ

3 3 7

 ` 4 8

2 12 17

8 9

 kÍ�q eÖ]Î&� <�Çs� 3 n+Â¿\ d�+K« qT+&� 1 n+Â¿ d�+K« rd¾yûjáTT³.

` 3 3 7
` ` 4 8

`

e+ |� ÿ

3 3 7

 ` 4 8

2 17

9

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



100 Class - 3  Maths Magic

Step 3: Subtraction at Hundreds place

Now, there is 2 in hundreds place

1) There is no number in Hundreds place to subtract

2) Write 2 in Hundreds place

The remaining amount with Bhimaiah is ` 289.

Example: If, Bhimaiah ate dosa for ` 69, how much amount is left with Bhimaiah?

Total amount Bhimaiah has =

Amount paid for dosa =

Balance with Bhimaiah =

 ` 3 3 7

` ` 6 9

1) Do the following.

2) Rajaiah has 342 sheep. He sold 65 sheep. How many sheep are there now?

Do these:

Subtraction of 3 digit number
from a 3 digit number with
regrouping.

In Medical Camp the doctor
examined Bhimaiah and gave a
prescription in the medical camp.
Bhimaiah went to a private
medical shop. The shop owner
said that medicine costs
` 425.

a) 4  2  5 b) 5  4  6 c) 6  3  5
    (-)    3  7    (-)   6  9     (-)    7  7

`

H T O

3 3 7

 ` 4 8

2 2 17

 2 8 9
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e+ |� ÿ

3 3 7

 ` 4 8

2 2 17

 2 8 9

 kþbÍq+ ` 3: e+<�\ kÍ�q+ýË rd¾yûÔá

�|�Ú&�T e+<�\ kÍ�q+ýË 2 �q�~

n) e+<�\ kÍ�q+ýË rjáT{²�¿ì @MTýñ<�T.

�) e+<�\ kÍ�q+ýË 2 qT s�jáT+&�.

�|�Ú&�T ;óeTjáT« e<�Ý ` 289 \T �H��sTT.

 �<�V�²sÁD:

ÿ¿£yûÞø ;óeTjáT« <ÃXøqT ̀  69 \Å£� Ü+fñ, ;óeTjáT« e<�Ý m+Ôá &��TÒ $T>·T\TqT?

;óeTjáT« e<�Ý �q� &��TÒ R

<ÃXø ¿Ãd�+ #î*¢+ºq &��TÒ R

;óeTjáT« e<�Ý $TÐýñ &��TÒ R

  ` 3 3 7

 ` ` 6 9

1) ¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

2) s�ÈjáT« e<�Ý 342 >=ç Âs\T �H��sTT. nÔáqT 65 >=ç Âs\qT neÖ�& �T. nsTTÔ û �|�Ú&�T nÔá� e<�Ý

�q� >=çÂs\T m��?

 kÍ�q eÖ]Î&�ÔÃ 3 n+Â¿\ d�+K« qT+&� 3 n+Â¿\

d�+K«qT rd¾yûÔá.

yîT&�¿£ýÙ ¿±«+|�ÚýË ;óeTjáT« &�¿£¼sÁT

e<�ÝÅ£� yî[ß, yîÕ<�« |�̄ ¿£� #ûsTT+#áTÅ£�H��&�T.

&�¿£¼sÁT e<�Ý eT+<�T\T s�sTT+#�&�T. ;óeTjáT«

ÿ¿£ ç�|Õyû³T eT+<�T\ <�T¿±D²�¿ì yîÞ²ß&�T.

� <�T¿±D jáÖÈeÖ� eT+<�T\ <ó�sÁÁ ̀  425 n�

#îbÍÎ&�T.

n) 4  2  5 �) 5  4  6 �) 6  3  5
     (-)    3  7     (-)   6  9     (-)    7  7

 `

�$ #ûjáT+&�:�$ #ûjáT+&�
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Bhimaiah purchased the some medicine in a Generic medical shop at a cost of `156.
How much money did Bhimaiah benefitted by choosing Generic medical shop?

Cost of medicine in private medical shop =

Cost of the same medicine in Generic medical shop=

 Price difference =

Step 1: Subtraction in Ones place
1) 5 < 6 hence subtraction is not possible.
2) Borrow 1 Ten from 2 Tens in tens place.
3) Now in ones place 1 ten + 5 ones = 10 ones + 5 ones = 15 ones.
4) Subtract 6 ones from 15 ones.
5) 15 ones - 6 ones = 9 ones.
6) Write 9 in ones place.

Step 2: Subtraction in Tens place
1) 1 < 5 hence subtraction is not possible.
2) Borrow 1 hundred from 4 hundreds (1 hundred = 10 tens).
3) Now in tens place 10 tens + 1 tens = 11 tens.
4) Subtract 5 tens from 11 tens

    5)  11 tens – 5 tens = 6 tens.
6) Write 6 in tens place.

Step 3: Subtraction in Hundreds place

1) 3 > 1.
2) Subtract 1Hundred from 3 Hundred.
3) 3 Hundreds - 1 Hundreds = 2 Hundreds.
4) Write 2 in hundreds place.
So, the answer is ` 269
Bhimaiah get benefitted ` 269 at generic medical shop instead of not purchasing at a
private  medical shop.

H T O
4 2 5

` 1 5 6

`

H T O

4 2 5

` 1 5 6

1 15

9

H T O

4 2 5

` 1 5 6

3 1 15

6 9

H T O

4 2 5

` 1 5 6

3 1 15

2 6 9
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;óeTjáT« nyûû eT+<�T\qT ÿ¿£ Èq]¿ù eT+<�T\ <�T¿±D+ýË ̀ 156 \Å£� ¿=H��&�T. nsTTÔû Èq]¿ù eT+<�T\qT ¿=q³+

<�Çs� ;óeTjáT«Å£� m+Ôá &��TÒ $TÐ*q~?

ç�|Õyû³T eT+<�T\ <�T¿±D+ýË eT+<�T\ <ó�sÁ R

Èq]¿ù eT+<�T\ <�T¿±D+ýË eT+<�T\ <ó�sÁ R

 <ó�sÁ\ uóñ<�+ R

 kþbÍq+`1: ÿ¿£³¢ kÍ�q+ýË rd¾yûÔá

n) 5 < 6 ¿±�{ì¼ 5 qT+º 6qT rjáTýñ+.

�) |�<�T\ kÍ�q+ýË 2 |�<�T\ qT+º 1 |�~� ÿ¿£³¢ kÍ�H��¿ì

rd�TÅ£�sÁ+&�.

�) �|�ÚÎ&�T ÿ¿£³¢ kÍ�q+ýË 1 e~ G 5 ÿ¿£³T¢

R 10 ÿ¿£³T¢ G 5 ÿ¿£³T¢ R 15 ÿ¿£³T¢.

�) 15 ÿ¿£³T qT+&� 6 ÿ¿£³T¢ rd¾yûjáT+&�

�) 15 ÿ¿£³T¢ ` 6 ÿ¿£³T¢  R 9 ÿ¿£³T¢.

}) ÿ¿£³¢ kÍ�q+ýË 9  s�jáÖ*.

 kþbÍq+`2: |�<�T\ kÍ�q+ýË rd¾yûÔá

n) 1 < 5 ¿±�{ì¼ rd¾yûjáTýñ+.

�) e+<�\ kÍ�q+ýË 4 e+<�\ qT+º 1 e+<�qT |�<�T\

kÍ�q+ýË¿ì rd�TÅ£�sÁ+&�. (1 e+<� R 10 |�<�T\T)

�) �|�ÚÎ&�T |�<�T\ kÍ�q+ýË 10 |�<�T\T G 1 |�~ R 11 |�<�T\T.

�) 11 |�<�T\ qT+&� 5 |�<�T\T rd¾yûjáT+&�.

�) 11 |�<�T\T ` 5 |�<�T\T R 6 |�<�T\T

}) |�<�T\ kÍ�q+ýË 6 s�jáT+&�

 kþbÍq+`3: e+<�\ kÍ�q+ýË rd¾yûÔá

n) 3 > 1

�) 3 e+<�\ qT+º 1 e+<� rd¾yûjáT+&�.

�) 3 e+<�\T ` 1 e+<� R 2 e+<�\T.

�) e+<�\ kÍ�q+ýË 2  s�jáT+&�.

¿±eÚq, ;óeTjáT« ç�|Õyû³T eT+<�T\ Èy��T ̀  269 <�T¿±D+ýË ¿=qÅ£�+&�, Èq]¿ù eT+<�T\ <�T¿±D+ýË ¿=q³+

e\¢ ` 269 ý²uó�+ bõ+<�&�T.

e+ |� ÿ

4 2 5

` 1 5 6

3 1 15

2 6 9

e+ |� ÿ

4 2 5

` 1 5 6

3 1 15

6 9

e+ |� ÿ

4 2 5

` 1 5 6

1 15

9

e+ |� ÿ

4 2 5

` 1 5 6

`
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Example:
Neelu noted electricity meter reading in a month as follows.

Last month reading = 269 units
Present reading = 327 units

How many units of electricity did the family consumed in this month?

Neelu’s family has
consumed 58 units
of electricity in this
month.

1. Do the following.

2. Balu has done some subtraction sums given below. Verify and correct the mis-
takes

3. If 235 hens are sold from 520 hens in a poultry, how many hens are remaining?

EXERCISE - 2

a) 6 1 2 b) 8 5 4 c) 9 4 1 d) 5 0 2 e)   6 0 9

      – 6 7    – 4 8 7    – 2 6 7     – 3 2 1     –  5 3 1

f) 7 8 6 g) 2 2 9 h) 4 2 1 i) 5 3 5 j)   9 5 7

   – 1 1 7    – 1 3 7    – 2 6 9      – 3 7 7      –  4 2 8

3 2 7

` 2 6 9

5   8

a) 4     3     0 b) 3    0    9 c) 9   8   7 d) 7   0   0
  (-) 2     1     8   (-) 1    2    7   (-) 4   5   6   (-) 4   5   3

2    2     8 2    2     2 5   3     1 3   5    3
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1. ¿ì+~ ýÉ¿£Ø\T #ûjáT+&�:

2. u²\T ¿=�� rd¾yûÔá d�eTd�«\T #ûXæ&�T. |�]o*+º Ôá|�ð\T+fñ d�]~<�Ý+&�.

3. 520 ¿ÃÞø�ß �q� ¿ÃÞøß b�ÍsÁ+ýË 235 ¿ÃÞø�ß neÖ�sÁT. �+¿± m�� ¿ÃÞø�ß $TÐ*�+{²sTT?

�<�V�²sÁD:

¿£Âs+³T MT³sÁT ¯&�+>·TqT ú\T ¿ì+~ $<ó�+>± qyîÖ<�T #ûd¾+~.

>·Ôá Hî\ ¯&�+>·T R 269 jáTÖ�³T¢

� Hî\ ¯&�+>·T R 327 jáTÖ�³T¢

nsTTÔû � Å£�³T+�+ � Hî\ýË m�� jáTÖ�³T¢ ¿£Âs+³T $�jîÖÐ+º+~?

ú\T Å£�³T+�+ � Hî\ýË

58 jáTÖ�³T¢ ¿£Âs+³TqT

$�jîÖÐ+º+~.

n) 6 1 2 �) 8 5 4 �) 9 4 1 �) 5 0 2 �)   6 0 9

   –   6 7    – 4 8 7      – 2 6 7       – 3 2 1        –  5 3 1

}) 7 8 6 �TT) 2 2 9 �TÖ) 4 2 1 m) 5 3 5 @)   9 5 7

     – 1 1 7    – 1 3 7      – 2 6 9      – 3 7 7     –   4 2 8

n) 4     3     0 �) 3    0    9 �) 9   8   7 �) 7   0   0
(-) 2     1     8 (-) 1    2    7 (-) 4   5   6    (-) 4   5   3

nuó²«d�+ ` 2

3 2 7

` 2 6 9

5   8

2    2     8 2    2     2 5   3     1 3   5    3
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4. Match the following. One is done for you.

200 ̀  112 218

415 ̀  197 315

642 ̀  327 88

941 ̀  149 783

960 ̀  177 792

5. There are 432 students in a school. Among them, 245 are girls. How many boys are
there?

6. The cost of a pair of Chappal is ` 250. If, Shiva has ` 195 with him, how much more
amount is required to buy the Chappals?

7. Naresh has ` 500 with him. Which of the following items can he buy?

1) Shirt =  ` 200 2) Pant = `  300 3) Shoes = `  400 4) Bag = `  300

5) Ball = ` 200 6) Water bottle = ` 100 7) Bat = ` 400

Do these

1) Age of Vahida is 44 years. Her daughter, Karima’s age is 21 years less than her age.
What is the age of Karima?

2) There are 650 eggs in a school. In which, 579 eggs are used to serve in lunch. How
many eggs remain?

3) I have some money. If you give ` 200 to me, my money will become ` 780. How much
money do I have already?

Example : Salman went to a rice store to buy a rice bag costs ` 850. He gave ` 900. How
much amount did he got back?

Think : I read the problem. I have to find the change he gets back. Data available is
amount paid and cost of rice bag. The process to solve is subtraction.

     Solution: Amount paid by Salman = `  900

Cost of the Rice bag = ` ̀  850

Amount he gets back = `    50

Salman gets back ` 50 only
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4. ¿ì+~ y�{ì� ÈÔá|�sÁÌ+&�. ÿ¿£{ì MT¿Ãd�+ #ûjáT�&�+~.

200 ̀  112 218

415 ̀  197 315

642 ̀  327 88

941 ̀  149 783

960 ̀  177 792

5. ÿ¿£ bÍsÄÁXæ\ýË 432 eT+~ $<�«sÁT�\T �H��sÁT. y�]ýË 245 eT+~ u²*¿£\T. � bÍsÄÁXæ\ýË� u²\TsÁ d�+K« m+Ôá?

6. ÿ¿£ ÈÔá #î|�ð\ <ó�sÁ ` 250. ¥e e<�Ý ` 195 eÖçÔáyûT �+fñ, � #î|�ð\T ¿=q{²�¿ì �+¿± m+Ôá &��TÒ ¿±y�*?

7. q¹swt <�>·ZsÁ ` 500 �H��sTT. � kõeTT�ÔÃ ¿ì+~ �ºÌq y�{ìýË @jûT ed�TïeÚ\T ¿=q>·\T>·TÔ�&�T?

1) #=¿±Ø R ` 200 2) bÍ«+{Ù R ` 300 3) �Ö³T¢ R ` 400 4) u²«>´ R ` 300

5) �+Ü  R ` 200 6) y�³sY u²{ìýÙ R ` 100 7) u²«{Ù R ` 400

�<�V�²sÁD: kÍ\�H� _jáT«+ �kÍï ¿=q{²�¿ì yîÞâï n¿£Ø&� _jáT«+ �kÍï <ó�sÁ ̀  850 �+~. nÔáqT ̀  900 #î*¢+#�&�T. Ü]Ð

kÍ\�H�Å£� eºÌq kõeTT� m+Ôá?

�ýËº+#áT: d�eTd�« #á~y�qT. kõeTT� Ü]Ð ed�Tï+<�� nqTÅ£�H��qT. �ºÌq d�eTd�«ýË �kÍï <ó�sÁ, �ºÌq kõeTT� �H��sTT.

d�eTd�« kÍ<ó�q ¿Ãd�+ rd¾yûÔá �|�jîÖÐ+#�*.

kÍ<ó�q: kÍ\�H� #î*¢+ºq kõeTT� R ` 900

_jáT«+ �kÍï <ó�sÁ R `` 850

kÍ\�H�Å£� Ü]Ð eºÌq kõeTT� R `    50

1. eVÓ²<� ejáTd�Tà 44 d�+öö. Å£�eÖÂsï ¿£̄ eÖ ejáTd�Tà �yîT ejáTd�Tà ¿£H�� 21 d�+öö ÔáÅ£�Øe. ¿£̄ eÖ ejáTd�Tà m+Ôá?

2. ÿ¿£ bÍsÄÁXæ\ýË 650 >·T&�T¢ �H��sTT. eT<ó�«V�²� uóËÈH��¿ì 579 >·T&�T¢ y�&�sÁT. �+¿£qÖ $TÐ*q >·T&�T¢ m��?

3. H� e<�Ý ¿=+Ôá kõeTT� �+~. qTeÚÇ H�Å£� ̀  200 ��dï, yîTTÔáï+ ̀  780 neÚÔáT+~. nsTTÔû eTT+<�T H� e<�ÝÁ �q� kõeTT�

m+Ôá?

�$ #ûjáT+&�
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100 150 200 250 300

Estimate the difference

Example: 375 - 215 100 200 300

375 is nearer to 400

215 is nearer to 200

The difference between 400 and 200 = 400 – 200 = 200.

So the difference of 375 and 215 is nearer to 200.

Do these

Estimate the difference and circle to the nearer one.
a)  520 ̀  180 300 400 500 600

b)  685 ` 210 500 600 700 400

 Step 1: Split Subtrahend into two parts, one must be as in unit’s place of minued.

 Example: 6 = 4 + 2 (4 is ones place of 14).

Subtraction by Estimation
Observe the picture and answer the following. One is done for you.

1) 140 is nearer to 100 200 300

2) 255 is nearer to 100 200 300

3) 170 is nearer to 100 200 300

 Oral Subtractions

1) Easy subtraction – 10 concept
(This is applicable only to 2 digits minued)

14 ̀  6 12 ` 7 13 ` 9

4 2 2 5 3 6

15 ` 8

5 3
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uóñ<�eTTqT n+#áH�yûjáT³+

�<�V�²sÁD: 375 ̀  215   100 200 300

375 Å£� <�>·ZsÁ>± �q� d�+K« 400

215 Å£� <�>·ZsÁ>± �q� d�+K« 200

400 eT]jáTT 200 \ uóñ<�+ R 400 ̀  200 R 200

¿±�{ì¼ 375, 215 \ uóñ<��¿ì <�>·ZsÁ>± �q� d�+K« R 200.

uóñ<��� n+#áH� yûd¾, <�>·ZsÁ>± �q� <��¿ì »»d�TH��µµ #áT³¼+&�.

n)  520 ̀  180 300 400 500 600

�)  685 ` 210 500 600 700 400

 kþbÍq+ `1:rd¾yûjáTe\d¾q <��� Âs+&�T uó²>±\T>± $uó��+#á&�+. � Âs+&�T uó²>±ýË¢ ÿ¿£{ì �ºÌq d�+K« ÿ¿£³¢ kÍ�H��¿ì

d�]bþy�*.

�<�: 6 R 4 G 2 (4 nHû~ 14 ýË� ÿ¿£³¢ kÍ�q+)

n+#áH� <�Çs� e«e¿£\q+

ºçÔ��� |�]o*+#á+&�. Èy��TqT s�jáT+&�. ÿ¿£{ì ú¿Ãd�+ #ûjáT�&�+~.

1) 140 Å£� <�>·ZsÁ>± �q� d�+K«   100 200 300

2) 255 Å£� <�>·ZsÁ>± �q� d�+K«   100 200 300

3) 170 Å£� <�>·ZsÁ>± �q� d�+K«   100 200 300

 eTòÏ¿£ rd¾yûÔá

1) d�T\TyîÕq rd¾yûÔá ` 10 uó²eq (�~ 2 n+Â¿\ rd¾yûÔáÅ£� eÖçÔáyûT e]ïd�Tï+~.)

�$ #ûjáT+&�

14 ̀  6 12 ` 7 13 ` 9

4 2 2 5 3 6

15 ` 8

5 3

100 150 200 250 300
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1. On which day eggs remained more?

2. On which day eggs remained less?
3. How many total eggs are used in the five days?

 Step 2: Subtract, first split from minued.
 Example:          14 - 4 = 10.
 Step 3: Subtract second split from the result that is 10.

  i.e.       10 - 2 = 8.
 Therefore 14 - 6 = 8.

 Do the remaining problem.

 Shakunthala Devi (4-November 1929-21 April

2013) was an Indian writer and mental calculator.

She was popularly known as ''human

 computer.'' Her talent was recorded in the

Guinness book of world records in 1982. She

multiplied 2 thirteen digits numbers in 28 seconds.

She answered this before the computer.
Project work

 Visit an Anganwadi centre in your village. Collect the information of eggs supplied to the
 center and enter the details in the table given below.

Sl. No. Day Stock of Number of Remaining
eggs used eggs eggs

1 Monday

2 Tuesday

3 Wednesday

4 Thursday

5 Friday

6 Saturday

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



111ÔásÁ>·Ü ` 3  >·DìÔá+ÔÃ >·eT�ÔáTï

 kþbÍq+ ` 2: yîTT<�{ì kÍ]>±, $&�Bd¾q yîTT<�{ì uó²>±�� rd¾yûjáÖ*.

�<� : 14 ` 4 R 10

 kþbÍq+ ` 3: � |��*Ôá+ýË qT+º $&�Bd¾q Âs+&�e uó²>±�� rd¾yûjáÖ*.

   10 ` 2 R 8.

\ 14 ` 6 R 8.

$TÐ*q$ �ý²¹> #ûjáT+&�.

 XøÅ£�+Ôáý² <û$ (4 qe+�sÁT 1929 ̀  21 @ç|¾ýÙ 2013)

�yîT ÿ¿£ uó²sÁÔá ¿£esTTçÜ eT]jáTT �ýËº+º >·Dq #û�d eÖqe

jáT+çÔá+. �yîT »»eÖqe ¿£+|�P«³sYµµ>± |¾\e�&�¦sÁT. 1982 ýË �yîT

ç|�Üuó� Ðú�dt |�Úd�ï¿£+ýË qyîÖ<�T nsTT+~. �yîT Âs+&�T 13 n+Â¿\

d�+K«\qT >·TDì+º 28 �d¿£qT\ýË Èy��T #î|¾Î+~.

¿£+|�P«³sY ¿£+fñ eTT+<�T>± � Èy��T #î|¾Î+~.

 çbÍCÉÅ£�¼ |��

MT ç>±eT+ýË n+>·H�y�&� ¹¿+ç<��� d�+<�]ô+#á+&�. � ¹¿+ç<��¿ì y�sÁ+ýË n+<�CñjáT�&�q >·T&�T¢ eT]jáTT �|�jîÖÐ+ºq >·T&�¢

d�+K« ¿ì+~ |�{ì¼¿£ýË qyîÖ<�T #ûjáT+&�.

e. d�+ sÃE >·T&�¢ �\Ç �|�jîÖÐ+ºq >·T&�T¢ $TÐ*q >·T&�T¢

1         kþeTy�sÁ+

2        eT+>·Þøy�sÁ+

3         �T<ó�y�sÁ+

4        >·TsÁTy�sÁ+

5        Xø�ç¿£y�sÁ+

6         Xø�y�sÁ+

n)  @ sÃE mÅ£�Øe d�+K«ýË >·T&�T¢ $TÐý²sTT?

�)  @ sÃE ÔáÅ£�Øe d�+K«ýË >·T&�T¢ $TÐý²sTT?

�)  5 sÃEýË¢ y�&�q yîTTÔáï+ >·T&�T¢ m��?
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In this example,
Multiplicand = 4
Multiplier = 10
Product = 40

5

There are 4 rows

Multiplication
CHAPTER

There are 10 plants
in each row

Iswarya and Dheeraj are good friends. Gardening is their

hobby. They do gardening in their school kitchen garden every

day, with the help of their class teacher. Observe their school

kitchen garden. Count the plants, which are in rows.

Number of plants = 10 + 10 + 10 + 10 = 40.

This can be written as 4 x 10 = 40.
In the multiplication 4 x 10 = 40, the number 4 is getting

multiplied by 10. Hence, 4 is called the ‘Multiplicand’.

10 is being multiplied with 4. Hence, 10 is called the ‘Multiplier’.

The result so obtained is 40 which is shown on the right side of

the symbol ‘=’. It is called equal to.

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



113ÔásÁ>·Ü ` 3  >·DìÔá+ÔÃ >·eT�ÔáTï

     ×XøÇsÁ« eT]jáTT BósÁCÙ\T eT+º �d�V¾²ÔáT\T. ÔÃ³|�� y�] n_ósÁTº (V�ä_).

ç|�ÜsÃE y�] ÔásÁ>·Ü �bÍ<ó�«jáTT� d�V�äjáT+ÔÃ bÍsÄÁXæ\ �|sÁ{ìÔÃ³ýË ÔÃ³|�� #ûd�Öï

�+{²sÁT. y�] bÍsÄÁXæ\ �|sÁ{ìÔÃ³ >·eT�+#á+&�. esÁTd�\ýË �q� yîTT¿£Ø\qT ýÉ¿ìØ+#á+&�.

yîTT¿£Ø\ d�+K« R 10 G 10 G 10 G 10 R 40

B�� � $<ó�+>± s�jáTe#áTÌ.    4 ´ 10 R 40.

4 ´ 10 R 40 >·TD¿±sÁ+ýË, 4 nHû d�+K« 10 #û >·TDì+#á�&�TÔáT+~.

¿£qT¿£, 4 qT »>·TD«+µ n+{²sÁT.

10 nHû d�+K« 4 qT >·TDìd�Tï+~. ¿£qT¿£, 10 � »>·TD¿£+µ n+{²sÁT.

» R µ >·TsÁTïÅ£� Å£�&�yîÕ|�Ú bõ+~q Èy��T 40.

B�� »\�Æ+µ n+{²sÁT.

» R µ qT »»d�eÖqÔáÇ|�Ú >·TsÁTïµµ n� n+{²+.

� �<�V�²sÁDýË

>·TD«+ R 4

>·TD¿£+ R 10

\�Æ+ R 40

>·TD¿±sÁ+
n<ó�«jáT+

  4 esÁTd�\T �H��sTT.

  ç|�Ü esÁTd�ýËqT 10 yîTT¿£Ø\T

�H��sTT.

5
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Multiplication of 2 digit number by 1 digit number
A boy and a girl are counting some guava packets near the tree.

In 16 x 3 = 48,

 Write multiplicand, multiplier and product in the following multiplications:

1. In, 8 x 2 = 16 Multiplicand = ________, multiplier ________, product ________

2. In, 30 x 3 = 90 Multiplicand = ________, multiplier ________, product ________

3. In, 91 x 1 = 91 Multiplicand = ________, multiplier ________, product ________

There are
13 packets

In each packet
there are
5 guavas

How many
guavas are there
in all packets?

16
Multiplicand

3
Multiplier

48
Product

In 21 x 2 = 42,
Which one is multiplicand? Answer = _________
Which one is multiplier? Answer = _________
Which one is product? Answer = _________

Do you know :
Multiplicand × Multiplier
= Product

Do these
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 Âs+&�+Â¿\ d�+K«qT 1 n+Â¿ d�+K«ÔÃ >·TDì+#á³+

ÿ¿£ neÖ�sTT, ÿ¿£ nu²ÒsTT #î³T¼e<�Ý �q� C²eT¿±jáT\ d�+#áT\qT ýÉ¿ìØd�TïH��sÁT.

16 ´ 3 R 48 ýË

       16       3   48

     >·TD«+     >·TD¿£+          \uÆ+

21 ´ 2 R 42 ýË,

>·TD«+ @~? Èy��T R 

>·TD¿£+ @~? Èy��T R 

\�Æ+ @~? Èy��T R 

úÅ£� Ôî\TkÍ?

>·TD«+ ´ >·TD¿£+ R \�Æ+

13 d�+#áT\T

�H��sTT.

ÿ¿=Ø¿£Ø d�+ºýË 5

C²eT¿±jáT\T

�H��sTT.

n�� d�+#áT\ýË �q�

yîTTÔáï+ C²eT¿±jáT\T

m��?

¿ì+~ >·TD¿±s�\ýË >·TD«+, >·TD¿£+, \u²Æ\qT s�jáT+&�.

1. 8 ´ 2    R  16 ýË >·TD«+ R , >·TD¿£+ R , \�Æ+ R 

2. 30 ´ 3  R  90 ýË >·TD«+ R , >·TD¿£+ R , \�Æ+ R 

3. 91 ´ 1  R  91 ýË >·TD«+ R , >·TD¿£+ R , \�Æ+ R 

�$ #ûjáT+&�
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Do these

1. Do the following.

2. Karthik had 4 packets. In each packet, there are 24 crackers. How many crackers are
there in all?
Crackers in each packet = 24
Number of packets = _____
Total number of crackers = 24 × ____ = ____

1     4

´     3

1     2

´     5

1     3

´     4

 Kapil did like this

 Step 1:
Write the numbers in column form.
Multiply 3 ones with 5.
3 ones × 5 = 15 ones = 1 ten + 5 ones
Write 5 ones under ones column and carry over 1 to tens column.

 Step 2 :
Multiply 1 ten with 5.
1 ten × 5 = 5 tens.
5 tens + 1 ten ( carried over) = 6 tens
Write 6 under tens column.
Thus, 13 × 5 = 65
Here, 65 is the product. Totally 65 guavas are there.

 Example:
A packet contains 17 candles. How many candles are there in 4 such packets?
Candles in each packet = 17
Number of packets = 4
Total number of candles in all 4 packets = 17 × 4

= 68

 T     O

 T     O
1

 1     3

  ´     5

 T     O
1

1     3

 ´     5

a) T O b) T O c) T O

5

56

86

1     7

 ´    4

2
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|�    ÿ

1

1     3

 ´     5

1. ¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

n)          �)          �)

2. ¿± ï̄¿ù e<�Ý yîTTÔáï+ 4 bÍ«Â¿³T¢ �H��sTT. ÿ¿=Ø¿£Ø bÍ«Â¿{Ù q+<�T 24 ³bÍ¿±jáT\T �H��sTT. n�� bÍ«Â¿{¢ýË ¿£*|¾ yîTTÔáï+

m�� ³bÍ¿±jáT\T �H��sTT?

ÿ¿=Ø¿£Ø bÍ«Â¿{ÙýË �q� ³bÍ¿±jáT\T R 24

bÍ«Â¿³¢ d�+K« R

yîTTÔáï+ ³bÍ¿±jáT\ d�+K« R 24 I  R 

|�    ÿ

1     2

´     5

|�    ÿ

1     3

´     4

 ¿£|¾ýÙ � $<ó�+>± #ûXæ&�T

 kþbÍq+`1: d�+K«\qT �\TeÚ esÁTd� ç¿£eT+ýË s�jáT+&�.

ÿ¿£³¢ kÍ�q+ýË eÚq� 3 qT 5 #û >·TDì+#á+&�.

3 ÿ¿£³T¢ ´ 5 R 15 ÿ¿£³T¢ R 1 |�~ G 5 ÿ¿£³T¢

5 qT ÿ¿£³¢ kÍ�q+ýËqT s�jáT+&�.

eT]jáTT 1 � |�<�T\ kÍ�q+ýË� 1 �|Õq s�jáT+&�.

 kþbÍq+`2: 1 |�~ � 5 #û >·TDì+#á+&�.

1 |�~ ´ 5 R 5 |�<�T\T

5 |�<�T\T G 1 |�~ (�|Õq s�jáT�&�q~) R 6 |�<�T\T

6 qT |�<�T\ kÍ�q+ýË s�jáT+&�.

� $<ó�+>±, 13 ´ 5 R 65

�¿£Ø&�, 65 nHû~ >·TD¿±sÁ |��*Ôá+. yîTTÔáï+ 65 C²eT¿±jáT\T �H��sTT.

 �<�V�²sÁD:

ÿ¿£ bÍ«Â¿{ÙýË 17 ¿=y=ÇÔáTï\T �H��sTT. ný²+{ì 4 bÍ«Â¿³¢ýË yîTTÔáï+ m�� ¿=y=ÇÔáTï\T �+{²sTT?

ç|�Ü bÍÂ¿{ÙýË �q� ¿=y=ÇÔáTï\T R 17

bÍ«Â¿³¢ d�+K« R 4

yîTTÔáï+ bÍ«Â¿{¢ýË �q� ¿=y=ÇÔáTï\ d�+K« R 17 ´ 4

R 68

�$ #ûjáT+&�

|�    ÿ

1     4

´     3

5

56

|�    ÿ

86

1     7

 ´    4

2

|�     ÿ

1

1     3

 ´    5
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H T O
4 7

´ 3

1 4 1

Other process for multiplication

There are 47 neem trees in a row. How many neem trees are there in 3 rows ?
Jaggubai did like this

3. There are 12 bananas in a bag. Find the number of bananas in 5 such bags.

Number of bananas in each bag R  

Number of bags R  5

Total number of bananas R     I  5

R  

Padmaja said we can do this in expanded form also:
47  ´ 3R (40 G 7) ´ 3

R (40 I 3) G (7 I 3)

R 120 G 21

R 141

Example:
There are 32 coconuts in a bag. How many coconuts are there in 4 such bags?

Number of coconuts in a bag R  32

Number of bags R

Total number of coconuts in all bags R

R  ×  

Do these

1. Do the following.

a)  86 I 2 R b)  64 I 3 R 

c)  45 I 5 R d)  58 I 4 R 
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e+ |� ÿ

4 7

´ 3

1 4 1

>·TD¿±s��¿ì eTs=¿£ |�<�ÆÜ

esÁTd�Å£� 47 #=|�ÚÎq 3 esÁTd�\ýË yû|�#î³T¢ �H��sTT. yîTTÔáï+ m�� yû|�#î³T¢ �H��sTT?

È>·TZu²sTT � $<ó�+>± #ûd¾+~.

3. ÿ¿£ d�+ºýË 12 nsÁ{ì|�+&�T¢ �H��sTT. ný²+{ì 5 d�+#áT\ýË yîTTÔáï+ m�� nsÁ{ì|�+&�T¢ �+{²sTT? ÿ¿=Ø¿ £Ø d�+ºýË

�q� nsÁ{ì|�+&�T¢ R  

d�+#áT\ d�+K« R  5

yîTTÔáï+ nsÁ{ì |�+&�¢ d�+K« R     I  5

R  

B�� � $<ó�+>± $d�ïsÁD sÁÖ|�+ýË Å£L&� #ûjáTe#áTÌ n� |�<��È #î|¾Î+~.

47  ´ 3R (40 G 7) ´ 3

R (40 I 3) G (7 I 3)

R 120 G 21

R 141

�<�V�²sÁD:

ÿ¿=Ø¿£Ø d�+ºýË 32 ¿=�Ò]¿±jáT\T �H��sTT. ný²+{ì 4 d�+#áT\ýË yîTTÔá ï+ m�� ¿=�Ò]¿±jáT\T

�H��sTT?

ÿ¿£ d�+ºýË �q� ¿=�Ò]¿±jáT\T R  32

d�+#áT\ d�+K« R

n�� d�+#áT\ýË �q� ¿=�Ò]¿±jáT\T R  × 

�$ #ûjáT+&�

1. ¿ì+~ y�{ì� #ûjáT+&�.

n)  86 I 2 R �)  64 I 3 R 

�)  45 I 5 R �)  58 I 4 R 
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 FORMATION OF TABLES

2. There are 50 books in a box and there are 4 such boxes. Find the total number of books.

Number of boxes =

Number of books in each box =

Total number of books =

3. Cost of a pen is ` 4. What is the cost of 32 pens?

4. There are 63 sweets in a box. How many sweets are there in 3 such boxes?

5. 52 people can travel in a bus. How many people can travel in 4 such buses?

1 I 6 R 6

2 I 6 R 12

3 I 6 R 18

4 I 6 R 24

5 I 6 R 30

6 I 6 R 36

7 I 6 R 42

8 I 6 R 48

9 I 6 R 54

10 I 6 R 60

6 I 1 R 6

6 I 2 R 12

6 I 3 R 18

6 I 4 R 24

6 I 5 R 30

6 I 6 R 36

6 I 7 R 42

6 I 8 R 48

6 I 9 R 54

6 I 10 R 60
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 m¿±Ø\T @sÁÎsÁ#á&�+

2. ÿ¿=Ø¿£Ø �|fÉ¼ýË 50 |�Úd�ï¿±\ #=|�ÚÎq 4 �|fÉ¼\T �H��sTT. yîTTÔáï+ |�Úd�ï¿±\T m��?

�|fÉ¼\ d�+K« R

ÿ¿=Ø¿£Ø �|fÉ¼ýË �q� |�Úd�ï¿±\ d�+K« R

n�� �|fÉ¼\ýË �q� yîTTÔáï+ |�Úd�ï¿±\ d�+K« R

3. ÿ¿£ �|qT� K¯<�T ̀  4 nsTTq, 32 �|qT�\ K¯<�T m+Ôá?

4. ÿ¿£ �|fÉ¼ýË 63 $TsÄ�sTT\T ¿£\eÚ. ný²+{ì 3 �|fÉ¼\ýË eÚq� yîTTÔáï+ $TsÄ�sTT\T m��?

5. ÿ¿£ �d�TàýË 52 eT+~ ç|�jáÖDì+#á>·\sÁT. ný²+{ì 4 �dt\ýË yîTTÔáï+ m+ÔáeT+~ ç|�jáÖDì+#á>·\sÁT?

1 I 6 R 6

2 I 6 R 12

3 I 6 R 18

4 I 6 R 24

5 I 6 R 30

6 I 6 R 36

7 I 6 R 42

8 I 6 R 48

9 I 6 R 54

10 I 6 R 60

6 I 1 R 6

6 I 2 R 12

6 I 3 R 18

6 I 4 R 24

6 I 5 R 30

6 I 6 R 36

6 I 7 R 42

6 I 8 R 48

6 I 9 R 54

6 I 10 R 60
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 Method 1: Add table 5 and table 1 for making table 6.

1  ×  6  read  as  1  time  6 i.e.  6  ×  1  =  6
We  can  say  that  1  ×  6  =  6  ×  1  =  6
2 × 6 read as 2 times 6 i.e. 6 × 2 = 12
We can say that 2 × 6 = 6 × 2 = 12
3 × 6 read as _________
We can say that 3 × 6 = _______ = 6 × 3 =________

 Method 2: Add table 6 and table 3 for making table 9.

Table 5 5 10 15 20 25 30 35 40 45 50

Table 1 1 2 3 4 5 6 7 8 9 10

Table 6 6 12 18 24 30 36 42 48 54 60

When we multiply two
numbers, the order in

which we multiply
them does not matter.
The product remains

the same.

Table 6 6 12 24 36 48 54 60

Table 3 3 6 9 15 21 27 30

Table 9 9 18 90

 Formation of Table 9 by counting leaves.

1 I 9 R 9

2 I 9 R 18

3 I 9 R 27

4 I 9 R 36

5 I 9 R 45

6 I 9 R 54

7 I 9 R 63

8 I 9 R 72

9 I 9 R 81

10 I 9 R 90

9 I 1 R 9

9 I 2 R 18

9 I 3 R 27

9 I 4 R 36

9 I 5 R 45

9 I 6 R 54

9 I 7 R 63

9 I 8 R 72

9 I 9 R 81

9 I 10 R 90
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 1e |�<�ÆÜ: 5 e b¿±Ø��, 1e m¿±Ø�� ¿£\|�³+ <�Çs� 6e m¿±Ø�� @sÁÎsÁ#á&�+.

1 ´ 6 �, 6 ÿ¿£kÍ] n� #á<�TeÚÔ�+ nq>± 6 I 1 R 6.

1 ´ 6 R 6 ´ 1 R 6 n� eTq+ #î|�Îe#áTÌ.

2 ́  6 �, 6 ¿ì Âs+&�T Âs³T¢ n� #á<�TeÚÔ�+

2 ´ 6 R 6 ´ 2 R 12 n� eTq+ #î|�Îe#áTÌ.

3 ´ 6 �, 6 ¿ì eTÖ&�T Âs³T¢ n� #á<�TeÚÔ�+.

3 ´ 6 R   6 ´ 3 R  n� eTq+ #î|�Îe#áTÌ.

�Å£�\qT ýÉ¿ìØ+#á&�+ <�Çs� 9e m¿£Ø+ @sÁÎsÁ#á&�+.

5e m¿£Ø+ 5 10 15 20 25 30 35 40 45 50

1e m¿£Ø+ 1 2 3 4 5 6 7 8 9 10

6e m¿£Ø+ 6 12 18 24 30 36 42 48 54 60

Âs+&�T d�+K«\qT @ ç¿£eT+ýËHîÕH�

>·TDì+#áe#áTÌ. ç¿£eÖ�¿ì

çbÍ<ó�q«Ôá ýñ<�T. @ ç¿£eT+ýË

>·TDì+ºH�, |��*Ôá+ ÿ¿£fñ

ed�Tï+~.

1 I 9 R 9

2 I 9 R 18

3 I 9 R 27

4 I 9 R 36

5 I 9 R 45

6 I 9 R 54

7 I 9 R 63

8 I 9 R 72

9 I 9 R 81

10 I 9 R 90

9 I 1 R 9

9 I 2 R 18

9 I 3 R 27

9 I 4 R 36

9 I 5 R 45

9 I 6 R 54

9 I 7 R 63

9 I 8 R 72

9 I 9 R 81

9 I 10 R 90

2e |�<�ÆÜ: 6 e b¿±Ø��, 3e m¿±Ø�� ¿£\|�³+ <�Çs� 9e m¿±Ø�� @sÁÎsÁ#á&�+.

6e m¿£Ø+ 6 12 24 36 48 54 60

3e m¿£Ø+ 3 6 9 15 21 27 30

9e m¿£Ø+ 9 18 90
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1 I 9 R 9 (0 G 9 R 9)

2 I 9 R 18 (1 G 8 R 9)

3 I 9 R 27 (2 G 7 R 9)

4 I 9 R 36 (3 G 6 R 9)

5 I 9 R 45 (4 G 5 R 9)

6 I 9 R 54 (  G  R )

7 I 9 R 63 (  G  R )

8 I 9 R 72 (  G  R )

9 I 9 R 81 (  G  R )

10 I 9 R 90 (  G  R )

Observe the pattern

Multiply by 10’s

1. A colour pencil packet contains 10 pencils 1 × 10  = 10

2. How many pencils do 2 packets have? 2 × 10  = 20
3. How many pencils do 3 packets have? 3 × 10  = 30
4. How many pencils do 4 packets have? 4 × 10  = 40
5. How many pencils do 5 packets have? 5 × 10  = 50
6. How many pencils do 6 packets have? 6 × 10  = 60

All the digits in ones
place are decreasing
and in tens place are

increasing.

Observe these and express in your own words
1. 9 ´ 5   R 45,       5 ´ 9 R 45     Hence       5 ´ 9   R 9 ´ 5   R 45

2. 4 ´ 30 R 120,    30 ´ 4 R 120    Hence       4 ´ 30 R 30 ´ 4 R 120

1. Make table 7 by using Table 5 and Table 2.
2. Make table 9 by using Table 7 and Table 2.
3. Make table 8 by using any two relevant tables chosen by you.

Do these
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1 I 9 R 9 (0 G 9 R 9)

2 I 9 R 18 (1 G 8 R 9)

3 I 9 R 27 (2 G 7 R 9)

4 I 9 R 36 (3 G 6 R 9)

5 I 9 R 45 (4 G 5 R 9)

6 I 9 R 54 (  G  R )

7 I 9 R 63 (  G  R )

8 I 9 R 72 (  G  R )

9 I 9 R 81 (  G  R )

10 I 9 R 90 (  G  R )

¿ì+~ ç¿£eÖ�� |�]o*+#á+&�

 10 #û >·TD¿±sÁ+

1. ÿ¿£ sÁ+>·T\ �|�àýÙà �|fÉ¼ýË 10 �|�àýÙà �H��sTT. 1 ´ 10 R 10

2. ný²+{ì 2 �|fÉ¼\ýË yîTTÔáï+ m�� �|�àýÙà �+{²sTT? 2 ´ 10 R 20

3. 3 �|fÉ¼\ýË yîTTÔáï+ m�� �|�àýÙà �+{²sTT? 3 ´ 10 R 30

4. 4 �|fÉ¼\ýË yîTTÔáï+ m�� �|�àýÙà �+{²sTT? 4 ´ 10 R 40

5. 5 �|fÉ¼\ýË yîTTÔáï+ m�� �|�àýÙà �+{²sTT? 5 ´ 10 R 50

6. 6 �|fÉ¼\ýË yîTTÔáï+ m�� �|�àýÙà �+{²sTT? 6 ´ 10 R 60

 M{ì� |�]o*+#á+&�. kõ+Ôá eÖ³\ýË e«¿£ï|�sÁ#á+&�

1. 9 ´ 5   R 45, 5 ´ 9 R 45       ¿£qT¿£ 5 ´ 9   R 9 ´ 5   R 45

2. 4 ´ 30 R 120, 30 ´ 4 R 120    ¿£qT¿£ 4 ´ 30 R 30 ´ 4 R 120

�$ #ûjáT+&�

1. 5e m¿±Ø�� eT]jáTT 2e m¿±Ø�� �|�jîÖÐ+º, 7e m¿±Ø�� ÔájáÖsÁT#ûjáT+&�.

2. 7e m¿±Ø�� eT]jáTT 2e m¿±Ø�� �|�jîÖÐ+º, 9e m¿±Ø�� ÔájáÖsÁT#ûjáT+&�.

3. @yîÕH� Âs+&�T m¿±Ø\qT ÔáÐq$<ó�+>± �|�jîÖÐ+º, 8e m¿±Ø�� ÔájáÖsÁT#ûjáT+&�.

ÿ¿£³¢ kÍ�q+ýË� n�� n+Â¿\T

Ôá>·TZÔáTH��sTT. eT]jáTT |�<�T\

kÍ�q+ýË� n+Â¿\T

�|sÁT>·TÔáTH��sTT.
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7. How many pencils do 7 packets have? 7 x 10   = 70

8. How many pencils do 8 packets have? 8 x 10   = 80
9. How many pencils do 9 packets have? 9 x 10   = 90

10. How many pencils do 10 packets have? 10 x 10 = 100

When we multiply a number by 10,
the product comes out to be the

multiplicand followed by one zero.

How many pencils do 12 packets have?
12 ´ 10 R 120,    10 ´ 12 R 120

12 ´ 10 R 10 ´ 12 R 120

How many pencils do 14 packets have?
14 ´ 10 R 140,   10 ´ 14 R 140

Hence, 14 ´ 10 R 10 ´ 14 R 140

Do these

1. 34 I 10 R 340

2. 80 I 10 R 800

3. 48 I 10 R 

4. 85 I 10 R 

5. 10 I 90 R 

10 I 34 R 340

10 I 80 R 

I 10 R 

I R 

I R 
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7. 7 �|fÉ¼\ýË yîTTÔáï+ m�� �|�àýÙà �+{²sTT? 7  ´  10  R 70

8. 8 �|fÉ¼\ýË yîTTÔáï+ m�� �|�àýÙà �+{²sTT? 8  ´  10  R 80

9. 9 �|fÉ¼\ýË yîTTÔáï+ m�� �|�àýÙà �+{²sTT? 9  ´  10  R 90

10. 10 �|fÉ¼\ýË yîTTÔáï+ m�� �|�àýÙà �+{²sTT? 10 ´ 10  R 100

14 �|fÉ¼\ýË yîTTÔáï+ m�� �|�àýÙà �+{²sTT?

14 ´ 10 R 140,    10 ´ 14 R 140

14 ´ 10 R 10 ´ 14 R 140

@<îÕH� ÿ¿£ d�+K«qT 10 #û >·TDì+ºq|�Ú&�T <�� |��*Ôá+,

� d�+K« ÔásÁTy�Ôá »0µ (d�Tq�) #ûsÁTÌ³ <�Çs� ed�Tï+~.

12 �|fÉ¼\ýË yîTTÔáï+ m�� �|�àýÙà �+{²sTT?

12 ´ 10 R 120,    10 ´ 12 R 120

12 ´ 10 R 10 ´ 12 R 120

�$ #ûjáT+&�

1. 34 I 10 R 340

2. 80 I 10 R 800

3. 48 I 10 R 

4. 85 I 10 R 

5. 10 I 90 R 

10 I 34 R 340

10 I 80 R 

I 10 R 

I R 

I R 
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1. Write multiplicand, multiplier and product in the following multiplications.

a) 72  ×    4 = 288; Multiplier = ______; multiplicand = ______; product = ______

b) 5    × 100 = 500; Multiplier = ______; multiplicand = ______; product = ______

c) 84  ×    1 = 84; Multiplier = ______; multiplicand = ______; product = ______

d) 24  ×  24 = 576; Multiplier = ______; multiplicand = ______; product = ______

2. Find the product.

a) 75 × 2 = b) 95 × 4 = c) 70 × 8 =

d) 93 × 9 = e) 64 × 8 = f) 96 × 10 =

g) 20 × 10 = h) 75 × 10 =  i) 55 × 10 =

3. a) Prepare table for 5 using the tables 2 and 3.

b) Prepare table for 10 using the table 6 and 4.

c) Prepare table for 9 using the table 5 and 4.

4. Work out the following.

a) The cost of one pencil is ` 6. What is the cost of 72 pencils ?

b) In an orchard, there are 10 rows of mango trees and each row contains 25 tress.
How many mango trees are there in total ?

EXERCISE - 1
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1. ¿ì+~ �eÇ�&�q >·TD¿±s�\ýË >·TD«+, >·TD¿£+, \u²Æ\T s�jáT+&�.

n)  72  ´ 4    R 288 >·TD¿£+ R >·TD«+ R \�Æ+ R 

�)   5  ´ 100 R 500 >·TD¿£+ R >·TD«+ R \�Æ+ R 

�)  84  ´ 1    R 84 >·TD¿£+ R >·TD«+ R \�Æ+ R 

�)  24  ´ 24   R 576 >·TD¿£+ R >·TD«+ R \�Æ+ R 

2. \u²Æ�� ¿£qT¿=Ø+&�.

n)  75 ´ 2 R �) 95 ´ 4 R �) 70 ´ 8   R

�) 93 ´ 9 R �) 64 ´ 8 R }) 96 ´ 10 R

m)  20 ´ 10 R @) 75 ´ 10 R ×) 55 ´ 10 R

3. n) 2e m¿£Ø+ eT]jáTT 3e m¿£Ø+ �|�jîÖÐ+º 5e m¿£Ø+ ÔájáÖsÁT#ûjáT+&�.

�) 6e m¿£Ø+ eT]jáTT 4e m¿£Ø+ �|�jîÖÐ+º 10e m¿£Ø+ ÔájáÖsÁT#ûjáT+&�.

�) 5e m¿£Ø+ eT]jáTT 4e m¿£Ø+ �|�jîÖÐ+º 9e m¿£Ø+ ÔájáÖsÁT#ûjáT+&�.

4. ¿ì+~ y�{ì� kÍ~ó+#á+&�.

n) ÿ¿£ �|�àýÙ K¯<�T ̀  6. nsTTÔû 72 �|�àÞøß K¯<�T m+Ôá?

�) ÿ¿£ |�+&�¢ ÔÃ³ýË, ÿ¿=Ø¿£Ø esÁTd�Å£� 25 #î³¢ #=|�ÚÎq10 esÁTd�\ýË eÖ$T&� #î³T¢ ¿£\eÚ. � ÔÃ³ýË

�q� yîTTÔáï+ eÖ$T&�#î³T¢ m��?

nuó²«d�+ ̀  1
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How many
rows are there?

How many
bags are there
in each row?

12 bags
13 rows

Step`1: To multiply, first write the number in column form

Multiply 3 ones with 2 ones.

3 ones x 2 = 6 ones.

Write 6 in ones place.

Multiply 1 ten with 2 ones.

You get 1 ten x 2 = 2 tens.

Write 2 under tens column.

Multiplication of 2 digit number by 2 digit number:

Ramayya and his grand daughter Harika went to a cement shop. There are so many
cement bags in a room. Harika is trying to count number of bags. Can you help her?

How many number of cement bags are there?

Harika did like this:

Multiply 13 by 12

 H     T O
1    3

  ´ 1    2

2    6
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 2 n+Â¿\ d�+K«qT eTsÃ 2 n+Â¿\ d�+K«ÔÃ >·TDì+#áT³:

s�eTjáT« eT]jáTT nÔá� eTqeTs�\T V�ä]¿£ ÿ¿£ d¾yîT+{Ù cÍ|�ÚÅ£� yîÞ²ßsÁT. n¿£Ø&� ÿ¿£ >·~ýË #�ý² d¾yîT+{Ù �kÍï\T

�H��sTT. V�ä]¿£ � d¾yîT+{Ù �kÍï\T ýÉ¿ìØ+#á&��¿ì ç|�jáTÜ�d�Tïq�~. MTsÁT �yîTÅ£� d�V�äjáT+    #ûkÍïs�?

m�� esÁTd�\T �H��sTT?

ç|�Ü esÁTd�ýË m��

�kÍï\T �H��sTT?

12 �kÍï\T

13 esÁTd�\T

yîTTÔáï+ m�� d¾yîT+{Ù �kÍï\T �H��sTT?

V�ä]¿£ �ý² #ûd¾+~:

13 qT 12 #û >·TDì+#á+&�.

kþbÍq+`1: >·TD¿±sÁ+ #ûjáT&��¿ì eTT+<�T>±, d�+K«\qT

�\TeÚ esÁTd�ç¿£eT+ýË s�jáT+&�.

3 ÿ¿£³¢qT 2 ÿ¿£³¢ #û >·TDìs#á+&�.

3 ÿ¿£³T¢ ´ 2 R 6 ÿ¿£³T¢

6 qT ÿ¿£³¢ kÍ�q+ýË s�jáT+&�.

1 |�~� 2 ÿ¿£³¢#û >·TDì+#á+&�.

1 |�~ ´ 2 R 2 |�<�T\T

2 qT |�<�T\ kÍ�q+ýË s�jáT+&�.

e+ |�   ÿ

1    3

  ´ 1    2

2    6
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Step`2: Multiply 3 ones with tens place number 1
You get 3 × 1 tens = 3 tens = 30
30 = 3 tens + 0 ones
Write 0 under ones place in the second row
And write 3 under tens place in the second row

Step`3: Multiply 1 tens with 1 tens place
1ten × 1 ten = 10 × 10 = 100 = 1 hundred
Write 1 under hundred places in second row
Add 26, 130
I got 13 × 12 = 156.
 Hence, There are 156 cement bags in the godown.

Example: 18 ´ 13 R ?

Lalitha did like this:
18 ´ 13 R (10 G 8) I (10 G 3)

10  G 8   I

10

3

30     G 4

I 20

18 ́  13 R 100G80G30G24R234

Example: 34 ´ 25 R ?

34 ´ 25 R (30 G 4) I (20 G 5)

I 5

34 ´ 25 R  G  G  R 

10 I 10 R

100

3 I 10 R

30

3 I 8 R

24

10 I 8 R

80

20 I 4 R

5 I 30 R 5 I 4 R

20 I 30 R

   H T  O
1   3

       ´  1   2

2   6

    1 3   0

    1 5   6

H T O
1 3

´ 1 2

2 6

3 0
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�<�V�²sÁD: 18 ´ 13 R ?

\*Ôá � $<ó�+>± #ûd¾+~.

18 ´ 13 R (10 G 8) I (10 G 3)

10  G 8   I

10

3

30     G 4

I 20

18 ́  13 R 100G80G30G24R234

�<�V�²sÁD: 34 ´ 25 R ?

34 ´ 25 R (30 G 4) I (20 G 5)

I 5

34 ´ 25 R  G  G  R 

kþbÍq+` 2: |�<�T\ kÍ�q+ýË �q� 1�, ÿ¿£³¢ kÍ�q+ýË� 3 #û >·TDì+#á+&�.

3 ´ 1 |�~ R 3 |�<�T\T R 30

30 R 3 |�<�T\T G 0 ÿ¿£³T¢

»0µ qT Âs+&�e esÁTd�ýË� ÿ¿£³¢ kÍ�q+ýË s�jáT+&�.

3 qT Âs+&�e esÁTd�ýË� |�<�T\ kÍ�q+ýË s�jáT+&�.

kþbÍq+` 3: |�<�T\ kÍ�q+ýË �q� 1 |�~� �|Õ esÁTd�ýË |�<�T\ kÍ�q+ýË

�q� 1 |�~ #û >·TDì+#á+&�.

1 |�~ ´ 1 |�~ R 10 ´ 10 R 100 R 1 e+<�

Âs+&�e esÁTd�ýË� e+<�\kÍ�q+ýË 1 s�jáT+&�.

26 eT]jáTT 130 � Å£L&�+&�.

13 ´ 12 R 156 eºÌ+~.

¿£qT¿£, >·~ýË 156 d¾yîT+{Ù �kÍï\T �H��sTT.

10 I 10 R

100

3 I 10 R

30

3 I 8 R

24

10 I 8 R

80

20 I 4 R

5 I 30 R 5 I 4 R

20 I 30 R

  e+ |�  ÿ

1   3

       ´  1   2

2   6

    1 3   0

    1 5   6

e+ |�  ÿ

1   3

       ´  1   2

2   6

3   0
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Divya bought 21 orange packets. There are 13 oranges in each packet.
How many oranges are there in all packets?

The number of orange packets R 21

The number of oranges in each packet R 13

The total number of oranges in all packets R  I 

R  I 

  H T    O
2   1

       ´  1   3

6   3

    2 1   0

    2 7   3

1. Do the following.
a) b) c) d)   H T  O

2  0

       ´  1  4

   H T  O
8  1

       ´  1  1

   H T  O
6  3

       ´  1  2

   H T  O
3  2

       ´  1  3

2. There are 24 hours in a day. How many hours are there in 11 days?

3. Cost of Black gram per Kg. is ` 90.  How much money has to be paid for 13 Kg?

How many rows of
bricks are there?

73 rows

48 bricksHow many bricks are
there in each row?

Multiplication of 2 digit number by 2 digit number: (With regrouping)

Do these
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~e« 21 H�]+È ¿±jáT\ d�+#áT\T ¿=q�~. ÿ¿=Ø¿£Ø d�+ºýË 13 H�]+È¿±jáT\T �H��sTT. n��

d�+#áT\ýË ¿£*|¾ yîTTÔáï+ m�� H�]+È¿±jáT\T �H��sTT?

ç|�Ü d�+ºýË >·\ H�]+È¿±jáT\T R 21

H�]+È¿±jáT\ d�+#áT\ d�+K« R 13

n�� d�+#áT\ýË ¿£*|¾ yîTTÔáï+ H�]+È¿±jáT\T R  I 

R  I 

1. ¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

n) �) �) �)   e+ |�  ÿ

2  0

       ´  1  4

   e+ |�  ÿ

8  1

       ´  1  1

   e+ |�  ÿ

6  3

       ´  1  2

   e+ |�  ÿ

3  2

       ´  1  3

2. ÿ¿£ sÃEÅ£� 24 >·+³\T �+{²sTT. 11 sÃE\Å£� yîTTÔáï+ m�� >·+³\T �+{²sTT?

3. ÿ¿£ ¿ì.ç>±. $Tq|�|�ÚÎ <ó�sÁ ` 90 nsTTÔû 13 ¿ì.ç>±.\ <ó�sÁ m+Ôá?

Âs+&�+Â¿\ d�+K«qT Âs+&�+Â¿\ d�+K«#û >·TD¿±sÁ+: (kÍ�q eÖ]Î&� >·TD¿±sÁ+)

�$ #ûjáT+&�

ÿ¿=Ø¿£Ø esÁTd�Å£� m��

�³T¿£s�Þø�ß �H��sTT?

�³T¿£ s�Þøß esÁTd�\T m��

�H��sTT?
73esÁTd�\T

48 �³T¿£

s�Þø�ß

e+ |�  ÿ

2   1

       ´  1   3

6   3

    2 1   0

    2 7   3
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How many bricks are there in all?

 Harika did like this

 Step 1: First write the numbers in column form

Multiply 3 ones with 8

We get 3 ones x 8 = 24 ones

24 ones = 2 tens + 4 ones

Write 4 ones in ones place column and

Carry 2 to tens place column.

 Step 2: Multiply 7 tens with 8

7 tens x 8 = 56 tens

56 tens + 2 tens = 58 tens = 5 hundreds + 8 tens

Write 8 in tens place and 5 in hundreds place

 Step 3: Then, 4 tens x 3 = 12 tens = 120

120 = 1 hundred + 2 tens + 0 ones

Write 0 in ones place, 2 in tens place and

Carry over 1 to hundreds place.

Step 4: Multiply 4 tens with 7 tens.

7 tens x 4 tens = 70 x 40 =2800 = 28 hundreds

Add carry over 1 hundred to 28 hundreds = 29 hundreds

29 hundreds = 2900 = 2 thousands + 9 hundreds

Write 9 in hundreds place and 2 in thousands place.

Then, we have to add 584 with 2920.

584 + 2920 = 3504

There are 3504 bricks in all.

2

7   3

       ´  4   8

     4

   Th  H   T   O

2

7   3

       ´  4   8

    5  8    4

   Th  H   T   O

2

7   3

       ´  4   8

    5  8    4

2    0

   Th  H   T   O

    1    2

   7   3

       ´     4   8

        5   8  4

    2  9   2  0

    3  5   0  4

   Th  H   T   O
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yîTTÔáï+ MT<� m�� �³T¿£s�Þø�ß �H��sTT?

 V�ä]¿£ � $<ó�+>± #ûd¾+~

 kþbÍq+`1: �eÇ�&�q d�+K«\qT �\TeÚ esÁTd� ç¿£eT+ýË s�jáT+&�.

3 ÿ¿£³¢qT 8 ÿ¿£³¢#û >·TDì+#á+&�.

3 ÿ¿£³T¢  ´  8 R 24 ÿÅ£³T¢

24 ÿ¿£³T¢ R 2 |�<�T\T G 4 ÿ¿£³T¢

4 qT ÿ¿£³¢ kÍ�q+ýË s�jáT+&�.

eT]jáTT 2 qT |�<�T\ kÍ�q+ýË� s�jáT+&�.

 kþbÍq+` 2: 7 |�<�T\qT 8 #û >·TDì+#á+&�.

7 |�<�T\T  ´  8 R 56 |�<�T\T

56 |�<�T\T G 2 |�<�T\T(�|Õq s�jáT�&�q~)

R 58 |�<�T\T R 5e+<�\T G 8|�<�T\T

8� |�<�T\ kÍ�q+ýËqT, 5qT e+<�\ kÍ�q+ýË s�jáT+&�.

 kþbÍq+` 3:ÔásÁTy�Ôá, 4 |�<�T\T  ´  3 R 12 |�<�T\T R 120

120 R 1 e+<� G 2 |�<�T\T G 0 ÿ¿£³T¢

0 � ÿ¿£³¢ kÍ�q+ýË, 2 � |�<�T\ kÍ�q+ýË s�jáT+&�.

eT]jáTT 1 � �|Õ esÁTd�ýË e+<�\ kÍ�q+ýË s�jáT+&�.

 kþbÍq+` 4:4 |�<�T\qT 7 |�<�T\#û >·TDì+#á+&�.

7 |�<�T\T  ´  4 |�<�T\T R 70 ´  40

  R 2800 R 28 e+<�\T

�|Õq s�jáT�&�q 1 e+<�� 28 e+<�\Å£� ¿£\|�+&�.(28 G 1 R 29)

29 e+<�\T R 2900  R 2 yû\T G 9 e+<�\T

9 � e+<�\ kÍ�q+ýË, 2 qT yû\ kÍ�q+ýË s�jáT+&�.

584, 2920 \qT ¿£\|�+&�.

584 G 2920 R 3504

yîTTÔáï+ 3504 �³T¿£s�Þø�ß �H��sTT.

yû e+ |�  ÿ

2

7   3

       ´  4   8

     4

yû e+ |�  ÿ

2

7   3

       ´  4   8

    5  8    4

yû e+ |�  ÿ

2

7   3

       ´  4   8

    5  8    4

2    0

yû e+   |�   ÿ

    1    2

   7   3

       ´     4   8

        5   8  4

    2  9   2  0

    3  5   0  4
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Example :
72 people can sit in one compartment of a train. How many people can sit in a train,
with 23 such compartments?

Capacity of compartment to sit R 72

Number of compartments R 23

Total number of people can sit in the 23 compartments
R  I  R 

7 2

I 2 3

2 1 6

1 4 4 0

1 6 5 6

Do these

1. Do the following.

a)       b) c)
7 1

I 2 4

4 5

I 3 8

9 5

I 4 2

2. 48 people can travel in a bus. How many people can
travel in 26 such buses?

3. In a library, there are 48 cupboards and in each
cupboard, there are 63 books. How many books are
there in the library?

   Th   H      T    O

   Th  H  T  O    Th  H  T  O    Th  H  T  O
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 �<�V�²sÁD:

ÿ¿£ ÂsÕ\T uË^ýË 72 eT+~ ç|�jáÖD¡Å£�\T Å£LsÃÌ>·\sÁT. � ÂsÕ\TÅ£� 23 uË^\T �q�#Ã yîTTÔáï+ m+ÔáeT+~ Å£LsÃÌ>·\sÁT?

ÿ¿£ uË^ýË Å£Ls=Ìq>·\y�sÁT R 72

uË^\ d�+K« R 23

yîTTÔáï+ 23 uË^\ýË Å£Ls=Ìq >·\y�] d�+K« R  I  R 

   yû   e+    |�   ÿ

7 2

I 2 3

2 1 6

1 4 4 0

1 6 5 6

1. ¿ì+~ y�{ì� #ûjáT+&�.

n)       �) �) yû  e+ |�  ÿ

7 1

I 2 4

 yû  e+ |�  ÿ

4 5

I 3 8

 yû  e+ |�  ÿ

9 5

I 4 2

2. ÿ¿£ �d�TàýË 48 eT+~ ç|�jáÖDì+#á>·\sÁT. ný²+{ì 26 �d�Tà\ýË yîTTÔáï+

m+ÔáeT+~ ç|�jáÖDì+#á>·\sÁT?

3. ÿ¿£ ç>·+<̧�\jáT+ýË, ÿ¿£ ¿£|tuËsY¦ q+<�T 63 |�Úd�ï¿±\ #=|�ÚÎq, 48 ¿£|tuËsÁT¦\T

¿£\eÚ. yîTTÔáï+ m�� |�Úd�ï¿±\T � ç>·+<̧�\jáT+ýË ¿£\eÚ?

�$ #ûjáT+&�
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   Multiply by 100s
1. A chocolate packet contains 100 chocolates 1 x 100 = 100
2. How many chocolates do 2 packets have? 2 x 100 = 200
3. How many chocolates do 3 packets have? 3 x 100 = 300
4. How many chocolates do 4 packets have? 4 x 100 = 400
5. How many chocolates do 5 packets have? 5 x 100 = 500
6. How many chocolates do 6 packets have?  6 x 100 = 600
7. How many chocolates do 7 packets have? 7 x 100 = 700
8. How many chocolates do 8 packets have? 8 x 100 = 800
9. How many chocolates do 9 packets have?  9 x 100 = 900

10. How many chocolates do 10 packets have?  10 x 100 = 1000

When we multiply number by 100,
the product comes out to be the

multiplicand followed by two zeros.

Fill in the blanks.
a) 32 I 100 R 3200, 100 I 32 R 3200

b) 60 I 100 R 6000, 100 I 60 R

c) 84 I 100 R , I100 R 

d) 56 I 100 R , I R 

e) 100 I 76 R , I R 

f) 100 I 90 R , I R 

g) 100 I 99 R , I R 

Do these

Example-1 : 14 x 100 = 1400, 100 x 14 = 1400
14 x 100 = 100 x 14 = 1400

Example-2 : One bouquet contains 100 flowers.
How many flowers do 17 bouquets have?
17 x 100 = 1700 or 100 x 17 = 1700
Hence, 17 x 100 = 100 x 17 = 1700 flowers.
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  100 #û >·TD¿±sÁ+

1. ÿ¿£ #�Â¿¢{Ù bÍ«Â¿{Ù q+<�T 100 #�Â¿¢³T¢ ¿£\eÚ. 1 ´ 100 R 100

2. 2 #�Â¿¢{Ù bÍ«Â¿{Ù\ýË yîTTÔáï+ m�� #�Â¿¢³T¢ �+{²sTT? 2 ´ 100 R 200

3. 3 #�Â¿¢{Ù bÍ«Â¿{Ù\ýË yîTTÔáï+ m�� #�Â¿¢³T¢ �+{²sTT? 3 ´ 100 R 300

4. 4 #�Â¿¢{Ù bÍ«Â¿{Ù\ýË yîTTÔáï+ m�� #�Â¿¢³T¢ �+{²sTT? 4 ´ 100 R 400

5. 5 #�Â¿¢{Ù bÍ«Â¿{Ù\ýË yîTTÔáï+ m�� #�Â¿¢³T¢ �+{²sTT? 5 ´ 100 R 500

6. 6 #�Â¿¢{Ù bÍ«Â¿{Ù\ýË yîTTÔáï+ m�� #�Â¿¢³T¢ �+{²sTT? 6 ´ 100 R 600

7. 7 #�Â¿¢{Ù bÍ«Â¿{Ù\ýË yîTTÔáï+ m�� #�Â¿¢³T¢ �+{²sTT? 7 ´ 100 R 700

8. 8 #�Â¿¢{Ù bÍ«Â¿{Ù\ýË yîTTÔáï+ m�� #�Â¿¢³T¢ �+{²sTT? 8 ´ 100 R 800

9. 9 #�Â¿¢{Ù bÍ«Â¿{Ù\ýË yîTTÔáï+ m�� #�Â¿¢³T¢ �+{²sTT? 9 ´ 100 R 900

10. 10 #�Â¿¢{Ù bÍ«Â¿{Ù\ýË yîTTÔáï+ m�� #�Â¿¢³T¢ �+{²sTT?            10 ´ 100 R 1000

�<�V�²sÁD 1: 14 I 100 R 1400, 100 I 14 R 1400

14 I 100 R 100 I 14 R 1400

�<�V�²sÁD 2: ÿ¿£ |�P\>·TÜïýË 100 |�P\T �H��sTT.

ný²+{ì 17 |�P\>·TÔáTï\ýË yîTTÔáï+ m�� |�P\T �+{²sTT?

17 ´ 100 R 1700 ýñ<� 100 ́  17 R 1700

¿±eÚq, 17 ´ 100 R 100 ́  17 R 1700 |�P\T.

@<îÕH� ÿ¿£ d�+K«qT 100 #û >·TDì+ºq|�Ú&�T, <�� |��*Ôá+,

� d�+K« |�¿£Øq »00µ (Âs+&�T d�Tq�\T) #ûsÁTÌ³ <�Çs� ed�Tï+~.

U²°\qT |�P]+#á+&�.

n) 32 I 100 R 3200, 100 I 32 R 3200

�) 60 I 100 R 6000, 100 I 60 R

�) 84 I 100 R , I100 R 

�) 56 I 100 R , I R 

�) 100 I 76 R , I R 

}) 100 I 90 R , I R 

m) 100 I 99 R , I R 

�$ #ûjáT+&�
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Multiplication of 3 digit number by 1-digit number
Method 1: Multiply 132 with 3

Step`1: Write the numbers in the columns
Multiply 2 ones by 3
2 ones x 3 = 6 ones. Write 6 under ones column

Step`2: Multiply 3 tens by 3
3 tens x 3 = 9 tens. Write 9 under tens column

Step`3: Multiply 1 hundred by 3
1 hundred x 3 = 3 hundreds.
Write 3 under hundreds column.
Thus 132 x 3 = 396

Method 2:
Example-1 : 234 I 2

200 G 30   G     4

\ 234 I 2 R 400 G 60 G 8 R 468

Method 3:

234 I 2 R (200 G 30 G 4) I 2

R (200 I 2) G (30 I 2) G (4 I 2)

R 400 G 60 G 8

R 468

 H   T  O
1 3 2

I 3

6

 H   T  O
1 3 2

I       3

9 6

 H   T O
1 3 2

I 3

3 9 6

2200 I 2

R 400

30 I 2

R 60

4 I 2

R 8

I
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3 n+Â¿\ d�+K«qT 1 n+Â¿ d�+K«#û >·TDì+#áT³

|�<�ÆÜ 1: 132 � 3 #û >·TDì+#á+&�.

kþbÍq+` 1: �eÇ�&�q d�+K«\qT �\TeÚ esÁTd� ç¿£eT+ýË s�jáT+&�.

2 ÿ¿£³¢qT 3 #û >·TDì+#á+&�.

2 ÿ¿£³T¢  ´  3 R 6 ÿ¿£³T¢

6 � ÿ¿£³¢ kÍ�q+ýË s�jáT+&�.

kþbÍq+` 2: 3 |�<�T\qT 3 #û >·TDì+#á+&�.

3 |�<�T\T ´  3 R 9 |�<�T\T

9 � |�<�T\ kÍ�q+ýË s�jáT+&�.

kþbÍq+` 3: 1 e+<�qT 3 #û >·TDì+#á+&�.

1 e+<� ´  3 R 3 e+<�\T

3 qT e+<�\ kÍ�q+ýË s�jáT+&�.

� $<ó�+>± 132 ´ 3 R 396

|�<�ÆÜ 2:

�<�V�²sÁD ̀  1: 234 I 2

200 G 30   G     4

\ 234 I 2 R 400 G 60 G 8 R 468

|�<�ÆÜ 3:

234 I 2 R (200 G 30 G 4) I 2

R (200 I 2) G (30 I 2) G (4 I 2)

R 400 G 60 G 8

R 468

 e+  |�  ÿ

1 3  2

I       3

6

 e+  |�  ÿ

1 3 2

I 3

9 6

 e+  |�  ÿ

1 3 2

I 3

3 9 6

2200 I 2

R 400

30 I 2

R 60

4 I 2

R 8

I

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



144 Class - 3  Maths Magic

               (Just then Charan’s Uncle Visits home)
Charan: Akka! I am 6 years old. If my age is multiplied with 2, it is your age. 6x2=12. It is

very surprising.
Siri : Yes. Let us observe more. If my age is multiplied with 3, it is Amma’s age.

12x3=36. Isn’t it?

Do these

1. Do the following.
a) b) c) d) H   T  O

1 2 2

I 4

 H   T  O
1 4 0

I 2

 H   T  O
2 2 1

I 3

 H   T  O
1 1 1

I 9

2. A book contains 130 pages. Total how many pages are there in 3 such books?
3. A bag costs ` 300. How much money will be paid to buy 2 bags?
4. There are 2 boxes and in each box there are 142 balls. How many balls are there

in all?

S.No. Name Relation UID No. Date of Birth Age

1 Seenayya ******* ******* 40

2 Lakshmamma Wife ******* ******* 36

3 Siri Daughter ******* ******* 12

4 Charan Son ******* ******* 6

Example- 2 :
A basket contains 120 mangoes. How many mangoes are there in 4 such baskets?
Number of mangoes in basket =   120
Number of baskets =   4
Total number of mangoes =   Number of mangoes in basket I

    No. of baskets
=  120 I 4 = 480

How many times:
Charan’s mother brought ration from the store. After coming home, she gave the

ration card to Charan to observe. Charan noticed a table having the details of the family.

FAMILY MEMBER DETAIL
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(n|�ÚÎ&û #ásÁDY y�Þøß eÖeTjáT« e#�Ì&�T)

#ásÁDY: n¿±Ø! H� ejáTd�Tà 6 d�+eÔáàs�\T. H� ejáTd�TàqT 2 #û >·TDì�dï, ú ejáTd�Tà ed�Tï+~. 6 ́  2 R 12. uó�ýñ �XøÌsÁ«+>±

�+~ ¿£<�Ö!

d¾]: neÚqT. �+¿± >·eT�<�Ý+. H� ejáTd�TàqT 3 #û >·TDì�dï, n~ neT� ejáTd�Tà.  12 ´ 3 R 36.  neÚH�? ¿±<�?

1. ¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

n) �) �) �) e+  |�  ÿ

1 2 2

I 4

 e+  |�  ÿ

1 4 0

I 2

 e+  |�  ÿ

2 2 1

I 3

 e+  |�  ÿ

1 1 1

I 9

2. ÿ¿£ |�Úd�ï¿£+ýË 130 �|J\T �H��sTT. nsTTq 3 |�Úd�ï¿±\ýË yîTTÔáï+ m�� �|J\T �+{²sTT?

3. ÿ¿£ u²«>́ K¯<�T ` 300. ný²+{ì 2 u²«>́\T ¿=q&��¿ì m+Ôá &��TÒ #î*¢+#�*?

4. ÿ¿=Ø¿£Ø �|fÉ¼ýË 142 �+ÔáT\T #=|�Úðq 2 �|fÉ¼\T ¿£\eÚ. n�� �|fÉ¼\ýË ¿£*|¾ yîTTÔáï+ m�� �+ÔáT\T  ¿£\eÚ?

m��kÍsÁT¢

#ásÁDY y�Þøß neT� #ê¿£<ó�sÁ\ <�T¿±D+ qT+&� d�sÁTÅ£�\T ÔîºÌ+~. �+{ì¿ì eºÌq Ôás�ÇÔá ¹sw�H� ¿±sÁT¦qT #ásÁDYÅ£� �ºÌ

>·eT�+#áeT+~. #ásÁDY Å£�³T+� d�uó�T«\ $es�\T �q� |�{ì¼¿£qT >·eT�+#�&�T.

Å£�³T+� d�uó�T«\ $es�\T

�<�V�²sÁD 2 :

ÿ¿£ �T³¼ýË 120 eÖ$T&�|�+&�T¢ �H��sTT. nsTTq 4 �T³¼ýË¢ yîTTÔáï+ m�� eÖ$T&�|�+&�T¢ �+{²sTT?

�T³¼ýË� eÖ$T&�|�+&�T¢ R 120

�T³¼ý d�+K« R 4

yîTTÔáï+ eÖ$T&�|�+&�¢ d�+K« R ÿ¿£ �T³¼ýË� eÖ$T&� |�+&�¢ d�+K« ´ �T³¼ý d�+K«

R 120 I 4 R 480.

�$ #ûjáT+&�

 e.d�+. �|sÁT �+<ó�TÔáÇ+ jáTT.×.&�.Hî+. |�Ú{ì¼qÔû~ ejáTd�Tà

1 oqjáT« .......... .......... 40

2. \¿£��eT� uó²sÁ« .......... .......... 36

3. d¾] Å£�eÖÂsï .......... .......... 12

4. #ásÁDY Å£�eÖsÁT&�T .......... .......... 6
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Uncle :Hey kids! Nice of you. If you multiply Charan’s age with 2, you are getting
Siri’s age. It means Siri’s age is twice or two times to that of Charan.

Siri :Uncle! Now I have understood that Amma’s age is 3 times to that of my age.
Am I right?

Uncle :Yes. You are right Siri. Now tell me my age if it is 7 times to that of Charan.
Charan & Siri : It is 6x7=42. Your age is 42 Uncle.
Uncle :Very nice. Your answer is correct.

1. Multiply.

a)  24 × 3 = ______; 3 × 24 =  _______; 24 × _____ =  3 × _____ = _____

b) 100 × 1 =______; 1×100 = _______; 100 × ____ = 1 × _____ = ____

c) In 53 × 27 = 1431; Multiplicand = ____ ; Multiplier = ______; Product = _____

d) In 321 × 3 = 963 ; Multiplicand = _____;Multiplier =  ______; Product=_____

e) In 108 × 2 = 216 ; Multiplicand = _____; Multiplier = ______; Product =_____

2. Multiply.

a)    b)      c)

3. Fill in the blanks.

a) 67 × 5 = ________ b) 93 × 4 = ________ c) 123 × 3 = ________
4. There are 36 beads in a necklace. How many beads are there in 13 necklaces?
5. If there are 48 bottles in one carton, how many bottles are there in 16 cartons?
6. There are 54 grapes in one plate. If, there are 44 such plate, how many grapes are

there?
7. Cost of a dictionary is ` 120. How much money he has to pay for 4 dictionaries?
8. 5 students of a class collected ` 110 each for the Prime Minister’s relief fund. How

much money did they collect altogether?

 H   T  O
4 2

I 1 9

 H   T  O
4 1 4

I 2

 H   T  O
1 2

I 9

EXERCISE - 2
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eÖeTjáT« : |¾\¢\Ö! uó�ýñ #îbÍÎ¹s. #ásÁDY ejáTd�TàqT 2 #û >·TDì�dï d¾] ejáTd�Tà ed�Tï+~. n+fñ d¾] ejáTd�Tà, #ásÁDY

ejáTd�TàÅ£� Âs+&�+Ôá\T ýñ<� Âs+&�T Âs³T¢.

d¾] : eÖeTjáÖ«! H� ejáTd�TàÅ£� 3 Âs³T¢, neT� ejáTd�Tà n� H�¿£sÁ�+ nsTT«+~. HûqT #î|¾Î+~ d�ÂsÕq<ûH�?

eÖeTjáT« : neÚqT. qTeÚÇ #î|¾Î+~ d�ÂsÕq<û d¾]! #ásÁDY ejáTd�TàÅ£� 7 Âs³T¢ H� ejáTd�Tà nsTTÔû H� ejáTd�Tà m+ÔÃ #î|�ÚÎ?

#ásÁDY,d¾] : n+fñ 6 ´ 7 R 42. ú ejáTd�Tà 42 d�+eÔáàs�\T eÖeTjáÖ«!

eÖeTjáT« : #�ý² #á¿£Ø>± #îbÍÎsÁT. MTsÁT d�ÂsÕq Èy��T #îbÍÎsÁT.

1. >·TDì+#á+&�.

n) 24 I  3 R , 3 I 24 R , 24 I R , R 3 I , R ,

�) 100 I 1 R , 1 I 100 R , 100 I R , R 1 I , R ,

�) 53 ´ 27 R 1431 ýË >·TD«+ R ,  >·TD¿£+ R ,  \�Æ+ R 

�) 321 ´ 3 R 963 ýË >·TD«+ R ,  >·TD¿£+ R ,  \�Æ+ R 

�) 108 ´ 2 R 216 ýË >·TD«+ R ,  >·TD¿£+ R ,  \�Æ+ R 

2. >·TDì+#á+&�.

m)    _)      d¾)

3. U²°\T |�P]+#á+&�.

n)  67 I 5 R �)  93 I 4 R �)  123 I 3 R 

4. ÿ¿£ HîÂ¿¢dtýË 36 |�Pd�\T �H��sTT. 13 HîÂ¿¢dt\ýË m�� |�Pd�\T �+{²sTT?

5. ÿ¿£ n³¼ �|fÉ¼ýË 48 dÓkÍ\T �H��sTT. 16 n³¼�|fÉ¼\ýË yîTTÔáï+ m�� dÓkÍ\T �+{²sTT?

6. ÿ¿£ |�Þèß+ýË 54 ç<�¿£�\T �H��sTT. 44 |�Þèß+ýË yîTTÔáï+ m�� ç<�¿£�\T �+{²sTT?

7. ÿ¿£ &�¿£�q¯ (�|��T+³TeÚ) K¯<�T ` 120. 4 &�¿£�q¯\T ¿=q&��¿ì m+Ôá &��TÒ #î*¢+#�*?

8. ç|�<ó�qeT+çÜ d�V�äjáT�~ó¿ì |�+|�&��¿ì ÿ¿=Ø¿£Ø $<�«]� ` 110 #=|�ÚÎq 5 >·TsÁT $<�«sÁT�\T &��TÒ bþ>·T#ûXæsÁT. y�sÁT

�d¿£]+ºq yîTTÔáï+ &��TÒ m+Ôá?

 e+  |�  ÿ

4 2

I 1 9

 e+  |�  ÿ

4 1 4

I 2

 e+  |�  ÿ

1 2

I 9

nuó²«d�+ ̀  2
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